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I Lutiniwb wpluwwnwuptip
1 Snjnienil niilignn wlwwjwphwiht awlibph huwn
wwwinbnulywinud, ybpwnwnpd ubthwlwuwwhpnep ekl 4400 167200
1.Cunwdbup 167200
i <nnwiht waluwwnwptibp
1 1. <nnwjht wotuwwnwuptbp dwidiny gpntintipnd
2 :jl:g;[/qpnthmh dawynud b inbinwihnfunud pnynngtipnyg 504 U3 16800 437 7341600
3 N18Y gpniunh dawlynud Epuljwywinnpny/1,08%/, pwpénud d3
w/hupbwpwihtph Ypw 14270 640 9132800
4 wnbnwihnfunud |gwynyn 7.04d wnnl 27113 700 18979100
5 IVI0t gpniiinh dawhnd b inbiquichnfunud pnynnglipng 504 u3
i gnniunh dauly nuihnfunud pnynngtinny L o oyt
gp
6 V10t qpniiinh dawynid Epuljufwinnpny/1,08%/, pwpdnud u3 9500 820 7790000
w/htuptiwpwihtiph Ynw
7 nbnwihnfunud jgwlnywn 7.044d winu 18525 700 12967500
8 18y gpniuwnp dywlynud Epulwywinnpny/1,00%/, pwpanud d3
w/htpwpwihtinh Jpw 540 640 345600
9 wbnuwithnfunwd |hgp 1.04d wnnl 1026 310 318060
10 | Lhgph tunwgnud wuldngnnuny dtYy hbwgny 6 wgnuing u3
30ud 2tpwnh hwuwnieywdp, 9nh twpwédnidng 2y oeu (3222600
1t | Ynnwiht wandebiph whnuwhwunad OE 4760 2325 11067000
12| Ynnuyptu wnniubph winthwlnud u2 5409 1096 5928264
13 | Twpwlubph ppwlwbiwgnud d3 3250 2843 9239750
2.<nnuwiht wptuwwnwupubp dwjnwiht gpndintipnuy/
1 VI20w gpniiinh wwjpbgnud wuwypwugpwiht |hgptipny d3
0.5-1.00 Wwypwligph funpnieywdp 7980 2628 20971440




2 | Lwluopnp thtupbigdws VII20w qpniiinh dawlnud L u3
wbnuihnfunud pnuynngtipng 504 |hgp 5560 800 4448000
3 | Lwjuopng thfupbigdwd VII20w gpniuinh dowlnud u3
Epulwdwinnpny /1,003, pupdnud w/hupbiwpuihbph 1200 1330 1596000
4 | wbnwiinfunud |hgp 1.04d nnt 3120 310 967200
Lwiuopnp thfuptigdwé VII20w gpniuiinh dowlynud d3
Epulwywinnpny /1,00%, pwpdnud w/hupuwpewtph 1220 1330 1622600
6 | nbnwihnfund |gwlnywn 7.04d winu 3172 710 2252120
7 Lhgph funnwgnud Yhppngnnuiny, dbl htunpny 4wugnudny, u3
40ud 26pwnh hwuwnniejwdp 6760 200 1352000
8 Ynnwyht wrnubph winuwhwund g3 450 2320 1044000
2.Cunwdbkup 131882134
| Swdhh Ynbuwnpniyghwt
1 funanphwwnhly wywquihtt stipn h=18ud/ u3 28458,18 4420 125785156
2 fuﬁun{wqwjhh zhpm C5 h=20uJ U2 98086 1950 191267700
3 | Pupdp dwynuinyit fungnpwhunhly w/p h=6ud u2 94145 4180 393526100
4T [MkmannuhuuhiyphS6ou N 124782 5710 712505220
5 Swp dwupwhwuinhl w/pbnnu P wnpuwy h=4ud d2 124782 4240 529075680
5* | Qnjnigyni miubignn, w/pbunnut wwwndwéph U2
y&poquiwgnpénud uwnp Ypwilwliwt Enwiwlng 31924 2960 94496113
hdhg.=20ud, gkdbuwnh Tpwn. -18Y4q wbjwgnuiny
6* | Ujwquynwbuwsht sbpin h=20ud g2 6384,87 1081 6902047
7* | wppbgunn 2tpwn nwp, dwiupwhwnhly w/ptinnthg ,R" innb 6139 44077 2705824
whw hdhg.=3ud ;
3.Lunwdbp 2056263840
IV | Mnphubip b dnunpbip
1* | H{84) Ywpgh puwhnnh dawlynut b pwpdnd Epu. 0.6503
2.n. w/h Ypw, nbnwthnfund |gwynywn 7 4d u3 245,00 K] SEIEES
2% | I{8U) Ywpgh puwhnnh dowynul dknpny, pwpand bpu. Jd3
0.65u3 .un. w/h dpw, wbnwdhnfunid |gwynywn 7 4d 11,80 ED) LI
5 h=l u2
e e L 2923,96 1190 3479512
2 Uwtpwhwunhly w/pbinnt ,,RP"unhwy h=5ud u2 2923,96 5170 15116873
3 | Ujwquynwbuyht gbpin lunnndwlubn nwy h=10ud d3 5,87 5730 33635
Ubnwnwlwl funnndwlh nbnunpnud d=32544; qd.d
1g5.0=39.5q; 5=504 90 30450 2740500
E— y 0= d
i Ubtnwnwlwl funqndwlh nibnunpnd d=273d4; 3=54 45,4 79 39244 3100276
SHjuwnhptbiph dhwény| pbnnt B20 a3 4,9 104770 513373
funnnywlubph gpwdblnuwgnud Bplygbipun niwp d2 152 4 1830 278892
phunnuing h
7 Ubwn. funnnyulh guwdwup gpwdblnuwgnud bplptipun u2 25,94 1250 31550
wnwp phunndng '
8* | <hunwnwnd (hgp dbnpny J3 14,5 1457 21127
9* | hubwdwquyht gtipin C5 h=12ud d2 10 190 11900
10* | Uwupwhwwnhly w/p h=5ud 2 10 5173 51730




4.Cunwdbup

25932872
IV* | WU 507+96 wg howwntinh qfuwnhp
T | <nnuiht waluunnuwiiplibin u2 0,28 2851 798
2| Uuwquinuuhti gtinun h=10ud u3 0,04 5720 252
3 | Suwnhnh dhwdny) pnnt u2 0,48 104765 50287
4 Rpwdbynwwgnud 2 2bpn tnwp phuninudng u2
- pbwnnt 119 1254 1492
5 | <bnwnwpd (hgp 2 0,1 1457 146
4*.Cunwdbup 52975
\ YUnnbwlubp
3
1 Swdwpnipnuwiht - gpninh pwpdnut d 14483 4 650 9414710
2 Swdwpnipnwiht - gpntuinh nbnwihnfunwd wwhninhg wnu
dhohtip  104d-hg Ynnuwlbinh hpwYwbwgwl hwdwn 28242,63 880 24853514
3 Ynnuwlubph hwppebgnul /4827842/ L fuwnwgnud u3
wuldngynnung 1 htiwpny 4 wugnwiny h=24ud gtpwnh
hwunnejwdp, 9nh nwpwdnidng 14483,4 660 9559044
3. Bunuidtlp 43826768
VI | Uwypbp
1 Ujwqulnwwiht hhdp h=10ud u3 0 5040 0
2 PEwnnub uwihlubph nbnunpnul d2 0 8088 0
3 Pwquint tiqpupwpbiph wnibnwnpnwd 15x30ud swihuh qd.d 0 0
phunnub hhdph Ypw 0 )
3* | Pwnnub bgpwpwipbiph wbnwnpnud 15x30ud  swiuh qé.d 0 834 0
pbwninub hhdph Jpw 0
4* | Uhwdny| pubinnub bopwpwpbiph hpwlwlwgnud B-25 u3
/145.4-0.082u3/ m3 - AtE a0l
4 <wywpnyh pbiinnub bgpwowp 10x20ud qd.d 0 6940 0
5% | Upwdny| pbunnub bgpwpwph hpwluwbwgnd  B20
10x20ud gdd 398,0 1354 538892
2 & Guinub & u d B20
o AN pun nlk HQRLZtn R APl g q8d 125,0 2708 338500
20x20ud
7* | Uhwény| pbuinub Ggpuwywph ppwlwbwgnud  B20
0.45x0.7x0.25x0 2 u3 24,3 67716 1645499
8* | Ujwqulnwswhu hhdp h=12ud J2 461,3 1659 765297
9" | Udwquyht w/p h=3ud d2 461,3 3847 1774621
6.Cunwdtup 6560509
VI* | Uwyph dbunwnwlwu pwgphp 4U404+69-
4U405+80
1 Gnynueyni niubignn denwnulwt gwblwwwinh
wuwwnbnwlwnud Yanyny, Jbpwnwns qédl 118,0 3719 438842
ubthwlwuwwhpngp
Eplatipwn ubpynud
2 | Mnnwjuinb p}thnhgvbnh hpwhwuwgnud, iplztipwn tbiplnd T 21 53391 11705
Jnuipwitplny:
funnnywl 60x30, d=3dd qo.4d 212,8 3013 641016
tunnnyuwly 60x40, d=34d gd.d 14,7 3623 415558




funnnyuwly 40x30, d=34d gd.d 182,1 2460 447909
funnnywly 70x40 , d=44d gd.d 3,7 5263 19473
6*.Cunwdbup 2074504
VIl | dbphu hEbwwwinbp
W | 4d45+700 unp dbpht hEbwwwn wepg
1 118 gnntuwnh dpwlynid Epuljwdwnnpny/0.65%, pwpanwd d3
w/hugbwpwthtph Upw 52,9 700 37030
2 wnbnwihnfunud (gulnyw 7.04d wnnu 100,51 700 70357
3 | Lnyup nbnnud dny, hb & hwd d3
nyup wbnnud Ynunwynudnyg, hbvwnwné |hgph hwdwp 84,1 490 41209
4 Pnunpwlh ykpgwdowlynid Sknpnd:/11184 u3 24,5 3420 83790
5 UJwqubnwbwihl gipuin Juptiph inwl h=10ud d3 6,9 6300 43470
6 Lbbwwwwnbph hhdptiph hpwlwbwgnd Jhwanyg d3 28 64000 1792000
pbuinnbhg B20
7 | <bu uub U d B20 pbwnu d3
L e e T Pinnntihg 24 65670 1580880
8 Mdnpdwghnt  Ywpbph hpwlwbwgnud 2 obpin d2
nnupbipnhnny phuinuh dwdniyny (d=2,0ud) 5.2 9830 415
9 Spniunh htinn 2thdnn dwlbplnypubph 9pwdbynuwgnid d2 91.2 1250 14000
Bplzbipun twp phunnudng
10 | Swdwpnipnh ppwlwtiwgmd qd.d 20 8610 172200
1| Swdwpnipnuwihly ¢100 dd wnphtehibuwhu qd.d
hunnnyuwlytibp 7,6 2580 19608
12 | &6 a 0.65d3/,9pnuiny b d3
s nadRiERUl LY /gnnuing 108,6 1120 121632
funwgdwdp
7-U.Cunwdbup 4127292
R. | L53+300 unp dbiphu hbbwwwunn wehg
1 18y gpnutnh dpwiynid Epuljwdwinnpny/0.65%, pwnénd d3
w/hupuwpwihtph pw, wnbnwihnfunu |gulnywn 7.04d 0 700 0
2 nbnwihnfund jgulnywn 7.04d wnu 0 700 0
3 Lnyup nbnmd Ynwnwlnwdng, hbnwnwpd (hgph hwdwn d3 0 490 0
4 ®nunpwlh ybpguwdawlynud dbnpny: u3 0 3420 0
5 Ujwquynwbwiht gbipin Jupbph nwly h=10ud u3 0 6300 0
6 Lauwwwintiph hhdpbiph hpwlwbwgnud Jhwdnyg d3 0 64000 0
phiwnnuhg B20
7 bbwwwwnh  ppwutubph ppwlywuwgnd  B20 pbunnupg u3 0 65870 0
8 Hbnpdwghnt  Yuwpbph ppwlwtiwgnd 2 obpwn d2 0 9830 0
nnipipnhnnd phunnudp Jwéndyny (d=2,0ud)
9 Spntuwinh hbiin 2thdnn dwlybplnyrubph 9pwdbyniuwgnud a2
1250 0
Bpl2tpwn twp phunnuing
10 | Swdwpnipnh hpwlwbwgnd qé.d 0 8610 0
n Swdwpnipnuyht 100 JJ wn|hkehiGuwhu qd.u
0 2580 0
funnnywlutip
12 | <hwnwnwpd hgp Epuljwywwnnpnd/0.6543/,9pnuiny b d3
0 1120 0
jutnwgdwdp
Yd 51+420 unp ubppht htbwwwn hwdwpnyh pinlubiphg
wohg™
« | 184 gpniunh dawynmd Epuywijwinnpny/0.65%, pupanud 0 70000
] w/huplwpwihbph ypw, nbnwipnunud [gwynywn 7.04dm P LU 8 '
2* | mbnwihnfumd igulynywn 7.044 wnnu 190 700 133000




3* | Lnyup wbinnud fnunwynuing, hitiwnwpd |hgph hwdwp d3 69 490 33810
4+ | ®nunpulh dhpguwdzwynid dinpny: 43 35 3422 119779
5* | p ghdblnwywqb fuwntinipn nwl h=10ud J3 3,6 35575 128070
LEuwwuinh hhdph U hpwih hpwlwbwgnd huwpndh
6" | pbwnub pinjubip 1x1x1,2 B20 /<kuwwwuwnh funnnsubiph hwun 55 150980 8303900
(pwgnud ghdbunwywab gwnwiuny /
« | Hdnpdwghnt Gwpbph hpwlwuwgnd 2 sbpn
4 nnipbipnhnny phinnwh dwényny (d=2,0ud)/ 2 it Y o
g Spniunh hbwn gthynn dwlbplinypubph spwdbynuwgnid 0 182,4 1250 228000
BpLotipin wiwp phuinudng
9* | Swdwpnipnh hpwlwtwgnud qd.d 40 8610 344400
10% Swdwpnipnwihtt 100 Jd wnjhtehtbwhu 45.4 15,2 2580 39216
funnnywlutip
e LbEwnwnuna thgp Fpuljwyuwinnpnd/0.6503/,9pnuiny L i3 69 1220 84180
funwgdwdp
7-R.Lunwdkup 9586586
vil* | Ubtnwnuwlwt funnndwl d=102000  3hwin /MY4400+20/
<nnwjht wyuwwnwlpttip 118y Ywpgh pwhnnbpnud hnwh
i nundwt hwdwp/ibnwihntund paynnglipny 504,
1 pwnpénud Lpuhwywwninpny /1,003/ w/huptuwewihbph Ypw u3 2 950 20900
2* | wbnwthnfund |gulynywn 7.04d nnb 41,8 700 29260
®nunpwlh thnpnud 1118 gpntiinbbpnud
3+ | bpulwdwwnnpnd/1.0d3/, nbnnud Ynunwlynuing hbwnwnwpa d3 8 480 3840
thgph hwdwp/
Suwihl hhdp h=20ud
o R i 03 4,3 13750 59125
5 | Wwquynwbtuwghu hhdp h=10ud d3 33 5720 18876
. | Ubnwnujwt d=1020d04d funnndwlh inbnwnpnd
6 198.0=249\q; 3=1044/ gd.d 27,4 261000 7151400
Fuwd hhdph dhuwa Gwnnu B20
ML by Rl e R A 03 11,51 77950 897205
d u & twnu B20
ok [ R DO TR 43 10,61 105840 1122962
& B20
g+ Ywph U htbwlywiht wwnwdh Jhwany pbnnt i3 6.14 77950 478613
hu db Jd bplgb dny-
(o e W e e i) 75,992 1830 139065
10.8q3.4/
i b
- <bunwnwnd [hgp 18y Ywngh puwhnntipny i3 8 106 848
8*.Cunwdbup 9922094
Vil | Usinwnuwywl funnnjwly d=1020d4 /M4446+02/
1 <nnuijht wptuwwnwuptbip 118y Ywpgh puwhantpnud hnluh u3
ninndwl hwdwp/nbnwihnfunud pnynngbipny 504/,
pwpdnud bpuwdwwnnpny /1,003/ w/huptwpwihbiph Jpw n 950 10450
2 wnbnuihntunud (guwlynywn 7.04d tnnb 20,9 700 14630
3 Pnunpwlh thapnd  NI8Y gpniuintbpnud d3
Epulwydwinnpnd/1.0d3/, wbnnud Ynunwlnidng hvnwnwna 4 480 1920
thgeh hwidwip
4 Futwhtu hhdp h=20ud d3 23 13750 31625
5 Udwqulnwbwhl hhdp h=10ud d3 22 5720 12584




6 Ubinwnuwlywl d=1020dd funnnywlh nbinunpnud qd.d
198.0=249Yg; =104/ 1,6 261000 3027600
7 | Yhuwd hhdph dhwa Ginnu B20 d3
e L L T 4,8 77950 374160
8 Sfuwdw wuh dhwény| pbinnu B20 d3
i o 5,2 105840 550368
9 Ywph b hbuwlhught wwnwdh dhwény| pinnu B20 d3 392 77950 249440
10 | tunnndwbh opwdbynwwgnd Bpyotipun twp phinnwdng- 2
10.895.4/ 34,6 1830 63300
n (<6 & 18 Uwhnnb d3
nwnwnd hgp I118Y Ywngh puwhnnbipny 4 106 424
8.Cunwdbkup 4336501
IX | &/p unnnyuwlubiph b hbuwwwinbph Yspwnpngnad L
Ybpwlwnnigmd
4d37+511.5 @1.50 b/p U dwnwnwlwl funnndwl, dnungp
dwiupg
1 funnnywlh dnunph , Giph b dheh Jwppnid gpntnhg d3
dbnpnd, Ynywnwynpnd 16 1970 31520
2 pwpdnud dbnpny wdnnhtptiwpwih U tnbnuihnfunu wnu
[gwynyn 74d henwynpnipjwt Ypw 1133y 28 1030 il
3 B/ptinnub b dbunwnwlywl unnndwlubph Ygnpndwl d3
hwindwénud dhwaéng) pbnnuph hpwywbwgnud Gugdwl 1 56830 56830
vl bkpwplnwiny, B20, FI00:
4 E/p funnnwyp Ywpbph jpwignud gbd.wwquyht a3 0,64 50820 32575
2wnwfuny M200
5 | dnunphg 7-pn, 11-pn U 15-pn, B/plicintib pinlubipp unpnqty U2
gbd.wywaquiht gwnwiund M200, H=0.034" dhunwnwlwl
guwligh Unw, (100x100)dd @4 Bp- I, P=0,0281wn: 14,2 5090 72278
6 Ununpmd U bipnud gifluwdwutiph hpwlwbwgdwl hwdwp d3
thnunpwlyutiph dinpaud 0.6503 tiptithny Epulywdwinnpny, 5,4 670 3618
gpniiinh wwhbuunwynpnud IV(106)'
7 qlfuwdwuh hpwlwbwgdwl hwdwp u3
bwhwwwwnpwunwlwt obpun fuény: Do LEFA P
8 Ununpnud U bipnd dhwény| pbunub qfuwdwutiph d3
hpuwlywlwgnud B20, F100, swih 3.6x3.0x0.4(: 7.2 105850 derioly
8" | hbbwlwiht wunwdh dhwény; pinnnt B20 u3 1,0 77950 77950
9 Chwnwnwpé thgp Epuljwduinnpny/0.6503/,9pnudiny L u3 5.4 1220 6588
fuinwgdwdp
L4d37+765 1.0d b/p funnnyuwly*
1 funnnjuwlh dnunph , bph L dheh Jwppnud apniiinhg d3
dtinpny, Ynywwynpnud 1133y/ . L) PO
2 pwpdnud dinpny wywnnhuptiwpwih U tnbnwtnfunwd wnnu
|lgwynywn 74d hsnwynpnyegywt dpuw 133y 245 1920 2oi0>
4d39+100.0 2.0x2.0d nipnwiyni B/p funnnyuwly 0
1 Funnnyuwlh dnunph b biph dwppnid apniiinhg 0.6543 u3
2iptiiny bpuljujwinnpny, pwndnud hupuwpewi, 38 560 21280
wnbnuwihnfund \gwlnyw 74d hbn. Ypw:/
inbnwthnfund (gulnywn 7.04d tinu 66,5 700 46550
dhoh d d U ok ; u3
tunnnywyh dhgh dwppnud gpnititnhg dtinpny, 14,1 1970 97777

Ynyunwynpnud 1133y




4 pwpdnud dkinpny wdinnhuplwpewih b whnwdntunud tnnu
lgwynyin 74d hbnwynpnyejwt Ypw H33Y 24,7 1090 2689
4* | Ununpnud b bppnud dhwdny) pbinnub gluwdwubph u3
ppwiwtwgnud B20, F100, B GeliL s
5*
hbbwlwiht wunwdh Jhwany pbinnt B20 u3 1.0 77950 77950
S funnnywlh dnunph b Biph pbnnub pubph L u2
gllvwnhpubph depwunpngnud gbd.wywquiht gwnuiuny 35 4920 172200
M200, Hdhg.=0.044
6 zb:JpqE;jlnquuh Ywptiph puwigmd gbd.wdwquihu d3 0.1 50820 5082
7 funnnjwlh tbpup wwnbph udwn gbd.wdwquih u2
swnwluny M200, H=0.03u: b4 4020 257280
8 funnnjuwlh wnwuwnwnh udwn gbd.wdwquiht gwnwiuny d2
M200, ninplyptnwgnudng, H=0.034:/ 32 4520 144640
9 funnnywlh dbg winnlh hpwlwbwgnd dhwany) d3
pbwnund, B20, F200, h=10ud 1,6 54320 86912
L4u39+410 @1.00 b/p funnnduily*
1* 1 hunnnywlh dnunph , Giph U dhoh dwppnud apniuinhg a3
sbinpnd, Ynyuwwdnpnud 1334/ P s 13400
2* | pwpanud dkinpny wywnnhupwpwih U inbnwihnunud wnnu
[gwynywn 74d hbnwynpnupjw ypw 1133y A 1090 104
L1i40+340.0 01.5d b/p funnnduly, dnunpp Gwluhg
1 funnnywlh dnunph , Giph W dheh dwppnud gpniiinhg u3
dtinpny 1334/ 0 LR :
2 pwndnud dknpny wlwnnhupwpwih b wnbnwihnjund nnl
[gulynywn 74d hbnwynpnuejwu Ypw H334/ 0 1090 0
3 B/p funnnywlh Ywpbph ipuwignd gid.wywquiht u3
wnwfund/ 0 50820 0
4 Untnph glfuwdwuh unpngnud gbd.wwquiht swnwiuny a2 0 4020 0
M200, h=3ud::/
5 Giph qluwdwuh unpngnid gbd.wdwquiht swnwtuny d2
M200, H=0.04J" dbunwnuwlwu gwgh dpw (100x100)dd 0 5550 0
4 Bp- |, P=0,0495wn:/
Ld40+150 @1.0d b/p funnndwlyy, dnunpp &wluhg
1 funnnywlh dnunph L Gigh Jwppnud gpniunpg 0.6543 u3
2tipbithng Epuljwjwwnnpnd, pwpdnid huptiwpwih, 6.8 560 3808
nbnwihnfunud igwlynyun 74d hbn. Jpw:/
2 wbnwihnfunud \gulnywn 7.04d wnnu 19 700 8330
3 funnndwyh dheh dwppnud gpniiinhg dkinpny, a3
Ynywnwynpnud 11334 3.5 1970 6895
4 pwpdnud dknpny wdinnhupbiwpwi b nnbnuihnfunwd wnnl
gwhnyw 74d hbnwynpnieywl Ypw 11334/ e Lkl gert
5 b b J gbd. u d3
; L{‘ pqml"qq,\“:ggé*w“ nh ipwignud gbidwdwquyh 0,64 50820 32525
6 Gph gnynieini niubignn pbuinub qlluwdwuh Yuwgdwwnnd d3
wulidwagnpahpny, pynpubiph pwpdnui 0.65d3 pkipbithny 2,2 26780 58916
Epulwdwinnpny wywnnhupuwpwih
7 wnbnwthnfunw |gulnywnn 7.04d nnl 528 700 3696




8 Ununpnud L Bipnud giluwdwubiph hpwywbwgdwl hwdwp d3
thnunpwlubiph thapnui 0.6503 stiptihny Epuljwywinnpny, 9,5 670 6365
gpniinh wwhbunwynpnd IV(106)/
9 glluwdwubph hpwlwlwgdwy hwdwp u3
Lwhwwwwpwunwlwl obpw fuény 0.46 13750 6325
10 [ Ununpnud U bipnud dhwany) pbnnub qfuwdwubph u3
hpwluwtignut B20, F100, suith 4.0x3.0x0.44: 85 105850 899725
10* | hbu U dh dpwa binnl B20 d3
g i EEon 1,0 77950 77950
1 Chwnwnwpd thgp Epuljwywinnpny/0.6543/,9pnuing L d3
hunwgiwdp 9,5 1220 11590
4U40+350.0 ©1.0d b/p funnnywly, dnunpp dwluhg
1 funnngwlh dnunph b Giph Jwppnid gpniiinhg 0.6543 u3
26pEhng tpuljwdwwinpny, pwpdnud hupbwpwth, 55 560 3080
2 wbnwihnfunud lguilynywn 7.044 wnnu 9,6 700 6738
3 funnndwlh dhoh Jwppnwd gpniunhg dtinpny, 43
Ynyunwynpnud, pwpénud wyuinhuptwpewih b 1,5 1970 2955
wnbnwithnfund [gwlnywn 7Yd henwynpnupywt Ypw 1133y
4 pwpdnud dkinpny wywinnhupliwpwih L wbnwthniunwd wnnl
gwlnywn 74d hnwynpnieiwl dpw 023 1050 —
5 Ununph gphnpnwth ypwih gwtgh wwwdnunwdndd, tnl
Jbpwnwnd ubthwywuwinhpngp: 0.05 53470 2678
6 Ununph pwpuiht awpdwdpny 9ppunnithsh Yugiwinnud d3
dbinpny, pwpanu wywnnhuplwpwih L2 A ag20
7 wnbnwihnfunud lgulnywn 7.04d wnnl 3,6 7000 25200
] ! u d3
8 | b/p funnnwlih Yuptiph (pwignd gbd.wiwquyh 0,01 50820 508
awnwfuny
9 Glph gnjnipinit nlubignn phininut qfuwdwuh Yuwqdwunnu d3
wuldwgnpdhpny, pbynplbinh pwpdnut 0.6503 sbipkihny 1,8 26780 48204
Epulwwinnpny wywinnhuplwpuih
10 | wbnwihnfunud |gubnywnn 7.04d winl 4,32 700 3024
11 Ununpnud dhwdny| plinntil gppunniuhsh hpwluwtiwgned, Ul
suwith 2.6x1.24, h=1.74, b=0.4d: 3,63 QA Ul
u
12 Qnghr}nmhgjbnh dEnwnwywt gwlgh wwinpwuwnnd b wnn 0.07613 214180 16306
nbnwnpnid:
L63x63x6Ud/mm P=105.24q/xkr qd. 7,6 4660 35416
-5x80dd/mm P=106.8lg/xr qd.d 10,4 3510 36504
13 | bpnu glluwdwuh hpwlwbwgdwl hwdwp thrunpwlh u3
thnpnud 0.6543 2tipkihny Epuljwywinnpny, gpniunh 55 670 3685
wwhBuwwdnpnud 1V(106)
14 | gqiivwdwubph hpwlwuwgdwy hwdwp d3
Lwhiwwwwnpwunwlw obpn fubnyg J:23 et Sl
15 | Genwd dhwény| phunub gfuwdwuh hpwlwuwgnut B20, U3
F100, swith 4.0x3.0x0.44 5.2 0S80 Senool
15* | hbu U dh dhwad bwnnt B20 u3
Wil surudh dhny el 1,0 77950 77950
16 | <Gwnwnwné |hgp tpulwywinnpny/0.6543/,9pnudny L u3 5.5 1220 6710
jutnwgdwdp
L440+690.0 @1.5d b/p tunnndwly, dnunpp dwfuhg
(1.5m
1 funnnywlh dnungh Giph L Giph dwppnud gpniiinhg d3
dtinpny, Ynywnwynpnud, pwpénud wyinnhupbwpewth 11334 2 1970 3940




2 pwnénui dnpny wywnnhuptwpwih b nbnwihntunad wnnl
[gwynyun 74d hbnwynpnyeywt Ypw 35 1030 3815
3 &/p funnndwh Yupbph puignid gbd.wydwquyht u3
swinwfun 0 50820 0
4 Ununph L Biph gluwdwubph dwybpunyputiph dwppnu u2
8tinpny’ dbhuwhlwlwt bnuwtiwyny . 1220 L
5 Ununph b biph giluwdwubiph Unpngnud gbd.wywquijht u2
2wnwfuny M200, H=0.040" dbuwnwlywl gulgh Ypw 0 5550 0
{(100x100)ud @4 Bp- |, P=0,0693n
4U40+780 @1.54 b/p funnnywy, dnunpp dwluhg
1 funnnywlh dnunph b biph Jwppnud gpntuinhg 0.6543 u3
2tptithny bpuwywinnpnd, pwnénwd huptwpwth 2 iy A0
2 inbnwihnfuntd \gwynywn 7.04d nnl 8,75 700 6125
3 funnnduwlih dhoh dwppnid gpniinhg dknpndy, d3
Ynyunwynpnud, pwpdnud wynnhupbiwpwih 0.5 1970 985
4 pwnénud dnpny wyinnhuptwpwih b wbquitnfun nnl
[gwynyin 7Yd hbnwynpnipjw Jpw 0S8R i -
5 &/p funnndwlh Ywpbph pugnd ghid.wywquight d3
Jwnwhuny 0,1 50820 5082
6 Ununph b Eiph pwjpuydwd plinnub qfuwdwubph d3
Ywadwinnd wulidwgnpdhpny, pwpanud 9,8 26780 262444
wywinnhuptwpwth 0.6543 gbiptithny tpulwiwinnpny
7 wnbnwihnfund gwlnyw 7.04d wnnb 23,52 700 16464
8 Ununpnud L Gipnd qluwdwubiph hpwywbwgdwl hwdwp d3
thnunpuwltiph thnpnud 0.6503 stiptithny tpulwiuwinnpny, 10 390 3900
gpnitinh wwhbuwnwynpned
9 glluwdwubph hpwywbwgdwl hudwp d3
buwhwwwinpwuwnwlwl obipnn fubnyg 0.5 Y e
10 | dphwdny| pivinub gqiluwnhpubiph hpwlwlwgnid B20 u3 7.1 105850 751535
10* | hbbwhwyht wunwdh dhwany| pnnt B20 U3 1,0 77950 77950
1 <bwnwnwnd (hgp Epulwwinnpny/0.65d3/,9nnuiny U d3
huunwgwdp 10 1000 10000
Lui41+550 @1.0d b/p funnndwl, dnunpp Swiuhg
1 tunnndwiyh dnunph Bph L Giph dwppnud gpnititnhg u3
dtinpndy, Ynyunwynpnud, pwpdnud wywnhtupbwpwth 1334 45 1970 8865
2 pwpénul dbinpny wynnhtplwpwih U inbnwanfund ninb
gwlnytn 74 hnwdnpnyejwl dow 11334 7,875 Lol L
3 |k b J ghd. u d3
/p funnnyuwlh bupbiph puignud glid.wywquh o 50820 5082
2wnwfuny
4 Ununph U biph pwjpuwd plinnub guwdwutiph Jd3
Ywagdwunud wuldwagnpdhpny, pwpdnud
wywnhupuwpwih 0.65U3 2tiptthny Lpulwywwnnpny b 6,2 26780 166036
inbnwihnfunud (gulynywin 74 hnwynpniegwt Ypw
5 wnbnwthnfunud lgulnywnn 7.0y wnnu 14,88 700 10416
6 Ununpnud L Gpnud quwdwubiph hpuwlwuwgdwt hwdwp d3
thnunpwubiph thapnud 0.65u3 kiptithny bpulwywinnpny, 6,4 390 2496
gpniunh wwhbunwydnpnud 11(334)
7 alfiuwdwutiph hpwywbwgdwl hwdwp u3
bwhwwwinpwunwlwl obpwn fuing 0.5 2l e8>
8 dhwany| pbvinub gluwnhpubph hpwlwtwgned B20 u3 10,1 105850 1069085
8* | hbbwluwyht wwnwdp dhwany phinnt B20 u3 1,0 77950 77950




Lhwnwnuwnd |hge tpuwlwnnpnd/0.65d3/,9pndny L

d3

huunwgudp 6,4 990 6336
LYi41+810 @1.0d b/p funnndwly, dnunpp wehg
1 funnnulyh dnwnph Gph b Gph dwppnud gpniinpg d3
dtnpny, Ynywwdnpnd, pwpdnul wdnnhtupuwpewih 1133y 3,5 1970 6895
2 pwpdnu dtnpny wyinnhuplwpwih b nbquithnunud wnnl
[gulynywn 74d hnwdnpniejw Ypw 11334 6.125 1030 6676
3 &/p junnnwlh Ywpbph ppwignud gbd.wdwqught d3
swnuwluny 0,1 50820 5082
4 Ununph U tiph pwjpwjdwd pbwnnub qluwdwubph d3
Ywadwinndd wulidwagnpdhpnd, pwpdnud 3 26780 80340
wywnnhupUwpewih 0.65u3 skipkithny bpuljwdwwninpny
5 wnbnwihnfunud gwynyn 7.04d wnnb 7.2 700 5040
6 Unungnud b Gpnud qifuwdwubiph hpwlwbwgdwl hwdwp d3
thnunpwlubiph thnpmd 0.6543 2bipkthny tpuljwdwnnpnd, 1,5 390 585
gnniuinh wwhbutnwdnpnud 11{334)
7 glluwdwubph hpwywuwgdwl hwdwp d3
bwhiwwwwnpwunwlwl gbipwn futng 0.5 13750 6875
8 dhwany| pinnub gluwnhpubph hpwywtwgnud B20 u3 6,9 105850 730365
8* | htuwlwiht wwnwdh dhwany pbnnt B20 d3 1,0 77950 77950
9 Giph gqifuwdwup Unpngnud gbd.wywqught gwnwiuny u2
M200, h=5ud 9,5 5820 55290
10 | <bwnwnwnpd thgp Fpubwywwninpny/0.6543/,9nnuing b d3
hutnuwgiiup 1,5 990 1485
LJ41+960.0 @1.50 b/p funnndwly, dnunpp wohg
1 funnnquwlyp dnunph Jwppnud gpniuinhg dbnpnd, d3
Unywnwynpnwd, pwpdnud winnhuglwewih 1133y L 140 1A
2 pwpdnud dbnpny wyinnhupwpwi b nbnudginfunud wnu
[gulynywn 7U4d hnwdnpniejwl Ypw 1133y hE) Looo el
3 B/p funnndwlh Ywpbph jpugndd gbd.wydwaquyht u3
0,1 5082
swnwhuny . 50820
4 Ununph gninipynit mubignn pwjpwywéd glfuwdwup d3
Yuqdwuwndd wulidwgnpdhpny, pwpdnul wywnnhtplwpewth 45 26780 120510
0.6543 gtipbhny bpulwdwinpny,
5 wnbnwthnfund (gulnywn 7.04d wnnu 10,8 700 7560
6 Ununpnud b bjpnud gifuwdwubph hpwlwwgdwt hwdwp u3
thnunpwlubiph thnpnid 0.65d3 pbpbdhing bpulwywwnnpny, 1,5 390 585
gnniunh wwhbuwnwydnpnud H(33d)
7 qliuwdwup ppwlwbwgdwl hwdwp u3
twhwwwwpwunwlwl obpun juing B jerl o870
8 dhwany| pbwnnub glluwnhph hpwywuwgnd B20 u3 6,2 105850 656270
8* | htuwlwyht wnwdh dhwdny| ptuint B20 d3 1,0 77950 77950
9 Gh glluwdwup unpngnud gbd.wdwquht swnuwiuny u2
M200, h=4ut 21,5 4920 105780
10 | <bwnwnwpd |hgp tpuljwdwinnpny/0.6543/,opnudny b u3
huunwgiwdp 1,5 990 1485
4d42+340 @1.50 b/p funnnywly, Uninpp wehg
1 hu d L Giph d d .6543 u3
nnnywbh dnunph U Giph dwppnud gpniunhg 0.6 105 560 5880
2tpbthny Epuljwywunnpnd, pwpdnud huptwpwd
2 nbnwihntundd (gulnyun 7.04d b 18,375 700 12863




3 funnnywlp dhoh dwppnud gpniiinhg dtinpnd, d3
Ynywwynpnud, pwpdnud wyinnhlptwpwi U 5,8 1970 11426
wnbnwthntund gulngun 7Y4d henwdnpnieywt Ypw 11334
4 pwpdnud dkinpny wynnptplwpwih b inbnuihnfunwd wnnl
guynywn 74d hbnwynpnuyejwu ypw 1133y 10,15 1090 11064
5 5/p funnnquwlp Yupbph pwignu gbd.wdwquyht d3
swnufuny 0,1 50820 5082
6 Ununph gnjnipnit niibignn, pwijpuwydwd qluwdwuh u3
Yuwqdwwnnud wuldwagnpdhpny, pwpénud wywnnhuplwpwih 4,5 26780 120510
0.6543 gtinbithny bpuywwinpny,
7 | wbnwihnfund guwynywn 7.04d wninl 10,8 700 7560
8 Unuwnpnud qlluwdwuh hpwlwbiwgdwt hwdwp u3
thnunpwlutiph thnpnud 0.65d3 gbpbding Epuljwywwnnpny, 15 390 585
gnpniuwnh wwhbuwmwdnpnd 11(334)
9 glluwdwuh hpwlwbwgdwl hwdwnp d3
bwhiwwwwnpwunwlwy 26pn fuény 0.5 13750 474
10 | dhwdny| pewnnub qfuwnhph ppwlwtwgnud d3 8,1 105850 857385
10* | hBbwluwyht wwnwdh dhwdny piinnu B20 d3 1,0 77950 77950
1" Geh glluwdwuh unpngnd gbd.wwquiht gwnwtuny d2
M200, h=5ud 9,5 5820 55290
12| <iwvnwnwnd (hgp tpuywduinnpnd/0.65d3/,9pnudny U d3
hutnwgdwdp 1,5 990 1485
LUd42+630 $1.5d b/p funnndwly, dnunpp wehg
i tunnnduwlh dnwnph b Giph Jwppnid gpniiinhg 0.6543 a3 ; 60 9520
2tipGthny Fpuljwdwinpny, pwndnud wywnnhtiplwpwih / 2
2 wnbnwthnfunud gulnywin 7.04d nnl 29,75 700 20825
3 funnndwlp dhoh dwppnud gpniuinhg dbnpnd, a3
Ynyuwdnpnad 11334 12,5 1970 24625
4 pwpdnu dbinpny wyinnhuptwpwih L nbnuihnfund wnnl
lgwynywn 74d hEnwynpniejwl Jpur 133y AL 1090 20
5 |b !
/e tunnndwlyh Yupbiph pwignud gbd.wdwquiht u3 0. 50820 5082
2wnufuny
6 Ununph gnjnigintt niutignn, puwjpwdwé gifuwdwuh u3
Yuqdwinnw wulidwgnpdhpny, pwpdnud wynnhupiwpwth 3,5 26780 93730
0.65U3 gbpbihny Epuluwdwinpny
7 nbnuihntunid jgwiynyin 7.04d nnl 8.4 700 5880
8 Ununpnud gifuwdwuh ppwlwbwgdwt hwdwp u3
thnunpwlubinh thnpnud 0.6543 gbptithng Epulwywnnpny, 1,5 390 585
gnpniuinp wwhbuwinwynpnud 1(33u)
9 glluwdwuh ppwywlwgdwl hwdwnp u3
bwhiwwwwnpwunwlwl 2bpn fuényg 0.5 iS22 pe
10 | dphwdny| peinnut gfuwnhph hpwywtwgnud B20 u3 6 105850 635100
10* | hBuwlwjht winwdh dhwényg pivnint B20 u3 1,0 77950 77950
11 Gph quwdwuh unpngnud gEdwdwquiyhl gwnwtuny d2
M200, h=5ull 10 5820 58200
12 | <k H
nwnwnd (hgp kpulhwywinnpnd/0.6543/,9pnuing b u3 15 990 1485
futnwgduwidp
Lif42+920 1.0 b/p funnnywly, dnunpp wehg
1 funnnduwlh dnwnph b Bph Jwppnud gpniinnhg 0.6543 d3 9 60 320
2tpGhny kpulwywinpny, pwpénd wyinnhuplwpwih 3 e .
2 nbtinwthnfunud [gulinywn 7.04d wnnb 16,625 700 11638




3 tunnnywyh dhoh dwppnid gpniinhg dkinpny, d3
Ynywnwynpmud, N33y 7.5 1970 18723
4 pwpénud dbinpny wyinnhplwpwih L nbnuihnfunud wnnl
[gwynyin 74d hbnwynpniejwt dpw H33y 13,125 1090 e
5 &/p funnnyuwlh Yupbph ppwignd gbd.wywquyght d3
swnulunyg 0,1 50820 5082
6 5iph gifuwdwuh Unpngnud gbd.wldwaquipl guwnwiuny u2
M200, h=5ud 7 5820 40740
7 Giph qnjnipyniu niubignn, pwjpuyywsd qifuwdwup d3
Ywqdwinnud wulidwgnpdhpny, pwpdnud wynnhlptiwpwth 35 26780 93730
0.6543 gbipbithny Epuljwdwinpny
8 wnbnwihnfunud |gwlnywn 7.04d wninb 8,4 700 5880
9 Giph glluwdwuh hpwhwbwgdwl hwiwp thnunpwlutph d3
thnpnul 0.65d3 2tiptithny Epulwywinnpny, gpndinh 35 390 1365
wwhbuwnwynpnud 11(334)
10 | gqiuvwdwup hpwlywuwgdwl hwdwp d3
Lwhuwwuwwnpwunwlywl obpn utny 0,46 13750 6325
n dhwdny| pEwnnub qfuwnhph hpwlywbwgnod a3 4,5 105850 476325
11| hBuwlw)hb wwnwdh dhwény| ptiivnnu B20 d3 1,0 77950 77950
.6543 dnyd b u3
12| <hwvwnwipd |hgp bpuljwdwinnpnd/0.65d3/,9pnwding 35 990 3465
funwgdwdp
Ld43+330.0 @1.5d b/p funnnywl, dnunpp wohg
1 funnnqwyh dnunph W biph dwppnid gpniinhg 0.6543 u3 65 560 3640
2tptithny Epuljwdwwnnny, pwpdnid wywnnhupbwpwih 7
2 nbnwihnfunu gwlnyun 7.04d wninb 11,375 700 7963
3 funnnywlh dhoh dwppnid gpniuinhg dbinpnd, d3
Ynywwynpnud 1133y ; g B
4 pwndnuf dbnpny wyinnhtptwpwi b tnbnwinfund wnnl
(gwynyun 74d hnwynpnieiwt Jpw 1133y 1,75 1090 (308
td. U d3
5 | 5/p junnndwlh Ywpbnh pwignad glidwydwquih 0.1 50820 5082
2unwfuny
6 Ununph U Giph pwjpuydwd pbwnnub qluwdwubph d3
Yuquwinnud wulidwgnpdhpny, pwpanud wynnhpbwewih 7,5 26780 200850
0.6543 gbipkithny Epulwdwinpny
7 nbnwihnfunud |gwlnywn 7.04yd nnlt 18 700 12600
8 Ununpnud U Gipnid gfuwdwubiph hpwlwbwgdwt hwdwp u3
thnunpwlutiph thapnud 0.653 tiptithny Epuluwwinnpnd, 10 390 3900
gnniiinh wwhbuwnwdnpnud 11{334)
9 gifuwdwubiph hpwywbwgdwy hwdwp u3
Uwhiwwwwnpwuwnwywu 2bpn fubng 0.5 LE7E] Bez3
10 | dhwany; ptnnub qfuwnhph hpwlwbwgnad d3 8,1 105850 857385
10* | hEbwluwyht wwnwdh Jhwany| pinnt B20 a3 1,0 77950 77950
n 0.65d3/, L d3
LEwnwnupd (hgp bpulwywinnpny/0.65d3/,9pnwdny i0 990 9900
funwgdwdp
LUd43+790 @$1.00 &/p funnnduly,
1* | hunanwlh dnunph L Bph dwppnud gpniiinhg 0.6543 u3 15.0 560 8400
2tpbthny Epulwywwnpny, pwndnid wywnnhluplwpwih \
2* | mbnwihnfund ;guynyn 7.0448 wnnu 26,3 700 18375
3* | Ununpnu b Bpnid giluwdwuh hpwywbiwgdwl hwdwp d3
Uwhiwwwunpwunwlhwt 2bpn fung 0.5 13750 6325
4* | Ununpnud b bipnud dhwany) plnnub qiuwnhph u3
hpwywbwgnu B20 4,0 105850 423400
5* htbwluwiht winwdh dhwdny| pivinu B20 d3 1,0 77950 77950




Yd43+960 2.0x2.0d ninnwulynit &/p funnnduwl, dnunpp
dutuhg

1 funnnjwlh dnunph b Biph pEunub plbiph L u3
glluwnhpubpp Yuwqdwwnd wubdwgnpdhgnd, ptynputiph
pwpdnud wyuninhtplwpewdt 0.6543 obpbhnyg 8,5 26780 227630
Fpulwdwinnpny
2 nbnwihnfunud |gwlnywn 7.04d nnb 20,4 700 14280
3 |6 ] d gbd. u d3
/p tunnndulh Yuptiph puignu gbd.wywquih 0.1 50820 5082
2unuifuny
4 Ununpnd unp plubiph hpwywlwgdwt hwdwnp d3
thnunpwlbiph thnpnud 0.6543 gbptthing Epulw]wnnpny,
30% gpniuinh pwpdnud wiinnhbipwpuwdg b 1,35 560 756
wnbnwithnfunw gulnyun 7Y4d hbn Jpw
5 wnbnwdhnfunud gwlynywn 7.04d winl 2,3625 700 1654
6 Ununpnud bnp plbph hpwiwuwgdwt hwdwp u3
thnunpwluinh thnpnuw 0.65d3 z6pkithny tpulywywinnpnd, 3,15 390 1229
gpniunh wwhGuwnwynpnud 11(334)
7 | <k & 0.65d3/,9pnudny L u3
nwnuwnd thgp Epuljwywnnpny/ 3/,9pnudiny 315 990 3119
funwgdwdp m3
8 Unuwnph pltiph hhdpbph hpwlwbwgdwl hwdwp a3
Lwhwwwwnpwunwlwl gbpn fubny 0,92 USTElY e
9 (U Lbph hhdpb U d dhwd Bunu u3
nunph pltiph hhdptiph hpwywbwgnud dhwény| pbnntuny i 6.3 64000 403200
10 ub Lub u d dhwd u3
Ununph pltiph hpwttibph hpwlwbwgnud dhwény; 6.38 65870 420751
pbwnnuny
1 d U & d3
Ununpnud b Gpnud gfuwnhptbph hpwlwwgnid dhwany; 47 65870 309589
pbununy
n* hEbwluwyht wwnwdh dhwény| pbnint B20 a3 1,5 77950 116925
12| bph gnjnuentu nlubignn ptivinut plbph Yepwunpngnud u2
gbd.wdwaquyhl gwnwfuny M200, h=5ud g liply 34220
13 | Gnu hnwp dbg pwpwiht thgph hpwywtwgmd d<0.3d u3 3 6030 18090
L4Jd45+280.0 91.0d b/p funnnywl, dnunpp dwhihg
1 funnndwyh dnunph dwppnud gpnduinhg 0.654U3 gbipbthng d3 5 560 1120
Fpuhwywwnnpny, pwpdnd wywnhtpUwpuih
2 inbnuihnfunud [gwlnyun 74d htn. Ypw wnnl 3.5 700 2450
d ghd. u
3 | b/p unnndwlh Yupbph ipwignud gbd.wdwquijh d3 o 50820 5082
2wnuwfuny
4 Ununph b Gph pwjpwyywéd pbuinub guwdwubph u3
Ywadwwnn wulidwgnpdhpny, pwpdnu 7.5 26780 200850
wywnhuptwpwh 0.65d3 stinkithny bpulywdwwnnpny
5 nbnunhnfunud jgwlnywn 7.04d wnnb 18 700 12600
6 Ununpnud b Gpnud gfuwdwubiph hpwlwtwgdw hwdwp u3
thnunpwlh thnpned 0.6543 gkipkthny Epulwywinnpny, 6 670 4020
gpniunh wwhbuwmwynpnd 1V(10k)
7 giuwdwubph hpwwtiwgdwy hwdwp u3
bwhwwwinpwunwlwl gbpun fung O ErAy Al
8 | gquwdwubph hpwlwuwgnd B20, F100 u3 45 105850 476325
8* hbUwlwiht wwnwdh dhwany| pinnt B20 d3 1,0 77950 77950
<k .6503/, u3
9 nwnwnd (hgp tpulwdwinnpny/0.65d3/,9pnuing b 5 1220 7320
futnwgdwdp
10 | G hntuh dbg pwpwihl (hgeh hpwlwtwgnud d<0.34 d3 7 6030 42210




4U45+410 $1.0d b/p funnndwy, dnunpp wohg

1 funnnywlih dnunph U Biph dwppnid gpniinhg 0.6543 d3
2bptihnyg Epulwdwiinpny, pwpanid wlunnhuptiwewih 3 260 1680
2 wnbnuwihnfunud [gwlnywn 7.04d nnl 5,25 700 3675
3 Funnnqwlh dhoh dwppnud gpniiinpg dtinpny, d3
Ynyunuinpnu 11334 2.2 EH 202
4 pwpdnud dnpny winnhuptwpwtih b wnbnwihnfunud b
[guynyin 74d htnwynpnyejw Ynpw 1133y/norpyska TOH 0,875 1090 954
BPYYHYIO NepeBo3ka B OTBaN 7Km
5 5/p funnnduwlh Ywpbiph jpwignd gbd.wwquhl u3
swnwhuny 0.1 50820 5082
6 Ununph b biph pwjpwjwd puinut qluwdwutiph u3
Yuquwwinnud wulidwanpshpny, pwpdnud 8,5 26780 227630
wywinhupwpwi 0.65d3 2biptithny tpulwywinnpny
7 | wbnwihnfunud lgulnyw 7.0yd wnnl 20,4 700 14280
8 Ununpnud U bjpnud unp plitiph hpwlywbwgdwl hwdwp U3
thnunpwlubiph tinpnud 0.6543 gbipbkithny Epuljwduinnpny, 6 390 2340
gpniuinh wwhbunwynpnud 11(33y)
9 glluwdwubph hpwlywiwgdwl hwdwp u3
bwhrwwuwinpwunwlwt okipn fuény 06 13450 8250
10 | quwdwubph ppwlwlwgnud 820, FI00 d3 8 105850 846800
10* | hbu u dh dhwd twnb B20
ik il ony N a3 1,0 77950 77950
n | <6 & 0.65d3/,9pnuing L U3
wnwnwnd |hgp Epulwywinnpnd/ 3/,gnnuinyg 6 990 5940
funwgdwdp
L46+150.0 @1.0d b/p funnnywly, dnunpp wehg
1 funnnquwlh dnunph b Giph dwppnud gpntiinhg 0.6543 u3 6 560 3360
2tptithny Epulwywinpny, pwpand wywnnhuptiwpwth
2 wnbnwthnfunud gulnywnn 7.04d nnu 10,5 700 7350
3 tunnnywlh dhoh dwpnnud gpniiinhg dtinpny, u3 : 1970 1970
Ynywwynpnad, pwpdnud wunnhupbwpwih 133y
4 gnud & u L ki d U
pwpénud dtnpny wywnnhtptwpwth b wbnwihnunt wnin 175 1090 1908
wynywn 7Y4d hbnwynpnpjw Ypw 11334
5 b b k. 3
/p funnnywlh Yupbiph puignud gd.wqwquyht d 0.1 50820 5082
auinwiuny
6 Ununph pwjpwidwd phunnub gifuwdwuh Gugqdwinnud u3
wuldwanpdhpnd, pwpanid wynnhtpiwewd 0.6503 35 26780 93730
Zhnbuhny bpulwiwinnpny
7 wnkinw nud \gwynyun 7.04d b
Lhan gl “ 8,4 700 5880
8 funnnjuwlp biph Ubppht hbuwwwinh Yephtu hihe.=0.84 u3
puypwyywd hwinjwdh Yugdwinnd wuldwanpdhpny,
dhwppbgnul, piynpubiph pwpdnut wywnnhtpwpwih 6,4 26780 171392
0.65d3 gpthny tpuljwlwnnpny
9 wnbnuthnfunud gulnywn 7.044 wnnl 15,36 700 10752
10| Uninpnud gjluwdwuh hpwlywbiwgdwt hwdwp hwdwp d3
thnunpwlutiph thnpnud 0.6543 gtipkithny Epuljwdwinnpny, 6 390 2340
gnniiinh wwhtunwynpnud 11(33y)
1 glfiuwdwubph hpwlwbwgdwl hwdwp d3
Uwhiwwwinpwuinwlwl 2bpun fuing 0.6 13750 8250
12 | quwdwuh hpwywuwgnud B20, F100 d3 1,4 105850 1206690
12* hbbwlwjht wunwdh dhwany; pnnt B20 d3 0,5 77950 38975




13 | <Gnwnuwnd |hgp kpulwywinnpny/0.6503/,9pnidny L u3
fuunwguiwdp 6 990 5940
14 | Bph hbbwwwwnh Yepwlnpngnut gbid.wywquht u2
qwnufuny h=5ud’ bwhriwwbu dinwnwlwl gutigh 70 6160 431200
wnbnwnpnuing, (100x100)dd @4 Bp- |, P=0,139wn
15 | bpnud hbu Ghignud Jhwa Buinuny’ 1,2x0.44, d3
Epm wwjwnh wébignud Jhwany; pkwnnuny’ 1,2x 9.6 65870 637352
L=20.0d
Ld46+540 $1.0d &/p funnnduwly, dnunpp wehg
1 tunnnjuwyh dnunph b Giph Jwppnid gpntiinhg 0.6543 u3
2tnthiny bpuwwinpny, puwpdnud wynnhtpiwewih b 7,5 560 4200
nbnwihnfunud \gulnywn 74d hen Jpw
2 wntinwthnfunud |guwlnyn 7.04d wnnl
nepeso3ka B otean 7.0km 13,125 700 A
3 funnnjuwilh dhoh dwppntd gpniiinhg dbnpny, u3
Ynyunwydnpnud, pwpdnud wyunhtipbwewih L 1133y 2,5 1970 R
4 pwpénud dGnpny wywinhlpiwpuwth b tnbnuithnfund wnnu
lgwlnywn 74d hnwynpnuziwl Jpw 11334 4,375 Wl e78
5 &/p tunnndwlh Yupbph jppwignd gbd.wduquyht u3
5 5082
pwnufuny 0.1 0820
6 Ununph pwipwidwé pbiuinnub giuwdwuh Yugdwwnnd u3
wuldwgnpdhpny, pwpénud wyinnhuptwpwh 0.6543 2,5 26780 66950
2tinbhny Epulwywinnpny
7 wnbnwihnfunud lguynywn 7.04d wnnu 6 700 4200
8 Ununpnud qiluwdwuh ppwlwtiwgdwt hwdwp hwdwp u3
thnunpwlubiph dinpnud 0.6543 gbiptithing Epulwywwnnpny, 1,5 390 585
gnpnibinh wwhbuwnwdnpnud 11(334)
9 glluwdwubph hpwlwtwgdwu hwdwp u3
bwuwwwwnpwunwlywl 2bpwn fubng 0.5 18520 08P
10 { Ununpnud dhwény| pivnntb gifuwdwuh hpwlwliwgnud 43
820, F100, swih 4.0x3.2x0.44 : 82620 2Ll
10* &
0 Iabhwuwjh'uuwmwdh dhwény) pbwnnu B20 i3 0.5 77950 38975
OHONUTHBIN
1 Lhnwnwnd |hgp tpuljwdwinnpnyd/0.65d3/,9pnuwing b u3 15 990 1485
jutnwgdwdp
12 | biph qlluwdwuh Unpngnud gbd.wdwquipt gwnwfuny d2
M200, h=5ud 15 5820 87300
Lj46+680 ©1.0d b/p funnnywl, dnunpp wehg
1 Funnnqwlh dnunph Jwppnd gpniiinhg 0.6503 obiptithny u3 35 560 1960
Epuywydwinpny, pwpédnd wyinnhbupuwpwih '
2 wnbnwihnfunud igulnyun 7.04d winl 6,125 700 4288
3 v/ b d gbud. U u3
/p tunnndwlh Yupbph (puignut gbd.wyuquih 0.1 50820 5082
2wnwfuny
4 Ununph b Giph puwjpwydwsd puinub guwdwutiph d3
Yuwgdwwnnud wulidwgnpdhpnd, pwpdnid
wyunhuptwpwih 0.65d3 stiptihny tpuljwywwninpny L 6,5 26780 174070
nbnwihnfund (guynywn 7.0
5 wnbnwihnfunud gwlynywn 7.04d wnnu 15,6 700 10920
6 Ununpnud b Gpnud guwdwubph ppwlwbiwgdwt hwdwp u3
hwdwp thnunpwlubnh thnpnwd 0.65403 gbpbhng 6 390 2340
Epuljwywiwninpny, gpniinnh wwhbuwnwdnpnd 1{33y)
7 glfuwdwubph hpwlwbwgdwl hwdwp d3
Lwhiwwwwpwunwlwl otpnn fuing 0.6 iy =l
8 phunnubt qifuwdwubiph hpwlwtwgnd B20, F100, d3 2,7 105850 285795




8* htbwlwiht wnwdh dhwany) pbunt B20 d3 1,0 77950 77950
9 LEwnwnuwnd (hgp bpuywwinnpnd/0.65d3/,9pnudny b U3
huunwguwdp 6 990 5940
4u46+930 31.04 b/p funnndwl, dnunpp wehg
1 funnnquwlh dnunph dwppnud gpniiinhg 0.65483 phipkithny U3 5 60 1400
Epulwdwiinpnd, pwpdnud wynnhuglwpwih 2, 2 e
2 wnbnuwihnfunud lgwlnywn 7.044 wnnl 4,375 700 3063
3 G/p funnndwlp Yunbnh jpwignud gbd.wlwquiht d3
swnwfuny 0,1 50820 5082
4 Ununph U bijph pwjpwjdwd pbunintb gfuwdwubiph d3
Yuaqdwunnud wulidwanpdhpny, pwpdnud 7 26780 187460
wywnhtptwpwih 0.65d3 stptithny tpulwdwinnpny
5 wnbnwihntunud |gwynywn 7.0yd ninu 16,8 700 11760
6 Ununpnud b Bpnd qiluwdwutiph hpwluwbiwgdwt hwdwp d3
hwdwp  thnunpwlhubph thnpaud 0.6543 gtipkthny 7 390 2730
Epuywdwinnpny, gpniuinp wwhbunwdnpnud 1(334)
7 glluwdwubiph hpwlwlwgdwl hwdwp d3
Uwhwwwwnpwunwlwt 2bpwn fubny 0.6 ezETY) £220
8 ptwinut gfuwdwubph hpwlwbwgnud B20, F100, u3 4,3 105850 455155
8* hbwywiht winwdh dhwany; punt B20 d3 1,0 77950 77950
0.6543/, L u3
9 Chnwnwpd |hgp tpulwywinnpnyd/0.6543/,9pnuiny 7 990 6930
fuinwgdwdp
4u47+050 ©1.254 b/p funnnywl, dnunpp wehg
1 Ununph b Giph pwjpuwyjwd pbinnub gluwdwubiph u3
Ywquwwnnut wulidwgnpshpny, pwpsnud 7 26780 187460
wywnhuptwputh 0.65d3 stptithny bpulwywinnpny
2 wnbnwihnfunud |guwlynyun 7.0y wnnlb 16,8 700 11760
3 Ununpnud b bpnud qluwdwutph hpwlwbwgdwt hwdwp u3
hwdwp tnunpwlubph thnpnud 0.6543 gtipkhny 6 390 2340
Fpulwiwuninpny, qpniinh wwhbuwnwdnpnud 11(334)
4 qifuwdwubph hpwlwbwgdwl hwdwp u3
bwhiwwwwnpwutnwlwu skpun ubnyg 0.6 eXElY g2
5 pbwnnbb qfuwdwubph hpwlwuwgnul B20, F100 d3 6,1 105850 645685
5* hGuwlwiht winwdh dhwény| pbininu B20 d3 1,0 77950 77950
6 | <t & 0.6543/,9pnuiny L d3
nwnwnd hgp tpuljwywinnnpny/ /,9nnuiny 6 990 5940
funwgdwdp
L47+510 @1.0d b/p funnnduily, dnunpp dwfuhg
1 funnnyuwlih dnunph dwppnul gpniunhg 0.6543 stipkithny d3 560 560
Epuljwywinpny, pwpdnid wywnnhupbiwpwih I
2 nbnwihnfund lgwlynywn 7.0yd wnnl 1,75 700 1225
d ghid.
3 5/p funnnqwlh Yuwpbiph ipungnud gbd.wdwqught d3 0. 50820 5082
2wnuwituny
4 Ununph b Giph pujpuyywd phuntt qfuwdwubiph d3
Ywgqdwinnud wulidwgnpdhpny, pwpdnud 4,5 26780 120510
wywnnhtuplwpwih 0.65d3 sbptithny Epuljwduiwnnpng b
5 wnbwihnfund |gwynywn 7.044 tnnb 10,8 700 7560
6 Ununpnud U bjpnud qifuwdwubph ppwlwtwgdwt hwdwp d3
thnunpwlh thnpnud 0.6543 26npkithny Epuljwdwinnpny, 6 670 4020
gpniiinh wwhbuwnwynpnu 1V(106)
7 dwub Uwgdw hwd d3
b Rl JL g 0,6 13750 8250

Lwwwwinpwunwlwl obpn uéng




8 dhwany} ptinntb qfuwdwubph ppwlwiwgnu B20 a3 55 105850 582175
8* hEbwlwjht wnwdh dhwdny) pbnnt 820 Jd3 1,0 77950 77950
9 <bunwnwpd (hgp tpuljwyuwnnpny/0.6543/,9pnudiny L d3
luunwguiwdp 6 1220 7320
10 | Gpnuw hnwuh dbg pwpwiht |hgph hpwlwbwgn d<0.34 d3 9 6030 54270
4U47+640.0 @1.25d b/p funnndwl, dnunpp wehg
1 funnnduwlp dnungh dwppnud gpntiinhg 0.65403 obiptithny u3
Eoulwywinpny, pwpdnu wywnnphguwpewih ! gel S8
2 wnbnwihnfunud lgwlnywn 7.0y wninl 1,75 700 1225
3 funnndwlh dheh dwppnut gpniiinhg dkinpnd, d3 ;
Ynyunwdnpnud, pwpdnud wnnhupbwewth 1133y 1 240 Rl
4 pwpdnu dinpny wiinnhtptiwpwih b nbnwihnfunud wnnu
gwynywn 7Yd hEnwynpnigw Jpw 33y 7S o) 208
5 5/p funnnywlh Yunpbph inuwignut gbd.wywquh d3
swnwfuny 0.1 50820 5082
6 Ununph pwjpuyywé phunnub gifuwdwubiph fwgqdwwnnul u3
wuldwanpdhpnd, pwpdnud wynnhtpwpwih 0.6543 3 26780 80340
2bptithny Epulwywinnpny
7 wnbnwdinfund lgulnywn 7.044 Nl 7.2 700 5040
8 Ununpnud gluwdwuh hpwlwbwgdwt hwdwp thnunpwlih d3
thnpnud 0.65d3 2bipkhng Epuljwywitnnpny, gpniinh 6 670 4020
wwhbuwnwdnpnud 1V(106)
9 gluwdwuh hpwywiwgdwl hwdwp d3
LwhrwwwinpwunwYwl 2bpwn fubny 20 13750 g2>0
10 | Ununpnud dhwény) pnnub gifuwdwuh hpwlwwgnud d3
B20, F100, swih 4.6x3.2x0.44 4 e j02000
10* | hbUuwlwjht wwnwdh dhwany| pbwnnt B20 d3 0,5 77950 38975
n Chwnwnwpd thgp tpuljwydwinnpny/0.65d3/,9pnuiny b d3
huunwguwidp 6 1220 7320
12 | Giph hbbwwwinh hhph U ppwbh funnngubiph [pugnud u3
Jdhwany) pkwnnuny, B20, F100: e RN 12660
13 | biph htbwuwwwnh Ypwlnpngnud ghd.wywquht u2
2wnuwiuny h=5ud’ bwhiwwbu JEwnnwnwlwl gwugh 70 6010 420700
wnbinwnpnuiny, (100x100)dd @4 Bp- I, P=0.139n
14 | B hbbwwwinh Jpw wwpwwbnh hpwlwbiugnid gd.d
Shwany| pnnting' 0.8x0.44, L=20.00:/6 443 20 AN el
4U47+960.0 @1.0d b/p funnnywl, dnunpp wehg
1 Ununph b Giph pwjpw)dwd phinnub qfuwdwubiph d3
Ywadwwnnud wulidwanpdhpnd, pwpdnud
wywnhbptwpwth 0.65d3 stpbthny tpulwyuwinnpny b 5 26780 133900
nbnwihnfunud gulynywn 7.0
2 nbnuihnfunud lgwynyn 7.04d wnnu 12 700 8400
3 Unuwnpnud L bipnud gifuwdwubiph hpwlwbwgdwt hwdwp u3
hwdwp thnunpwlbiph thnpned 0.6503 gbpbthng 6 900 5400
tpulywyuwinnpny, gpniinh wwhbuwnwdnpnud 11(33y)
4 gliuwdwubph hpwywbwgdwt hwdwp u3
bwhwwwwnpwunwlwy otpn jubng 06 TN 8250
5 phwnnub qluwdwubph hpwlwuwgnd B20, F100, d3 7,5 105850 793875
S hLwluwiht wwnwdh dhwdny| pivnnt B20 d3 1,0 77950 77950
6 |<b & 0.65U3/,9pnuiny L d3
tnwinwnd (hgp Fpuljwdwinnpny/ /,9nnuing 6 990 5940

fuinwgdwdp




4J49+460 B1.04 b/p funnnywly, dninpp &wluhg

1 Funnnywyh dnunph dwppnd gpniinhg 0.6543 ptipkhing d3

Epulwdwwnpny, pwpsnud wywnnhuplwpwih ! 560 560
2 nbnwthnfunw (gwlnyun 7.04d wnnu 1,75 700 1225
3 Ununph pwjpwjywd piinntb gfuwdwup Yugdwwnnud d3

wlldwagnpdhpnd, pwpénud wynnhupiwpewdth 0.6543 7 26780 187460

Zbntuny bpulwwuanpny
4 | wbnwiinfunu [gulnywn 7.04d wnnl 16,8 700 11760
5 Unwnpnud b Gipnid qiluwdwubph hpwlwiwgdwu hwdwp u3

thnunpwyh thnpnud 0.6543 Jbipbithny Epulwlwinnpnd, 6 670 4020

gpniuinh wwhbuwnwgnpmd 1V(10k)
6 qiiuwdwubph hpwlwbwgdwl hwdwp d3

twhwwwinpwuinwlwu 26pun fubny: 0.6 13750 8250
7 Ununpnud dhwény| pewnnub qiluwdwup hpwlwlwgned d3

B20, F100, swth 3.2x3.0x0.44 0.6 105850 63510
7* 1 Ununpnud dhwény| pnnub gfuwdwuh hpulwtwgned U3

B20, F100, swih 3.2x3.0x0.44 37 105850 G aRnll
8* huwlw bt wnwdh dhwdny) pbnnu B20 d3 0,5 77950 38975
8 Lhwnwnwpd |hgp tpuwywwnnpny/0.6543/,9pnidny b u3

hutnwguwp 6 1220 7320

Y4d49+370.0 Uhwany| pGunnub bbppht hbbwwwwn whg,

L=40.04, hdhe.=3.0d
i Lbuwwwuwnh Gpbup dwppnud gpniuinhg dkinpny, pwpdnud u3

wyunnptgbwpwih 11334 35 LY 8
2 pwnpdnud dGnpny wywnnhuptwpwih b nbnwinfunud unl

gwlnywn 74d hbnwynpnyzjwu dpw 11334 6125 el 6676
3 Lhbwwwinh Gpluwijupny fupwdnugne thnpnud dbnpny, d3

gpniuinh Ynyunwynpnid 10 0 el
4 30% pwpdanud wynnhuptwpwih pwpdnw dbnpny wnnl

wywnnhuptwewip b inbnuwithntunud lgulnywn 74d 5,85 1090 6377

hnwynpnigjwu Jpw 11334
5 | <k ub d dhwad tunnund, B20, d3

F1061:1u,|wmh funnngubiph (pugmd dhwdny pnnung 15 63710 95565
6 Lbbwwwunh hpwunuwd hnphgnuwlwl hnpwinwtgpbph huwiwn

hnpwwnnud quighynudwt dhongny L=0.24, d=0.03d 240 1300 ELA
7 LhUwwwuinh hpwund wnnuwnb fuwphufutbiph @16 Alll wnnl

wwinpwuwnnd b inbnunpnid L=0.324: 01213 822060 e

u ¢100 u §.u

8 | Swdwpnipnuiht 100 JU wniptehibiwh q 16.8 2580 43344

funnndwlubp
9 Lhuwwunnh hpwth YEpwunpngnud dhwéng| u3

wdpwlwynpywd ptiwnnnuny B20 , F200,hdhe.=15ud, 18 87060 1567080

wdpwih wwpnuwyniinip @10 Alll=886.8Yq:

Alll B10dd/mm wnnl 0,8868 734940 651745
8 Lhbtwwwinh Jpw dhwdny) pbunnub hpwywbwgnud B20 u3

F200" hwdwhwppbgnuing, 2w’ 0.2x0.55, L=404, 2 22400 CIERP

LuU50+040.0 91.0d b/p fjunnndwl, dnunpp wehg
1 Ununph b Gph pwjpwyqwd pbwnnub glfuwdwubph u3

Yyuqduwinnud wulidwgnpshpny, pwpdnud 5,5 26780 147290

wiwnnhUptwpwih 0.6543 7tpbdind Epuljwywwninpng
2 wnbnwihnfunud |gulnyn 7.04d winl 13,2 700 9240
3 Uninpnud b Gpnud qifluwdwubiph ppwlwbiwgdwt hwdwp d3

hwdwp  thnunpwyubph thnpnwd 0.65d3 obpbdhing 4 390 1560

Epulwydwwnnpnd, gpntinh wwhBunwynpnud




4 glfuwdwubph hpwywtwgdwl hwdwp d3
Uwhiwwywinpwunwlwt gkpun uéing 0.6 13750 8250
5 phwnnub qluwdwubiph hpwlwbiwgnud B20, F100, u3 18,6 105850 1968810
5* hEuwlyuyht winwdh dhwdny phwnt B20 d3 0,5 77950 38975
6 <binwnwpd hgp bpulwywinnpny/0.65d3/,9pnuiny u3
hunwguwdp 4 990 3960
4u50+450 @1.0d b/p funnnduwl, dnunpp wehg
1 funnaquwlh dnunph b biph dwppnud qpniiinhg 0.6503 a3
2bpbithny tpulwuinpny, pwpdnud wyunnhbplwpwih b 3,5 560 1960
wbnwihnfunud \gwlnyn 744 hin, Ypw
2 wnbnwihnfund gulnywn 7.04d wnnl 6,125 700 4288
3 tunnnywlh dheh dwppnud gpniitnhg &kinpny, d3
Ynywwynpndd, pwpdnid wyinnhuptiwpwd b 2 1970 3940
wnbnuihnfunud igulnyn 74d hnwynpnipjwt Ypw 1133y
4 dnwd ab upl b wnb d U
pwpdénud dnpny wywnnhupbwpewih b wiknwinfunt wnn 35 1090 3815
gwlnywn 74d hbinwynpniejwi Ypw
5 Ununph L biph pwjpwywd plunntt gfuwdwubph d3
Yuquwinnd wulidwgnpdhpny, pwpanud 35 26780 93730
wiinnhupuwewih 0.6543 gtipkithny Epuywywinnpny
6 wnbnwthnfunud jgulnyin 7.04d nnb 8,4 700 5880
7 Ununpnud b tipnud glfuwdwubiph hpwlwtiwgdwl hwdwp u3
thnunpwyh thnpnud 0.6503 gbiptithny bpulwijwnnpny, 4 670 2680
apniunh wwhbunwynpnud IV(10k)
8 gluwdwubph hpwywuwgdwy hwdwp u3
Uwhiwwwnpwunwlwl gbipun fuéng 0 sl g2
9 Ununpnud b Bipnud dhwdny pivintit qifuwdwubiph d3
hpwljwtwgnud B20, F100, 2,6 105920 275392
9* hEuwlywiht wnwdh dhwany; pbinnu B20 u3 0,5 77950 38975
10 | <Gwnwnwpd |hgp bpulwyuwnnpny/0.6503/,9pnuing L u3
huunwgdwdp 4 1220 4880
4u50+630 @1.0d b/p funnnyuwly,* @1.0m
1" | tunnnquwyh dnunph b Giph dwppnud gpntiinhg 0.6543 d3 0 5
2tiptithny Epuljwdwiinpnd, pwpdnud wywnnhuptiwpwih 12,0 20 e20
2* | wbnwihnfund |gulynyw 7.04d wninu 21,0 700 14700
3* | Unuwnpnud U Gipnud dhwdny; pitinub giuwnhph u3
hpwlwtiwgnud B20 4,9 105850 518665
4* hEbwlhwiht wnwdh dhwény; pliuint 820 d3 1,0 77950 77950
4U50+680.0 Uhwany) pbivinub ybpht hbbwuwywin wehg,
L=15.0d, hdhg.=1.5d
1 Cbuwwwwnh Gpluytipny fupwdninne thnpnud dkinpny, d3
gnntunh Ynyunwyapnud 5,25 5090 26723
2 30% pwpanud dbinpny wywinhupbwpwih U inbqwihnfunu wnnl
[gwlnywn 74d hinwynpnuejwt Jpw 301125 Ueele) 8348
3 <bu ubi d dhwd twnnund, B20, u3
Fmg:nqwmh funnngubiph |pwgnud dhwény) phitinling, 0.5 63710 31855
4 <buwwwwnh hpwbnu hnphgnbwlwl hnpwwnwugpbiph hwwn
hnpwinnud quyihlnbdwu Jhengny L=0.2d, d=0.03d 60 ol 78000
5 <buwwwinh hpwunud wnnwwint fuwphututibph @16 Alli b
wwinpwuwind b inbnwinpmud L=0.324: 0.03 822060 24562
6 <buwwwinh hpwuh Ybpwlnpngnid dhwany d3
widnpwuwynpywd pbnnuny B20 , F200,hdhe.=15ul, 45 87060 391770

wdpwh wwpniiwynienup 10 Alll=221.74q:




Alll @10du/mm tnb 0,2217 734950 162938

4U50+710.0 Uhwény) pbunntb Ybpht hbbwwwin wehg,

L=32.0.0d, hdhe.=1.24
1 Cbuwwwinh bpbiuh dwppnud gpntuinhg dkinpny, pwpdnu u3

wiunnhbplwpwih 3,5 1970 6895
2 pwpdnud dinpny wytnnhupuwewih b ibnuihnfunud wninl

[gwynywn 74d hbnwdnpnue)wi yYpw 6,125 1090 paie
3 CEuwwwwnh Epluwjupny fupwdninne thnpnud dknpnd, d3

apniinh Ynyunwdnpnud 8 5030 g 220
4 pwpdnud dbinpny wywnhupuwpwih b inbnwthnfund wnnt

[gwynyun 74d hbnwynpniejwt Jpw 4,68 1030 o
5 | <hku ubi d dhwd Lwinuiny, B20, u3

F]O;mwmh funnnsbiph |pwgnud dhwény| plivinuny 12 63710 76459
6 Cbuwwwinh hpwund hnphgnuwlwt hnpwwnwiigpbiph hwwn

hnpwunnud quyihntidwili dhgngny L=0.24, d=0.03d: 4 Lisle —
7 CEbwwwuh hpwunu ninnwhwywg hnpwinwgptiph hwun

hnpwwnnd quyhynudw Jhengny L=0.24d, d=0.034: 64 1030 65920
8 CEbwwwwnh hpwunud wnnwwwnb fuwphufuubph @16 Alll wnnu

wwwnpwuwnnd b inbnunpnut L=0.324: 0,071 822060 58366
9 Chuwwwwnh hpwuh depwunpngmd dhwany) d3

wdpwbwynpywd phnnting B20 , F200,hdhg.=15ud, 8,16 87060 710410

wdpwuh wwpniiwlnipyntup @10 Alll=402.02lq:

Alll $10d0/mm uinl 0,4022 734940 295593
10| <Bbwwwwnh wébgdwl hwdwn hbuwwwinh Ypw dhwany| d3

phwnth hpwlywbwgnd, suih' 0.4x0.5x324: 6.4 72710 202344

4d50+724.0 Uhwény| paunnubi Ubppht hbwwwin

dwluhg, L=11.0d, hdhg.=2.24
1 <bu ubi d dhwa twnnting, B20, d3

F1OOU;JU4UJth funnnsutiph jpwgnud Shwany| phiinnting, 15 63710 95565
2 <kl b u d d &b , d3

wwwinh Epluwiupny fupwdninne thnpnud dkinpny 3 5090 15270

gpntinh Ynyunwynpned
3 30% pwpéinud &tinpny wywnnhtpwpwth U nknwihnfunud wnnu

[gwynywn 74d hnwynpnupjw Jpw 1133y 183 Lokl LI
4 Cbuwwwiinh hpwunud hnphgnuwlwl hnpwinwtgptiph hwun

hnpuwwnnud quiphynudwt dhgngny L=0.24, d=0.034 0 [200 o200
5 Cbuwuwwinh hpwund ninnwhwjwg hnpwnwugpbph hwn

hnpwunnud quighlnudwl dhengny L=0.24, d=0.030: Sd 1030 g2l
6 Cuwwwinh hpwunud wnnwwnt fuwphufutibph ®16 Alll tnnl

wwinpwuwnnd b nbnwnpnd L=0.324: 0,0465 822060 38226
7 {Guwwwwnh hpwth Jepwunpngnud dhwanyg u3

wdpwbwynpywd phwnnunyg B20 , F200,hdhg.=15ud, 4,46 87060 388288

wdpwUh wwpmUwlnipyntup @10 Alli=219.484g:

Alll @1000/mm nnl 0,21948 734940 161305
8 Swdwpnipnuihtt 100 Jd wnjhkphibuwhu qd.u

unnnuuwlip 2 2580 5160
9 CBbwuwuwnh Jpw dhwdny) phunnbb hpwlwbwgnud B20 d3

F200° hwiwhwpplignuiny, 1,82 72710 132332

Qunp' 0.3x0.55, L=11.04,
10| <bbwwwwnh Ypw wwpwwbinh hpwlwwgnd Shwany qs.d

Guinuny, swih 3.4x0.6x0.44 (Shwany| nkwnnub

; iz Hi il 10,2 28410 289782

wwpwwbunh pinlubiph dhol hbnwynpnieyniup punniuby
0.44)-3 hwuwn:




4d50+773.0 Uhwény| plitnntit ybipht httwuwywin wehg,
L=60.0d, hdhg.=2.54

LEbuwwwinh bpbuh dwppnud gpniuinhg dknpnd, pupanud
wywninhupuwpwth 1133y

u3

2,5

1970

4925

pwpénud dtinpny winnhupbwpwth b nbnuidhnfunud
19wynywn 7Yd hinwynpnuywl Jpw 1133y

wnnu

4,375

1090

4769

CbEbwwwwinh bpywjupnd upwdninne dinpnud dbnpny,
gpniuinh Ynywwynpnud

u3

5090

76350

30% pwpdnui kinpny wywnnhtiptwpewih W ntnwinfunud
gwynywn 74d hbnwydnpnuzgwl Ypw 11334

wnnl

8,775

1090

9565

CEbwwwwnh funnngubiph (nwignid Jhwdny) pinnuing, B20,
F100:

d3

1,2

63710

76452

CEbwwwinh hpwunut hnphgnuwlwu hnpwwnwgpbiph
hnpwwnnut quiphlntdwu dhongny L=0.24, d=0.034

hwwn

300

1300

390000

CEuwuuwinh hpwtnud wnnuwwnb fuwphufulibph 16 Alll
wuwwpwuinnd b inbqunpnud L=0.324:

wnnu

0,1516

739850

112161

Swdwpnipnwiht ¢100 Jd wnihtphtbwht
funnnduiiun

gqd.d

26,4

2320

61248

CEbwuwwinh hpwth Ybpwunpngnud dhwany
wdpwlwinpyws plennunyg B20 , F200,hdhg.=15ud,
wdnpwuh wwpniiwynentup 10 AHI=1108.5q:

d3

22,5

78350

1762875

Alll @10d00/mm

nnu

1,1085

734940

814681

CEuwuwinh dpw dpwényg pinntb hpwywtwgnd 820 ,
F200" hwdwhwpprignudny, 2uwih' 0.1x0.55, L=604,

d3

3,3

72710

239943

4d50+818.0 Uhwany| pbinnub ubinpht hbbwwwun dwiuhg,
L=19.0d, hdhg.=1.0d

Chuwwwwinh funnngubiph (puignid Jhwany| phiinuing, B20,
F100:

d3

1,2

63710

76452

CEbwwwinh Gplwjupnd fupwdninn thnpnud dbnpny,
gpnwuinh Ynywnwynpnud

u3

4,75

5090

24178

30% pwpénud dbnpny wyninpuptiwpwih b wnbnuithnfunud
[gwlnywn 7Yd hnwydnpnuejwl Ypw 11334

uinl

2,77875

1090

3029

CEbuwwwwnh hpwunw hnphgnuwlwl hnpwwnwbigpbiph
hnpwinnud quijhyntudw Jhongny L=0.24, d=0.034:

hwn

38

1300

49400

<Bbwuwwnh hpwund wnnwwint fuwphutuubph @16 Alll
wwinpwuwnnd b inbnwnpnud L=0.324:

wnnlu

0,0192

822060

15784

CGuwwwnh hpwh Jepwunpngnud dhwany
wdpwuwdnpywd phuinnunyg B20 , F200,hdhg.=15ud,
wdpwih wwpnibwyniegniup @10 Alll=140.414q:

d3

2,85

87060

248121

Alll @10dU/mm

wnnb

0,14041

734940

103193

<Ebwwwinh Ypw dhwédny) pivinub hpwlwtwgnul B20 ,
F200" hwiwhwprbgnuiny,
Quup' 0.1x0.55, L=19d

d3

1,04

72710

75618

450+826.7 Uhwdéiny| pnnlb Ubippht hbbwwwn wehg,
L=50.0d, hih9.=3.84

Cbuwwuwinh funnngubiph (pwgnud dhwany) ptnnuny, B20,
F100:

u3

1,8

63710

114678

Cuwwuwnh Jepwunpngnd gbd.wdwquiht gwnwluny
huhg.=6ud’ bwhiwwbu dEnwnwlwu gwugh
wbnunpnuind, (100x100)dd @4 Bp- |, P=0.3761n:

u2

190

6480

1231200

Cbuwwuwinh hpwnud nipnwhwjwg hnpwwnwlgpbiph
hnpwwnnud quyhynudwl dhongny L=0.24, d=0.034:

hwuwn

198

1030

203940




LEuwwwunh hpwunwd wnnuwwnb fluwphututiph @16 Alll
wuwwpwunnd b inbnuinpnud L=0.324:

wnnu

0,

822060

82206

Swdwpnipnuyhtt ¢100 0 wnjhkehtuwhu
tunnnyuljubip

qd.d

21,6

2580

55728

CEbwwwinh Ypw wwpwwybnh hpwlwbwgnud dhwany
pbwinuny, swith 4.0x0.6x0.4d (dhwany| piunub
wwpwuwbinh pinlutiph dhele hinwynpnieyniup punniut
0.64)11 hwn

qdd

44

28270

1243880

4d50+877.5 Uhwany| phinnub guwbwwwin dwiuhg,
.=60.04, huhe.=0.84

CBuwwwunh Jbpwbinpngnud dhwény) pivinub gwuhlyny'
huhg.=10.0ud’ bwhiwwbu dEwnwnwlywl gwugh
wnbinwnpnuing, (50x50)Jd @4 Bp- |, P=0.19wn:

u3

4,8

87060

417888

guwlg 50x504d

a2

48

3230

155040

4U50+896.8 Uhwdny( phiinnub Ubppht hbbwwwin wehg,
L=58.0d, huhg.=2.84

Cbuwuwuwnh funnngubiph (pugnuf dhwanuy; pnnunyg, B20,
F100:

d3

5,5

63710

350405

Swdwpnipnuwiht 100 dd wnjhkehblwhu
funnnywljubp

gqé.d

21

2580

54180

Chbwwwwinh uygphg L=46.04 hwindwéh Ybpwunpngnid
gbd.wywquiht gwnwiuny hihg.=6ud’ Uwhiwutu
dbinwnwlwl gwugh nbnwnpnuind, (100x100)dd @4 Bp- I,
P=0.255u:

u2

128,8

6480

834624

Chuwwwinh Jbpghg L=12.0d hwuinwsnwd htbwwwnh

Gnpywupny fupwdninne thnpnud dknpny, gpntiinh
Ynywvwynpnud

u3

5090

15270

30% pwpénud dknpny wynnhptiwpwih b tnbnuihnfunud
[gwynywn 74d hbnwynpnueywt Ypw 1133y

wnnu

1,755

1090

1913

<buwwwinh Jtipghg L=12.0d hwwndwénid hbuwwwinh
ppwunwt hnphqnwlwt hnpwwnwugptiph hnpwinnid
quyhlynbdwl dhgngny L=0.2d, d=0.034:

hwwn

60

1300

78000

L=12.0d hwundwoénud htbwwwinh hpwunud wynnuwink
fuwphututtiph @16 Al wwinpwuwnnd W wnbnunpnd
L=0.324:

winu

0,03

822060

24662

CEuwuwnh dbipghg L=12.0d, h=2.0d hwwnywsdnud
hBuwwwnh hpwh Yepwunpngnd dhuwdny;
wdpwbwynpyws ptnnung B20 , F200, hihg.=20ud,
wdpwlh wwpniwlnygyntup @10 Alll=221.04q

u3

87060

522360

Alll @10Jd/mm

nnl

0,221

734940

162422

<bbwuwwwnh gtipghg L=12.0d hbbwwwinh hpwnu
ninnwhwjwg hnpwwnwtgpbph hnpwwnud quyhynudwl
dhongny L=0.2d, d=0.034:

hwwn

46

1030

47380

10

<Ebwwwinh Ytipghg L=12.0d hbuwwwwnh ppwtnud
wnnuuwint fuwphututttph 16 Al wwnpwownmd b
nbnunpnud L=0.324:

wunnl

0,023

822060

18907

1

Cuwuwwwnh Jtipghg L=12.0d hbwwwwh Ypw
wwpwubinh hpwhwiwgnud dhwany) phnnuny,
swih 3.6x0.6x0.44 (Jhwadny) phinnub wwpwwbnh
pinbutph dhol hinwynpnueiniup punniuby 0.64):-3

qdJ

10,8

28340

306072

4U50+940.0 Uhwany| pinntb Ubppht hbbwwjwn wehg,
L=38.04, hdhg.=2.54




Lbuwwwwnh funangubiph ipwgnd dhwény) ptivinuny, B20,
F100:

d3

2,5

63710

159275

Cuwwwwnh Bphuyupny tupwdninne hinpnud &kingnd,
gpnibinh Ynywwynpnid

d3

5090

7635

30% pwpénui 8bnpny wywnnhbptwpwih b inkqwthnfun
[Qwynywn 7yd hbinwydnpnueyut Ypw 11334

innl

0,8775

1090

956

CEbwwwwnh hpwnut hnphqnuwlwl hapwwnwtgpbph
hnpwwnnud quithyntdwt Jhgngny L=0.2d, d=0.034:

hwn

190

1030

195700

<Ebwwwinh hpwtinud wnnujwint uwphututibph @16 Alll
wwinpwuwnnd b inbnwnpnd L=0.324:

wnnt

0,045

822060

36993

Swdwpnipnuight 8100 Jd wnihbphibuwht
funnniwlutin

q6.d

13

2058

26754

<Bbwwunnh hpwuh ybpwunpngnud dhwany)
wdpwuwynpywd pbinnuny B20 , F200, h=15ud, wipwuh
wwpniiwyniegnup @10 Alll=842.5q

u3

17,1

87060

1488726

Alll @1000/mm

wnnu

0,8425

734940

619187

Cbuwwwinh Jbpgnid £=23.0d hwndwlunid hibwwwinh
ppwuh pw ninnwhwjwg hnpwnwugpbph hnpwwnnud
qujhynudwl dhgngny L=0.2d, d=0.03d:

hwuwn

46

1030

47380

LEbwwwinh hpwund wnnuwwnb fuwphufultiph @16 Alll
wwwnpwuwnnid b inbnuinpny L=0.324:

innl

0,023

822060

18907

LEbwwwuinh Ypw wwpwwbnh hpwlwbwgnud dhwéng
phwnnuny, swih 4.0x0.6x0.4d (Jhwany) phuinnub
wwpwwtnh pinubph dhele hbnwynpnuejniip puinnitls
0.64):-5 hunn

gd.d

19,2

30630

588096

4d51+000 Uhwény) pbunnub Yapht hbbwwwwn dwiuhg,
L=76.0d, hdhg.=2.84

CEuwuwwnh Jepwnpngnud gbd.wdwquiht gwnwiuny
huihg.=5ul’ bwtuwwbu diinwnulywl gwugh
wnkinwnpnuiny, (100x100)Jd B4 Bp- |, P=0.421wn:

g2

212,8

6020

1281056

Swdwpnipnuihtt ¢100 Jd wn|hkphEuwht
funnnyulyubip

qd.u

15

2580

38700

4u51+063.0 B1.5d b/p funnnywly, dnunpp dwhuhg

0

Funnadwlh dnunph L Bph Jwppnud gpniiinhg 0.6543
2biptthny Epulwdwinpny, pwpdnud wywnnhplwpwih

U3

560

wnbnwihnfunad |gwlnywnn 7Y4d hen Jpw

uinu

700

runanyuwlih dhgh dwppnut qpniiinhg &binpny,
Ynywrwynpnud 133y

u3

1970

o |[Oof O

pwpénud wywnnhuptwpwih b nbnwthnfund |gwlnywn 744
hinwynpnipiwl Ypw 11334

nnl

1090

Ununpnud L bipnud qifuwdwubph hpwlwbwgdw hwidwn

thnunpwlh thnpnud 0.6543 gbiptithny Epulwwuninpny,
gpniinh wwhbuwnwynpmd (V(106)

d3

670

glfuwdwubph hpwywbwgdwl hwdwp
bwhwwwwnpwuwnwlwu 2bpwn fung

u3

13750

Ununpnud U Gipnud dhwdny) pbnntb qifuwdwubiph
hpwlwbwgnud B20, F100, swih 3.8x3.4x0.44

d3

105850

LEwnwnwnd thgp Fpulwywinnpny/0.65d3/,9pnuing L
funwgdwidp

u3

1220

4151+074.0 Uhwdny| pbinnub Jbpht hibwwwn dwluhg,
L=12.0d, hdhg.=2.0d




1 CGbwwwinh Bphuupny fupwdmnne thnpnud dknpnd, u3
gpntuinh Ynyunwnpned . 5090 LB
2 <Gbwuwinh Bpyuypny fupwdninnt tinpawd dbnpnd, wnnu
gnntuwnh Ynywnwydnpnud, 30% pwpdnwd wduninhupbwpewih 1,755 1090 1913
W inbnwithnfund (gulnywn 7yd hbn. Jpw:
3 CEuwwwinh tunnngubiph |pwgnud, bgpeph nuinanut dhwéngyg d3
plnnung, B20, F100: 2,5 63710 159275
4 <Buwwwnh hpwund hnphgnbwwl hnpunwtgpbiph hwwn
hnpwnnud quythynudwu dhgngny L=0.2d, d=0.034: <3 L200 SPzly
5 CGbwwwinh ppwtinyd wnnwwiinb fuwphufutph 16 Alll wnnu
wwwnpwuwnnd b inbnunpnd L=0.324d: 0,025 2RI 20552
6 Swdwpnipnuyhtt #9100 0§ wnipbphituuwht qd.d
funnnyulutp 4 2580 10320
7 <bbwwwinh hpwh Jbpwinpngnud dhwdny u3
wdpwbwynpws phunnunyg B20 , F200,hdhg.=15ud,
wdpwth wwpntuwlnueggniup @10 All=221.7Yq 45 87060 391770
Alll @1000/mm wnnu 0,2217 734940 162936
8 Chbwwwinh dpw dhwdény) pbunnub hpwlwlwgnd B20 , u3
F200" hwiwhwnpebigniind, 2wt 0.15%0.50, L=124, 0.9 72710 65439
4d51+107.0 Uhwdny| phinnub Jepht hBuwwwn dwluhg,
L=39.0d, hdhe.=1.0d
1 CEuwwwnh dEpwunpngnud gbd.wywquiht swnwiuny d2
hihg.=5ud’ bwhiwwbu Jhnwnwyuwl guiigh 39 6020 234780
tnbinwnpnuiny, (100x100)Jd @4 Bp- |, P=0.0772wn
2 bbwwwinh Ypw dhwdny) phinnbb hpwywuwgnu B20 , d3
F200" huwhuwnpbignwing, 2w’ 0.2x0.54, L=394, 3.9 72710 QUkal
4d 51+142.0 Lnp Jbpht hbbwwwn &wiuhg L=20.04,
h=2.0d
1 Lnp hEbwwwinh Juwnngdwu hwdwnp gnjngenit niiignn d3
phwnnth (hEUwwwinh) Ywgdwinnd wulidwgnpshpny 10,5 26780 281190
2 wnbnwihnfunud |gulynywn 7.04d ninl 25,2 700 17640
3 V10 gpniiinh dywlynud Epulwdwinnpnd/0.65%, pwpanid u3
w/hupliwewihtph Ypw 52,9 820 43378
4 nbnwihnfunud lguynywn 7.04d wnnu 103,155 700 72209
5 Lnylp wibinnud nunwynuind, hinwnwpd |hgph hwdwn d3 84,1 490 41209
6 ®nunpwlp Yepguwdawynid dbingny d3 245 6040 147980
7 Ujwquynwbuwihl obpuin h=10ud u3 6,9 6300 43470
8 | <ku tinh hphdpk u d dhws d3
wwwnbiph hhdpbiph hpwlwtiwgnd dhwény| 28 64000 1762000
pkiinnthg B20
9 | &ku uub; U Jd B20 pbuinu d3
hahnuLeehRhnuhgn: pounting 2 65870 1580880
10 | Hdnpdwghnt bwpbph hpwlwiwgn 2 9bipun u2
nniptipnpnny phuinudh Jwdnyny (d=2,0ud) 52 9830 26
11| SGpnwwnh hbin pthynn dwlbplinyputiph 9pwitynwgnid U2
bplygbnun uvwp phunuding 91,2 1250 114000
12 | Swdwpnipnh ppwlwtwgnud qd.d 20 8610 172200
13 | Swdwpnipnwiht ¢100 dU wnjpkphibtwh qd.d
hunnnyulltip 7,6 2580 19608
14 | <k & 0.65d3/,9pnudny L d3
pgeihaR ledludunnnnnuy/0. 65U/, gnnudni| 108,6 1220 132492

futnwgdwdp

4U51+216.7 Uhwdny| pbuinub Jbipht hbbwwwin dwfuhg,




Swdwpnipnught ¢t100 JJ wnjhkehbuwhu
funnnduwiljubn

qd.d

2580

20640

CEuwwwinh funnngubiph |pwgnut dhwany) pbnnuing, B20,
F100:

u3

2,5

63710

159275

Chbwwwnh Jepwunpngnud ghdwlwquyht gwnwluny
huhe.=6ul’ Uwhiwuwbu JEnwnwlwt gulgh
wnbnwnpnuiny, (100x100)dd @4 Bp- |, P=0.193wn:

u2

97,5

6480

631800

CEuwwwinh Ypw dhwdny| plnnbb hpwiwlwgnud B20 ,
F200' hwdwhwppbgnung, 2w’ 0.1x0.54, L=394,

U3

1,95

72710

141785

4d51+377.5 Uhwdény| pbunnbl gwiwwwwn dwiuhg,
L=67.0d, hdhg.=1.7d/

Awnh YEpwinpngnud gbd.wlwquht swnwiuny
hihg.=5ulf’ bwiuwwbu JEnwnwlwl guugh
wnbnwnpnwiny, (100x100)dd @4 Bp- |, P=0.238wn:

u2

13,9

6020

685678

4d51+430.0 Uhwény) pbnnub gwulywwwn dwfuhg,
L=26.94, hdhg.=1.54

Munnh Ytpwunpngnud ghd.wdwquiht gwnwuny
huhg.=5ull’ bwhiwwbu JErnwnwlwl gwugh
wnbinwnpnuind, (100x100)Jd @4 Bp- |, P=0.08wn:

u2

40,35

6020

242907

4d51+460.0 Rwpwjhl Jwpdwdpny gwllywwwin dwiuhg,
L=26.24, hdhg.=2.5d

Muwuwh Japwunpngnud gbd.wdwquihl swnwiuny
huhg.=5ud’ bwhuwwtiu JEnwnwlwl gwugh
wnbnwnpnuiny, (100x100)dd @4 Bp- 1, P=0.13.n:

u2

65,5

6020

394310

bd 51+567.0 Unp dbpht hbwwwn dwfuhg L=30.04,
h=4.04

Unp hbbwwwwnh Ywnnigdwl hwdwp gnynuyegnit niubignn
hwlwpnyh pliwnbh wwububph Yuwgqdwinnu Sun pbntiw
pwpénnniejuwdp huplwqlwg uwpwinp wdpwpdhsny;:
Ubpwnwpd ubthwlwbwwnhpnep:

d3

15,08

19540

294728

PEwnub wwtbubph nhdwghg whnwwwnb Epluwpbiph
(N10) wwwintinwdnud 5un phintw pwpdnnniejwdp
huptwqbwg uwpwynp wdpwpdhsny: Ybpwnwpd
ubthwlwuwnhpnen:

nnu

0,3135

34880

10935

V10 gpniiinh dywlnud bpulwiwnnpny/0.65%, pwpdnd
w/huplwpwihtiph Ypw

u3

124

820

101680

wnbnwdinfund lgulynyin 7.04d

unl

241,8

700

169260

Lnyup wbinnud Ynunwlynwing, hbwwnwpd |hgph hwdwp

u3

519,5

490

254555

Pnunpwih Yepsuwdzwlynud dbnpny
LopaboTka epyuHto

d3

71

6040

428840

Ujwqulynwybwjht obpnn Jupbiph vwly h=10ud
MNecuaHo-rpasuiinbiii nogroTtoButensHbIi cnoii h=10cm

d3

14,5

6300

91350

CEbwwwwnbph hhdpbiph hpwywuwgnd dhwdny
phwnuhg B20

u3

110,4

64000

7065600

{Ebwwwinh  hpwttbph hpwlwlwgnd B20 phinintpg

u3

121,5

65870

8003205

Hbnpdwghnt Yupbph hpwlwbwgnid 2 pbpun
nnipipnhnny phuinndh dwéniyny (d=2,0ud)

u2

15,5

9830

152365

Spnuinh hbwn 2thynn dwlbplinyputiph gpwityniwgnid
Enyotpwn twp phunwing

u2

258,5

1250

323125

Swdwpnipnh  ppwlwbiwgnid

gd.d

30

8860

265800

Swdwpnipnuihti ¢100 dd wnhkrhtbwhu
funnndwlubp

qb.d

22,8

2580

58824




14 | <hnwnwpd (hgp bpulwywinnpny/0.6503/,9pndny L u3
huunwguwdp 590,5 1220 720410
4uU51+785 §1.5d b/p funnndwl, dnunpp dwuhg
1 funnnywlh dnunpp b Gph dwppnud gpnituinhg 0.6543 u3
2bptithny Epulwywiinpny, pwpdnid wiwnnhuptwpuiy/ 6.5 el 2680
2 wnbnwihnfunu lgulnyn 7.04d wnnu 11,375 700 7963
3 funnnquwlh dhoh dwppnud gpatiinhg dkinpnd, U3
Ynywwdnpned 1133y/ 25 P §225
4 pwpénul dtnpny wyinnhuptwpwih b nbnwihnfund winl
[gwlnywn 74d hnwynpnyejwt Ypw 1133y 4,375 (el /R
5 Ununpnud b bpnud qiiuwdwubph hpwlwbiwgdwl hwdwn d3
hwdwp thnunpwlubiph thnpnud 0.6543 gkpbithnyg 6,5 390 2535
Epuljwywinnpny, apniunh wwhbunwynpnu
6 gllvwdwubph hpwlwlwgdwl hwdwn d3
Lwhiwwwinpwunwlwl sbpun ubny: oL |70 8220
7 phwnnub qluwdwubph hpwlwuwgnd B20, F100 u3 6,8 105850 719780
7* hEuwlwiht wwwdh dhwdny| phnnt B20 d3 1,0 77950 77950
< .65d3 d d3
8 Gunwnuwpé (hgp bpuliwdwinnpny/0.65d3/,9pnidny L 6.5 990 6435
funwgdwdp
Li52+180 B0.7d &/p funnnywl, dnunpp dwfuhg
1 funnnywlh dnunph U Bph dwppnud gpnitiinhg 0.6543 u3 15 560 840
2tptthny Epulwiduwinpnd, pwpénud wyunnhtpliwpewih :
2 wnbnwihnfunud (gulnywnn 74d hbn. Jpw wnnl 2,625 700 1838
3 Ununph b biph pwjpwyywd phnnbb quwdwutiph d3
Ywagdwwnnud wubdwgnpdhpny, pwpanud 45 26780 120510
wywnhupwpwih 0.6543 2bptithny Lpulwywwnnpny
4 wnbinwihnfunud gulnyn 74d hbn. Jpw nnl 10,8 700 7560
5 Ununpnud U bipnd qluwdwubph hpwlwbiwgdwt hwdwp d3
hwdwp thnunpwlubiph thnpnud 0.6543 stipbding 4.8 390 1872
Foulwywuinnpny, gpniuinh wwhbunwynpnud
6 gluwdwubph hpwhwbwgdwl hwdwp u3
bwhiwwwinpwutnwlwu 2bpwn tung 0,55 220 B
7 phinnbb qiluwdwubiph hpwywbwgnud 820, F100, d3 3,3 105850 349305
7* hbbwluwyht wunwdh dhwany| phwnnt B20 d3 1,0 77950 77950
8 Chwnwnuwné (hgp bpuljwluwnnpnd/0.65d3/,9pnuing U U3 48 990 4752
futnwgdwdp
4d53+730.0 2.0x2.0d ninnuitlynit b/p funnnyuwly,
dnunpp dwiuhg
1 funnndwyh dnunpnid inbnwnpywd hwywpndh pinljutiph d3
Yuptiph (pwignud gbd.wdwquiht swnwfuny M200: 0.1 _— 202
2 5iph dwlu wwh gnjnuein nitbignn puypwydws phitnnub u3
U Yuadwunnud wubidwanpdhpnd, pbiynputiph pwpsnud 3,8 26780 101764
wywinnhuptiwpwih 0.65d3 sbptthny tpulwywinnpny
3 wnbnuihnfunud igwlynywn 74d hbn Ypw wnnl 9,12 700 6384
4 Sipnud Unp pUbph hpwhwbwgdwt hwdwp hnunpwlutph u3
thnpnud 0.65d3 gtiptthny Epulwywwnnpnd, 30% qpnilinh
pwpénud wynnhuplwpwth 1,35 820 107
5 b d 74d hts u
nbnwihnfunud |gulynyen 74 n. Jpw nn 26325 700 1843
6 | Unyup wnbnnud dny, hb & hwd u3
nytp wnbnnwd Ynunwlnuing, hbunwnwpd |hgph hwdwp/ 3.15 490 1544




7 Biph pUbph hhdptiph hpwlwuwgdwy hwdwp u3
Uwhiwwwinpwuwnwlwl 2tipun fuény: / 0,92 13750 i
8 |b ubph hhdpb u d dphwad twnund, d3
le%h rUbph hhdptiph hpwwbwgnud dhwdny) phnntng 6.3 64000 403200
9 |b Lk uut; u d dhwd Gwinund, d3
Bé%h I;zonh hpwlittiph hpwyuwtiwgnud dhwany| phunung 6.38 65870 420051
10| Gpnud giluwnhph hpwlwbwgnu! dhwany pbuntng B20, d3
F100,suith'2.8x0.6x0.44: 0672 65870 20
11 Ununpnud gnjnigynit niiignn plibiph U qifuwinhph d3
funnngutiph |pwignid dhwény) ptininung B20, F100: 0.7 L= ekl
12 | <k & 0.65d3/,9pnuiny L d3
hm”'w“;?;:";p UropitRdi nnrpny rnnuing 3,15 1016 3200
13 | Ununph gnjnipynit niitignn plitnnbit plitinh U qifuwnhph u2
Jepwunpngnud gbd.wdwquiht gwnuwtuny M200, h=6ud
Uwhiwwbu dbnwnwlwl gwgh nbnwnpnwing, (50x50)du 25 8230 205750
@4 Bp- 1, P=0,09%:
14| Lwhpwwinbudndd | unnndwlh dbg hpwlwbwgty dhwdny; d3
phivinub jwwiny B20, F200, h=10ud’ funnnywlh hwinwlu 7.5 54320 407400
wdpwgubnt buywunwyny:
15 | tunnndwlih L=23.0d dhwany| pEnnbb hwindwsnid d3
funnnsubiph |nwgnud Jhwany ptiinnting B20, F100: 0.5 63710 31855
16 | Uhwany plivinub wdlh uwh ubppht Jwibpunyph J2
Jtipwunpngnud gbd.wywquiht gwnwfuny M200, h=0.054,
wnplypbinwgnuiny’ bwhiwwbu dEnwnwlwt guwgh 57,5 6800 391000
tnbwnnpnuing, (50x50)dd 4 Bp- |, P=0,228n:
(50x50)dd @4 Bp- |, P=0,228n: 2 57,5 3490 200675
171 Uhwdny| pbunnlb hbbwpwubbph Jbpwtnpngmd
gbd.wywquyht JwnuwiunyM200, h=0.05d" bwfuwubu
dhnwnulwl gulgh wkwnnpnwing, (100x100)dd G4 Bp- |, U2 ns 6020 692300
P=0,228n:
18 | 5ppnud hnwuh dbg puipuwyht |hgph hpwlwliwgnu d<0.3d: d3 3 6030 18090
19* | bpnul plivinub qifuwdwuh hpwlwlwgnud B20, F100, u3 2,0 65875 131750
20" | hbbwluyht wuinwdh Jhwany pinnt B20 d3 0,5 77950 38975
41U53+780.0 @1.54 b/p funnnywyy, dnunpp dwluhg
1 funnnyuwyh dnunph b Giph dwppnud qpniiinhg 0.6543 u3 6 6 3360
2tiptthny Epulwyuwinnpny, pwpdnud huptiwpwy Y
2 nbnwihnfunud igulinywn 74d htn. Jpw wnnl 10,5 700 7350
3 tunnnquwlh dheh dwppnid gpniiinhg dtinpny, u3
Gnyunwnpnud, 1334/ 2 XY 3940
4 puwpdnud dtnpny wywnnhuptwpwih b whnwihntunad wnb
(gwynywn 74d hEnwynpniejwl Ypw 1133y/ 35 Hole ELIE
5 Ununpnud gifuwdwuh hpwlwliugdwt hwdwp thnunpwyh d3
thnpnud 0.65d3 2tpkithny tpulwywinnpny, gpnitnh 6,5 670 4355
wwhbuwnwynpnud 1IV(106)"/
6 gluwdwuh hpwlwuwgdwt hwdwp d3
Lwhiwwwinpwunwlywl 2bipu fubny: 06 (5720 8250
7 pbwnnub qluwdwubph hpwwlwgnu B20, F100, a3 6,3 105850 666855
7* | hEbwlhwjht winwdh dhwény| pbinnu B20 u3 1,0 77950 77950
8 |4k & /0.65d3/,9pnuiny L u3
h,m”’wu;?;:r&p bhgg FRUHANnOl f.gnnuiny 6,5 1220 7930
4U54+280 @1.54 b/p funnndwly, Ununpp Swluhg
1 funnnyulih dnunph b biph dwppnid gpniitnhg 0.6503 d3 1 560 560

2tpbhny Epuljwywinnpnd, pwpanwt huplwpuidy




2 wnbinwthntunwd \guiljnywn 74d hbn. Ypw wnnu 1,75 700 1225
3 Ununph b biph pwpwht swpdwdpny gifuwdwubph d3
Ywadwinnud wulidwgnpdhpny, pwpdnud wyunnhuptwpwth
0.654d3 ztipbihny tpuljwduwinnpny b wbnwithnfund 6,5 17680 14920
[gwlnyw 544 hbn, Jpw:
4 Ununpnud qluwdwuh hpwlwbwgdwt hwdwp thnunpwlyh u3
thnpnu 0.65d3 2tipbithny Epulwywinnpny, gpntbinh 6,5 670 4355
wwhbuwnwynpnud 1V(106)Y/
5 glluwdwuh hpwlwlwgdwt hwdwp u3
Lwhwwwnpwunwlwl obipw fuény: / 0.6 LEXEY 8250
6 phwnub qluwdwubph hpwlwbwgnud B20, F100, u3 2,8 105850 296380
6" | htbwlwiht wwnwdh Jhwany| pbinnt B20 Jd3 1,0 77950 77950
7 Cbwnwnuwiné (hgp Epulwywinnpny/0.6543/,9pnuwiny u3
fuunwgiwdp 6,5 1220 7930
Lu54+755 @1.5d b/p funnnywl, dnunpp dwfuhg
1 funnnyuwlh dnunph b Biph dwppnud gpnitiinhg 0.6543 a3 560 560
2bpbithny Epulwduwuinnpny, pwpanud huplwpuith, 1 6
2 wnbnwihnfunid (gwlnyun 7Y4d hbn, Jpw tnnl 1,75 700 1225
3 Ununph b Giph pwjpwydwd phnnbb qiluwdwubph d3
Yuquwwnnud wubidwagnpdhpnd, pupdnud wywnnpliptiwpwth
0.65d3 gliptithny bpulwywwnnpny b inbinwihnfunud 4,5 26780 120510
[gulnywn 74d hbn. pu:
4 Ununpnud gluwdwuh hpwlwbwgdwt hwdwp thnunpwlh d3
thnpnud 0.6543 ztipbithny Epulywdwnnpnd, gpniunh 6,5 670 4355
wwhbuwnwdnpnwd IV(10k)'
5 gluwdwuh hpwywbwgdwt hwdwp u3
bwhiwwwwnpwunwlwl gbpwn jubny: 0.6 12720 el
6 phiinnub qluwdwutiph hpwlywuwgnud B20, F100, d3 3 105850 317550
6" | hEuwywipt wnwdh Jhwadny| pinn B20 d3 1,0 77950 77950
0.6543/, L d
7 Chnwnwpd (hgp tpulwywuiinpnyd/0.65d3/,9pnuiny 3 6.5 1220 7930
funwgdwdp /
4d54+995.0 @1.04 b/p funnnywl, dnunpp dwfuhg
1 funnnywyh dnunph U Gph dwppnud gpniinhg 0.65d3 d3 0 560 0
2Gnptthny Epulwdwinnpny, pwpdnud huglwpwyy
2 wbnwhnfunud lgulnywn 7Yd hbin Jpw:/ wnnl 0 700 0
3 Ununph U Giph pwjpwjdwsd phunnub guwdwubph u3
Yuqdwwnnud wulidwgnpdhpnd, pupdnd wdinnhupliwpwih
0.6503 2tipbihny kpuljwywinnpny L wbnwthnfund 0 26780 0
[gulnywn 74d hbn. pu:
4 Ununpnud giuwdwuh hpwlwuwgdwt hwdwn thnunpwyh d3
thnpnud 0.65d3 ptipkithny Epuljwywinnpnd, gpnitinh 0 670 0
wwhbuwnwdnpnwd IV(106)Y/
5 glivwdwuh hpwlwbwgdwy hwdwp u3 13750 0
Lwhwwwinpuunwlwt obpwn fuény: / 0
6 pbnnub gluwdwubiph hpwywuwgnw B20, F100, d3 0 105850 0
7 <bwnwnwpd (hgp tpuljwdwinnpnd/0.654d3/,9pnwing L d3
futnwgdwdp /
0 1220 0

9.Cunwdbup

88439920




Ld 41+472.2 G/p Yudnipg

1 Bprublniepiniup Ywpquidnpnn Swbwwwphwiht bpwllibp/ huww
hEnwgw uwqdwunnwng b Jbpwnwnd 50%/ 15 30920 ResS0l
2 Ubinwnwlwt pwgphpltiph uwqdwinnud wyinngluny: wnnu
Ybpwnuwnd ubthwlwluwinhpngp: 0.36 pLlpil [L0H
3 fanhgpwiht Ywnnigywéph tiqph b/p Yuwqdwinnud d3
whliwgnpdhpny 8,9 31890 283821
4 Pwpdnud w/h 8binpny U nbnwithnfunud jgwljnywn 74d: tnnb 22,25 1090 24253
5 Epelbtilwiht dwup hGwywah Ywqdwwnnd qpbyntipnd, u3
Ynywnwdnpnwinyg: Pwpdnid hupliwpwth 0.6543 stipkithh 1,3 720 8136
nwpnnnipjwdp bpulwdwinnpny/
6 Stnwthnfunud lgwhnywn 74d/ wnnl 19,21 700 13447
7 Untnpnud L Bipnid hawsh dwppdwt U ninndwl
wpfuwwnwliptiip 0,65u3 tpuljwywinnpny: u3 214 820 J7588
8 Stnwthnfund lgwlnywn 74/ wnnl 4,73 700 29211
9 | fdubkph hhdpk ub d dhwad Gunntiny;: 3
nh hhdgbinh funnngtibinh (pugnut dhwany| phunnting d 3. 61580 197056
10 | faltiph unpnanu (50x5004 gwugny P=515q) M200 u2
gt gwnuifuny; 130 7760 1008800
1 <Guwpwubiph hhdpbiph tplwjupny fupwininhtbph
thnpdwt hnnwjht wptuwinwlpltip dtinpny' pwg
gpniinnud gpwhbinwgnidny - gph hnupp dhusl 3043 dw/ u3 7.4 9260 68524
12| <npwwnwgptiph hapwinnud (hnphqnlwljwt) d=404d hwtn
(L1=15ud), hbunwagw Ytpwunpngdwl bwwinwlyny/ el i1 305900
13 | <Buwpwitbiph hpwbtbipnud wnnwwwnb fjuwphufutbph 16 wnnl
Alll wuwinpwuwnnud b inbnuwnpnuwd/ 0,081 807700 Goe2
14 | Ppwbbbph ybpwunpngnud dhwany; wipwbwdnpws u3
pbtnnting, w.u. Alll=57,94q/u3 14,2 92610 1315062
w.w. Alll=57,94q/43 wninu 0,82218 699030 574728
15 | <Guwpwbiph gpniunh hbin gthynn Jwlbplnyeubph u2
puywodpwiht opwidbynuwgned/ 151 2 LS8
16 | fupwdninhbiph htiinjhgp dtnpny: Spnctinh wbnwnpnud d3
2bpunbipny U junwgnud wulidwunnthwny/ 5.2 20 UeLSHTa
17 | Cwppbgunn 2tpinh gbdbunwhl swnwlu wuywhphsubiph u3
pinltnh nwl H=2u/ 0,528 50610 26722
18 < U Gnwulniu u d dhwd Bwnu u3
nupwiht Enwlyniunt hpwlwtiwgnud dhwény| phinntihg 6.9 55540 383226
nwu B20/
19 | @n. Yuwnmnigywdpubinh unubidwihl gnwdbtilniuwgnid u2
bplygbinun hqnguwdny/ 128 7050 902400
uhs ok dhwa bunu B25 W6, H=4ud, u2
vz hwany Ay it 100 3790 379000
Swlig wdpwluyhl 100x100 Ju) @4 Bp-i U2 100 1780 178000
20 | wppbgunn 2bpinh ghdbbwnwhl ownwiu wbdwhphsubiph u3
pinknh wwly H=2ud/ 0,528 50610 26722
21 | Cwywpnyh b/p dwypbph pinlubph wwwnpwunn L huwwn
wbnwnpnud. Qi 71x140x299ud, pwyp - 1,75m: W, 8 324510 2596080
Al=94,144g/u3, AllI=130,0lg/u3:
22 Ednpd U ] u 4 o
&:E, ndwghnt Ywpbph hpwlwbwgnuy/ sedopmaymottsie g 20 42140 842800
23 | Uwbpwhwnhly w/p h=4ud U2 99,8 4190 418162
24 | Uwupwhwwnhl w/p h=3ud u2 102,4 3210 328704




25 | Mnnuuwuwnt puqphplbiph hpwlwbiwgnud-24g8.4, wnnu
ubpynuiny/ 0,5232 46440 24297
L63x63x6du/mm P=90.44q/kr qd.d 15,68 4660 73069
L50x50x5dd/mm gd.d
P=177.6 Lo/ur 47,04 3090 145354
L70x70x6Ju/mm qd.d
P=152Uq/nr 23,76 5350 127116
@12 L=110.881/m uint 0,0984 701430 69021
-5x50dd/mm P=4.8q/kr gé. 2,34 1760 4118
26 Uwjpbph dwupwhwuinhy w/pbnnt h=4ud u2 18 4290 77220
27 | fupwdninhtbiph dinpdwt hnnwiht woluwwnwlptbin 43
&tinpny Ygnpnudwt wuywhphgbph nbinwnpdw 1,65 1930 3185
hwdwp/I133y/
28 | UWjwqulnwtwiht bwhiwwwwnpwunnd Ygnpndwl u3
wuywhphsubph pinlph tiwl h=10ud 045 6300 2835
29 | <wywpnyh b/pbnnut wudwhphsubiph pinlubiph hwwn
wnbnwnpnud. Qwih. 15(50)x75x150ud, P=0,53u, w.y. = 4 68150 272600
83,15g/43
30 | Uujwhphsubiph nuinnwhuwjwg qdwuynud d2 19,6 810 15876
10.Cunwdbup 11311994
Xt Swbwwwphh whwdnpmd
O6ycTpoiicTBo goporu
Upqgbjwthwlyngliin
ub b d d.d
1 Lnp dbnwnuwlwb wpgbjwthwyngubph tnbnwnpn g 7943 22300 177106600
(d=4ddy/
U U ujniub h
2 C1 whwh wwuwhl wqrwlgwbwiht uniubph wn 759 5440 4090880
wnbinwnpnu/
Swlwwwphwjht Unp bpwlbbph nbqunpnid/ 0
Ubuinwnuwlwl unnnywly 57x3,004 qd.d 988,3 5460 5396118
pbwnnl B15 u3 31 47560 1474360
Lwhuwqgnipwgunn huwin 237 18960 4493520
Unwybnipjwl hwn 76 18960 1440960
Upgbinn hwuwn 16 18960 303360
Cwinnily phjwnpwuph hwin 18 18960 341280
Stntlwuwnyniewu hwtn 20 15510 310200
Spelbyth dwuh Lywgdnd , |nwwunpwnundhs
qunhlubiph oqunwagnpédwp 0.35g-142
Cwdwuinwpws 1.1; 1.2 /0.1d Jwyt. yd
Cnnownan 1.1; /e wupuHoi 0.1m/ 0 lely 0
Cunhwwnnit 1:3 (1.5) /0.14 . yd
Mpepoisuctanl:3(1.5) /c wupunoii 0.1m/ ¥ LAY 0
Cunhwunn 3:1 (1.6)/0.14 ./ yd
Mpepbiauctan 3:1 (1.6) /c wnpunoit 0.1m/ 4 106800 y
Cunhwwnn 1:1 (1.7)/0.14 (. yd
Npepobisuctan 1:1 (1.7) /c wupunoii 0.1m/ 0 gieaz :
Atinpny Upwadnud 1.14.1;1.17 d2
/Pyunan pasmetka 1.14.1;1.20 0 2UEY :
e Epeubltih dwuh bpwednud , phipdnwwuwnny u2
/304 hwutnnysjwdp/ 4925,7 9695 47754807
11.Cunuiblip 242712085
Xl | Lpwgmighy waluwwnwbplibp




b/p hwjwpnyh Jwptin
Cboptibie m/6 noTku

1 u Guijhu 2tipwn h=10ud d3
QI im0 0,00 6557 0
2 5/p hwywpndh Jupbph wbnwnpnut L=3.04; 34x30ud huin
swithuh-414q5./ 61,0 54070 3298270
3 | dwpt db d Bplpb d u2
wpbinh gpwidtniuwgnud Eplzkinn wwp phunnuing 230.6 1236 984997
4 Rtwnnub bqnwpwpbph tnbnwnpnd 15x30ud q6.d
Jwufinwgnuzjwl pwgphplbp/ 0.0 8340 ¥
*Ptwnnub Jupbp 50x60 ud
1{8d) Ywpgh ptwhnnnul thnunpwlh thnpnwd 0.6503 kpu.
1 | punénui w/h dpw, nbnuignfunud gulinyn 7 4y U3 428,16 2032 870021
HI(8Y) Ywpgh puwhnnh dywlynut tpu. 0.6543 .un. Ynrgh
2 Ynuwnwyndny U3 90 485 43650
11(8Y) Ywpgh puwhnnh Swlynwd dtnpny, Ynngh
3 Ynunwynudng U3 19,04 2852 54302
< t/p 50x60ud ] b d
di | EleR0nRRI00XB0uT dwotihuntiniunprc huwin 347 107517 37308399
5 Uywqulnwughti obpin h=10ud d3 97,72 6299 615538
6 Lpwdbiyniuwgnud (2 2kpun twp phinnuing) u2 1426,16 1254 1788405
7 &/p uwtph nbnwnpd hwtn 1041 1741 181238t
8 | <bnwnuwpé hgp u3 109,04 1457 158871
U u ub & d d=0,273(5),
g St aean i d b intn TN 3] q:,;l‘j 28 39244 1098832
tu ub ub U bplyob d
T b s e R e L S (R S o I 40269
11| Yhwguwl dhwdny| pinnt (junnnyuiyh b Juiph) u3 0,108 104765 1315
*MY 510+54-n1d d-273,44 515+22-nud d-325
denwnwlwt funnnywly Jupbph oph pwg prnlidwl
hwdwp
N1(8Y) Ywpgh puwhnnnud thnunpwlh thapnud 0.6503 tpu.
1| Pwpdnud w/h dpw, inbnwipnfund guilinyn 7 4d U3 2,36 2032 4796
funnnwlutiph gpwdblniuwgnud tipygtipin nwp
2 Rhuinudng U2 12,0419 1835 22097
3 Ujwqulnwduwpu o6puin h=10ud u3 0,448 5720 2563
Ut U b d d=273dd; 8=5dd
4 b bin ko, 4.4 3 39244 117732
Ut U b Jd d=325dd; 3=544
5 Ui nEnGiina; 45.d 10 30445 304450
6 | <brwnuwpd |hgp a3 1,197125 1457 1744
*Ubinwnwlwb gwbg Jwpbiph Ypw 0
Ut U g Jd bk d-129
i hwaw“wl‘w ulona Nl At huwin 129 11404 1471116
Ubunwnuwlwu gdbiip N8 M- &l
2 | 200 o) Bty q&.d 258 4021 1037418
Ubunwnuwlwu gdtibp N6.5 1M - 3L
3 | L=0.364 S3than gb. 603 5028 3031801
*Pbwinub Jupbp 6-2-20
111{8) puwhnnnud thnunpwlh thnpnud kpu. 0.6543,
1| 40.6503 tpu. pupdnud w/h Ypw, nbnuihnfunud |gwlnyn 7 | 3 52,3 2032 106274

Yyd




Ujwquiynubuihl okipin h=10ud

2 d3 26,15 6299 164719
Phwnub b Jb d d

3 tnnbls dwptinh gnudtynwwgnud phinnuing 0 496,9 1254 623113

4 Lnp pbinnbib Jupbiph wbnunpnd 6-2-20 husn 523 13761 7197003
*Qpubin Ynnuwlh Ypw/2 hwn/ 0
8yN1l Ywpgh pwhnnh dwynu U pwpdpnud dknpny,

[ inbnwithnfunud gy 744 d3 4 4973 19892
N1 L N2 pbwnnub hEbwlub d dhwa Gwnint

I it e P T T 0 S 0.6 69582 41749
N1 L N2 plinntb hbbwltbph spwdbyniuwgnud bpygtpun

3 Bpunwing U2 5 1254 6270
pubiin Ynntiwlh dpuw/2 hwwy/

o huSwht bwhiwwwnpwuwnwlwl g6pn h=10ud-1.943 u3 0,94 (02203 JOU00

5 6-3-22 pinlh wbnwnpnd hww 8 4654 37232

6 B-5 pinlh wbnwnpnwd hwn 8 13789 110312

7 Cwppwlh dhwdny| pitnnl B-20 ,h=20ud u3 1,6 58305 93288

8 Udwquynwbwiht bwfuwwwinpwu. stpn 10ud 43 0,92 5720 5262
Lujws u db d

g | FutRuhtionudtnuwgnul /Uhulunnnduly 02 38,3 1835 70281

10 | Ubnwnuwlw Yhuwhunnnjwly d=530/2d4 qd.d 24 64581 1549944

1 funnndwlhb Bnwlgdnn wdpw ¢ 16A500¢ qd.d 0,8 1409 1127

12 | <bwnwnuwnd |hgp U3 1,4 1457 2040
*&phnpubiph Ywnnignuwl 6 hwn 0
®nunpwlh thnpnud dkinpny - 11(8), Ynnph Ynunwlndng

1 d3 15,6 2852 44491
u Gwjhu 2tipuin h=10ud

ot gk, e EInb T R0y a3 0,85 6299 5354
Qphnph dhwé Bwn B20, F 200

gad ERlanrhdoulitiD 63 5,3 81689 432952
Lnphnph pujwdpwihl 9puidbyniuwgnid 2 skipin tnwp

4 | phinuing U2 28,98 1254 36341
<k & ok

5 inuinuind (hgp Bmny a3 2,25 1457 3278

6 Ubinwnwlwl gugh wwinpwuwnnd b nbnwnpnud b 6 14795 88770

Nhnnulyn wulyniiwly 63 x 5 1g84 =4,81
Al (e e A e R o 48U 19,02 3806 72386
Ahnqulymt wblynibwl 50 x 5 1q80=3,77

B3R 50K 5 15 o qdd 19,02 3218 61206

9 Udpwuubp @14 A 500C nnu 0,12517096 517088 64724
Luwluopnp Ynunwlywsd puwhnnh pwpdnud 0.6543 Lpu.,

10 inbnuithnfunud 74d gulnywn d3 13,35 1887 25193
* CBuwwwnh pwpdpwgnd , MY508+90-M4U509+14
dwfu
<buwwuwnh pwpdpwgnd B20 nwuh dhwény) phunntng

1 2000x80x30ud d3 5 65873 329365
*Chbwwwinh pwpdpwgnud h-80ud, MY508+66-

2| MY508+86 wy 0




Snjnipyni niubignn hbuwwwinbiph Ypw fuwpufuwh

nnbip inbinwnnbint hwdwn nunwhuwyws wugptiph hwwn 10 1439 14390
qujthynbnud- d40dd, L1=30 ud:
Snjnipnc niibignn hibwwwintph Ypw wdpwlwhu
fuwphufubph wnbnwnpnud &10A500¢ , L1=80 ud: d 8 532 4256
Fwynpuhnuwgbdbuwnwht swnwlu - 0.005 d3:
Cbuwwwinh pwpdpwgnud B20 nwuh dhwaény| phnnuny
2000x80x30ud d3 4,8 65873 316190
<Bbwwwwinh pwpdpwgnid h-40ud, MY4508+00-
MY508+49 wy, L-564
Snjnipyntl niubignn hEbwwwintiph Ypw fuwputuwpu
&nnbip /pwyip 10/ wbnunnbine hwdwp ninqwhwyws hwn 55 1439 79145
wbgpbph qujthynunid- d40dd, L1=30 ud:
Snynuejnit niibgnn hbwwwwnbiph Ypw wdpwbiwht
fuwphuhuiibph wbnwnpnud &0A500c¢ , L1=80 ud: d 44 532 23408
Fwnpuhnuwgbdbuwnwpt gwnwfu - 0.012 J3:
<buwwwinh pupdpwgnud B20 nuwiup dhwany) pbininung
5600x40x40ud u3 8,96 65874 590227
*Uwnnpht hEbwwwwn MY404+-69-MY4405+80
N1(84) Ywpgh puwhnnnul thnunpwlh thapnud 0.65u3 tpu.
pwpdnud w/h Ypw, intnwithnfund gulynuyn 7 Yd D] 22 2P I
®nunpwlh thnpnud - 118 gpntentiipnud
tpubwywinnpny/0.65d3/, wbkinnud Ynunwynidng d3 11 485 5335
hbunwnwpd |hgph hwdwp/
<hd; & ] B20

e Pl 03 36,075 64001 2308836
hpwup dhwd Gwinnu B20

bpdt 43 31,08 65673 2047333
Ludwépwiht gpwdblnuwgnd u2 199,8 1255 250749
Swdwpnipn qd.d m 9976 1107336
18hunn wwuwnhy funnnywly 1104y 1=0.354 qdd 6,3 2583 16273

b
<tunwnaund thgp 03 1 119 12309
*Chuwwwin MY479+50 dwfuhg
11(8d) Ywpgh ptwhnnnud thnunpwlh thapnwd 0.6543 kpu.
puwpdnud w/h Ypw, inbnwithntunud igulngun 7 4d u3 6 2032 Lk
®nunpwlh thapnud 1118y qpniiinttipnud
Epuljwywinnpny/0.65d3/, wbnnid Ynunwyniding d3 3 485 1455
hbunwnwpd thgph hwdwp/
u Guwjht 26pwn h=10ud

R B Ou 03 0,8 6298 5038
<hiph dhwd Guintt B20

DL P 03 6 64001 384006
<bUuwwwwnh hhdph b hpwtih hpwlwbwgnud hwywpnyh
plinnbb pinlibip 1x1x1,2 B20 /<kUwuwyunnh funnngutiph J3 14,4 112557 1620821
(nwgnud gbdbunwywqgl gwnwtuny /
Spniinh htin gthynn dwbiplinyputiph gpwdblnuwgnud
bplybnin twp phunudng d2 12 1254 15048
<k & ol

S TRINeR RO 43 3 1457 4371




M4 50+470 dwfu, MY 50+82 wy, MY50+860 Swlu,
M450+900 dwfu, MY50+970 wy hbwwwinh
pwpénwgnid

Chbwwwnh puipdpwgnd B20 nuwuh dhwdny| pbnnung

1 Jhpuwt/ d3 93,5 65873 6159126
*Qnynipynit niuignn d-237 Jdd.funnndulp
Ypwinbnwnpnwd MY4406+50
Qnynipyni niubgnn dbinwnwiwu d-2734d funnndwlyp
I wwwdnuwwdnud L-7.04, 8.4 % 1312 3184
u Guiht 2bpwn h=10ud
O i i s e kA 03 0,256 5720 1464
Gnyneinit niubignn dbunwnwlwt d-27344 funnndwlh
3 onwdblnuwgnud a2 5,486208 1835 10067
SQnynipynit nitignn dbunwnwliwt d-273d04 funnndwyh
4 Ubpuinbunpnud gb.d 7 2186 15302
J B-20
5[ ARlsn R bugni B 03 0,874 104765 91565
Uwnnpht hbbwwwun “U401+80-4U402+30
[1{8) bwngh puwhnnnd thnunpwlh thnpnwd 0.65d3 Epu.
1 pwpanw w/h dpw, inbnwihnfund igwlynywn 7 4d I 18,5 0%y 8732
Pnunpwyh thnpmd 11184 gpniiinubpnud
p) Epuywywwnnpnd/0.6503/, wnbnnud Yninwlymdny u3 14 485 6790
hbnwnwpd (hgph hwdwp/
u Gwihb otpun h=10ud
55 Prsetinpeian s O 03 3,5 6298 22043
<hdph dhwd Gwnnu B20
O i i 03 15 64001 960015
Ppwl a bunu
S i Dy TR S £20 03 17,5 65873 1152778
6 | Rujwdpwjht gpwiblyniuwgnd d2 82,5 1254 103455
7 Swdwpnipnh hpwlwuwgmd q6.d 50 9977 498850
8 50hwun wwuwnplb funnndwly £100dd; L=0.354 gé.d 17,5 2583 45203
9 | <hwwnwnd |hgp d3 14 119 15666
Cunwdbup 82665152
Swudwybp W dbpht lununwuwt gninbph
gpwilwinwlwpwpdwb hwdwlwpgh pupbjwynd
Qnwahd-1 /W1/
<nnuwiht watuwwnwupubp
1 fupwdninne b thnunpwyh dawynd V Yupgh u3
gpnitbpmd, Ynnwihgpnd 31,9 1329 414515
2 Fupwdninne b chnunpwiyh dowyynud IV Yuipah u3
gnnitintibpaud, Yanwihgpny 7277 985 716785
3 fupwdninne b thnunpwyh jpwdpwynid dknpny, hwunwlp u3 36,4 6593 239985
hwppbgdwdp
4 Uywah bwhiwwwinpwunwlwb okpnh hpwlwlwgnd U3
h=10ud hwutnnuejudp 64,8 7260 470448
5 Ujwah wwgwnuwths obpwnh ppulwbwgnud d3 162,1 7261 1177008
6 Fupwdninnt b thnunpwyp bunihgp, Ynnwihgph dawlydws d3
gnniuinubiphg’ windustinudng 793,1 % I
7 Udbwgwsd gpntinubiph hwppbgnud inbinnud d3 2404 453 108901

Sbfuuninghwljwl wyluwwnwbplbip




1 Gnynueynit nitbignn enugl (Ciy 3150 funnnywlubph Yunpnd inbin 20 4699 9398
2 Nnihkpp bt (HDPE) bnwygynn funnnywlubiph qé.d
dntunwdnud fupwdninhtbpaud DN160, PN=1,0 UMw, 500,0 8572 4286000
thnpdwnlynud
3 Mn|hkphbut (HDPE) bnwlgynn funnnywlubph qd.d
dnuwnwdnid fupwdninhubipnud DNSO, PN=1,0 530,0 3245 1719850
UMNuw, thnpdwplynud
4 Mn|hkehibut (HDPE) bnwlgynn funnnjultbph qd.d
dnuwnwdnud fupwdninhutipnud DN63, PN=1,0 UMw, 50,0 1776 88800
thnpdwplnuwl
5 Mn|hEphut (HDPE) brwlgynn funnnjwlubph qd.d
dnuwnwdnud fupwdninhubipnud DN32, thapdwplynud 20.0 464 e
6 Mn|hkehitut (HDPE) brwlgynn funnnjulutph qé.d
dnwnwdnud fupwdninhubpnud DN25, thnpdwpynud 32,0 667 21384
7 Ubwwiynp thwlwbtibiph dnuwwdnwd DN150, PN=1,0UMw hwuwn 1,0 138714 138714
8 Ubwwynp thwlwlubph dnbiunwdnd DN5SO, PN=1,0UMw hwn
1,0 43430 43430
9 Mnnuwnb Ygwynipebliph dnuwnwdnud DN150, huwwn
PN=1,0UMw 2,0 15716 31432
10 | Mnnuuinb Ygwynipebiph dnuunwdnid DN5SO, PN=1,0UMw hww 50 4475 8950
1 Mnihtehigt (HDPE) DN160 - dhwnwn DN150 (St) Ugnprihsh hwun
dntnwdnud (HC) 1,0 25090 25090
12| Mnihkph|tt (HDPE) DN63 - dkitnwn DN5O (St) Ygnpnhsh hwtn
dnlitnwdnid (HC) 1.0 6509 6509
13 | Mnjhkphibub (HDPE) funnnywlbtiph dLwdnp Jwubp hwwn
DN160xDN90 3,0 10335 31005
14 | Mnjhkrhibut (HOPE) funnndwlubph dLuwynp Jwubip hwwn
DN9YOXDN6E3 4,0 3802 15208
15§ Mnihkphiut (HDPE) funnndwlutiph dlwynp dwubip hwwn
DN63xDN25 3,0 2380 7140
16 | Mnhtehtul (HOPE) junnndwlutiph dhwgnud hwn
fuwdnipwihls wugnwing DN160xDN32 78 B2 g5 A
17 | Mnhkphibut (HDPE) unnnwlubph dhwgnud hwn
huwdnyewihl wugnuny DN1GOXDN25 Z:2 p2s o
18 | Mnjhkehizut (HDPE) funnndwlubph dhwgnid hwtn
fuwdnieuht wugnuwing DNIOxDN32 3.0 A LpLatdy
19 | Mnjhteh)tul (HDPE) lunnndwyutiph Jhwgnud hwiin
fuwdnipwjht wugnwing DN9OxDN25 7.0 4137 28233
20 | Mnjhkphibul (HDPE) funnndwittph dhwgnid hwn
fuwdniewht wugnuing DNE3xDN25 2,0 2652 230
21 | Mnjhkehbut wwpnipwlwiht Ygnprhsubiph dntivnwdnud hwwn 10,0 5193 21930
DN32
22 | M bub u ubiph dnbunwdnud h
nihtehibul wwpnipwhwht Ygnpnhsubiph dnbinwdnt wwn 16,0 T i
DN25
23 | Onwhwt DN20 hwn 1,0 11135 1135
24 | Mnihtehibutb (HDPE) DN160 funnndwlutiph , (Yuwgnd, yd
Whutnwhwbn 0,5 153670 76835
25 | Mnihbphbub (HDPE) DN9O funnndwlubiph thapdwnlnud, yd
[wgnid, wiunwhwngg 0,5 109831 58210
26 | M tut (HDPE) DN63 ubiph , d, ]
nipteh{sUs (HOPE) DNG3 funnndwlbrh , twgn: | R R o

whunwhwumd




27 | Mnjhtphibut (HDPE) DN32 funnnywlubiph thnpdwplynud, yd

Ywgnud, wiunwhwunud 0,02 92809 1856
28 | Mnihkphibul (HDPE) DN25 funqnywlutiph , jwgnid, yu

whunwhwtnd 0,032 92809 2970

Qnuwghs-2/W2/

<nnwjhtu waluwwnwbgubp
1 fupwdninne U thnunpwyh dowynd V Yuwpgh u3

apnitunbibpnu, Ynnwihgpny 49,1 1329 65254
2 Fupwdninnt b thnunpwlh dywynd IV Ywpgh u3

qnniinlibpnud, Ynnwihgpny 114,5 985 112783
3 fupwdninn L thnunpuwiyh jpwdywynud dknpny, hwnwlh u3

hunpbigdwdp 5,7 6593 37580
4 Ujwagh bwhiwwwinpwunwlwu gkpnh hpuywwgnud u3

h=10ud hwuwnniezjwdp 10,2 2251 72062
5 Ugwah wwpunwwths gbipinh hpwlwbiwgnud d3 23,4 7261 169907
6 fupwdninn L thnunpuwilih bunhgp, Ynnwihgph dowlyws u3

qnniuintbphg’ tinthwunuwing 128,9 e 58552
7 | Udbjugwsd gpniiinbibiph hwppbgnud nbnnu d3 34,7 453 15719

Sklutninghwlwl wtuwwnwpbn
1 MnhEphbut (HDPE) brwygynn funnndulubph qd.d

dntinwdnid fupwdninhubipnd DNSQ, PN=1,0 170,0 3245 551650

UMNuw, thnpdwplynid
2 MnthtehitU (HDPE) DN9O - dbiuwn DN89I (St) Ygnpnhsh hwtn

dnuwnwdnud (HC) 2 9972 19944
3 Mnihtphitiul (HDPE) DN9O funnndwlutiph thapdwplned, yd 02 109831 18671

Ywgnud, whnwhwunu :

2nwaghé-3/W3/ 0,0

<nnwiht woluwnwugibp 00
1 fupwdninnt b thnunpwlh dowlynd V fupgh u3

annubnbpnd, Ynnw(hgond 73,3 1329 97416
2 fupwdninnt b thrunpwlh dowynd IV Yupgh u3

apniiubbpnud, Gnnwihggny 1711 985 168534
3 fupwdninnt W thnunpuwlyh jpwdowynd dbnpny, hwwnwlih d3

hwppbgdwdp 8,6 6593 56700
4 Udwah bwhiwwwinpuunwlwl sbpnh hpwlwtwgnud d3

h=10ud hwuwnnipjwdp 15,2 7261 110367
5 Ujwgh wwunwwuhs 2bpinh ppwlwbiugnud d3 35,0 7261 254135
6 fupwdninnu b thnunpwiyh Bunhgp, Ynnwihgph dowlws u3

qnniitntiphg’ nindhwunwng 192,7 Y, ltPy
7 Udbjwgwé apnibintitph hwppbignid wntinnu d3 518 453 23465

Stiutninghwlwt wtuwwnwbiptibp
1 G U niub G (St) 050 ub b

nniR)NLL niliignn wanuwwnt (St) @50 funnnywlubinh wnn 40 1644 6576

Yupnud
2 Mnjhtehitul (HDPE) tnwlygynn funnnywlutiph qd.d

dntinwdnud fupwdninhiipnud DNG3, PN=1,0 UM, 254,0 1776 451104

thnpdwplynud
3 Mnihkphitut (HDPE) bnwygynn funnndulutiph gd.d 20 666 1332

dnuunwdnud fupwdninhubipnud DN25, hnpawplynud J
4 Mnhtehitut DNE3 (HDPE) tunnndwyubiph dbwdnp huwn 3 2185 6555

dwubp




Mnihkphl (HDPE) DN63 - dbuwn DN5O (St) Ygnpnhsh hwn

dnuwnwdnid (HC) 2 6509 13018
6 Mnihtehibut (HDPE) funnnywlutiph Jhwgned hwwn

fuwdnuzwihu wugnuing DN63xDN25 I 2652 2652
7 Mn|htrhitt DN25(HDPE)- dbuwn DN20(St) Ygnprhsh hwuwn

dntunwdnud dbinwnuljwl wpunwpht wwpnipuyng i ano 3o
8 Ubnwnuwluw gunwjht thwlwt bplynndwuh bippht hwwn

wuwinnipwyny DN20 1 6083 6083
9 DN63(St) unnnduwlh tnwlgnid DN5O(St) funnnywljht wnbin 2 1644 3288
10 | Mnjhkehbub (HDPE) DN63 funnnywlutiph , [Jwgnud, yd

whutnwhwlnu 0,3 92809 23573
1 Mnjhtphibut (HDPE) DN25 funnnywlubiph , Jwgnud, yd

wunwhwbinu 0,002 92809 186

U wluwnwplbip

<nnujht watuwwnwuplbip
1 Fupwdninnt b thnunpulh dawlnd V Ywpgh U3

gnntnbibpnud, Ynnwihgpny 21,6 1329 28706
2 Fupwdninne b thnunpuwyh dawynd IV Yuwpgh u3

gpniintiipnud, Ynnwihgpny 204 385 49644
3 Fupwdninni b thnunpwlih jpwdgwynud dtingny, hunwlh a3

hwnpbgdwdp 2,5 6593 16483
4 Fupwdninnt b thnunpwlh Bunhgp, Ynnwihgph dowlywé d3

gnniuntiiphg’ tnindhwtinudng 70, 202 32525

Shjutninghwlwb wpfuwumwuptipn
1 Mnnuwwnk {St) LyGnwlygynn funnndwlubph dnbnwdnid qd.d

fupwdninhtbpnid DN273x5 npwbiu wwunjwt 9.0 palsd 379323
2 Mnnuwwnt (St) EyGnwlgdnn junnndwlubpp dnunwdnud qd.J

fupwdninhtbpnd DN159x4,5 npwbu wwwnjuwt 15,0 17194 257910
3 MNnnuwwnk (St) bybnwlygynn funnndwlubph dnunwdnud qd.d

fupwdninputipnud DN102x2,5 npubtu wwiwnjwt 54,0 6147 331938
4 Mnnuwwnb (St) tytnwlgdnn tunnndwubph dnbnwdnud qd.d

fupwdninhtbpnd DN89x2,2 npwbiu wwiwnjwt 54,0 5235 282690
5 Mnnwwnb (St) Eybnwlgynn unnnqwlubph dnunwdnud qd.d

fupwdninhttipnid DN57x2,2 npubu wwnywt 18,0 3551 63918

12.Cunwdbup
14176765
Cunhwunpp
2734039192

OUuduLUMRErE-LULULUThY




<-46, /U-2/-Swpl-Unjuuh-/U-2/(Ujntuhp) hwupwybuwlwl twtwlynypjwl
wywnnéwbwwywnphh Yu37+500-Y4u55+000 hwnywsh hhduwunpngdwt w2fuwwnwuputp

(2022 . ppwlwtiwgytijhp)

<< npwd
e
o
=
3
NN £3 Uhwdnph Cunhwungp
Ugluwunwptbph wuywunid Lwliw
=
3
&
1 2 3 4 5 6
| Luwtniwl wytuwwnwpubp
1 Snynupnit niubignn Swlwwwnphwht bpwltibph hwwn
wwwinbnuywnyd, Yepwnwpd ubthwlwuwinhpnep 0 4400 B
1.Cunwdbup 0
Il <nnuijht woluwwnwuptbp
1 1. <nnuijht wphuwwnwlptitp dhwhnly gpniuntbpnud
2 84 gpniiwnp dpwynd b wbinwihnfunwd paynngbipny 504 d3
0 437 0
Ihge/
3 118 gpniunh dpwlnud Epulywywinnpny/i,08%/, pwpsnud u3
w/huptwpwthtiph dpw 2 CRO .
4 wnbnwihnfundd lgwlnyun 7.04d wnnu 0 700 0
5 V106 gpniiinh dpwiynud L wnbinwithnfunud pnynngbipny 504 d3
0 450 0
thgp
6 V106 gpniiinh dawlnud Epulywdwiennpnd/1,08%/, pupénu d3
0 820 0
w/huplwpwihbinh Ypw
7, wntnwdinfund lguynywn 7.04d tnnu 0 700 0
8 HI8Y gpniuwnh dpwynud bpulwdwinnpny/1,00%/, pupsnud U3
w/htpuwewihtinh dnuw . ga0 g
9 wnbnwihnfunud |hgp 1.04d nnu 0 310 0
10 | Lhgph funwgnud wulidngynnuny kil htiipny 6 wugnuiny u3 6 0
30ud 2tpwnh hwuwnnyejwdp, oph twpwdnwing 0 Gy
11 “nnuwiht wnntubph whnuwhwned &3 4760 2325 11067000
12| Ynnuyht wnniubph winwund u2 5409 1096 5928264
13 | "wpwlubph ppwlwlwgnud u3 0 2843 0
2.<nnwjht wafuwinwipbbn dwjnwyht gpniitittpnay/
1 VII20w gpniinh wuypbgnud wwjrwlgpwht hgpkipny u3 0 2628 0
0.5-1.0d wwjpwugph funpniejwdp
2 | Lwtuopnp htupligyws Vil20w gpniinh dawlhnd b d3 800 0
wtnwihnfunud pnynngbpny 504 |hgp B
3 Luwfuopnp thiuptigywd ViI20w gpnituwh dpwlynud d3
trulwlwinnpny /1,00%, pwpdnud w/ptpbwpwihtph 0 1330 0
wnbnwithntunud |hgp 1.04d wnb 0 310 0
Luwfuopnp thfuptigywd VII20w gpniunh dpwilynud u3
tpulwywwnnpng /1,00%, pupdnud w/huplwpwihtph 0 1330 0
6 wnbnwihnfunud gulynywn 7.0y wnnu 0 710 0




7 Lhgph fuwnwgnud yhppngnnuny, dbl htiipny 4wlgnuing, d3 00 0
40ud 2bpwnh hwuwnnipywdp 0 )
8 Ynnw)ht wnnibiph winuwhwnd g2 450 2320 1044000
2.Cunwdbup 18039264
| owdlh Ynbuwnpniyghwl
1 funanphwinhly wlwquyhti 2Gpn h=18ud/ a3 6150,18 4420 27183796
2| uwdwquiht gipin €5 h=20ud 2 203 1950 395850
3 | Pwpdp dwlyninyll fungnpwhuwinhly w/p h=6ud a2 331 4180 1383580
4 fungnpwhuwnply w/p h=6ud u2 332 5710 1895720
5 | Swp dwlpwhwinhly w/pbinint R inhuy h=4ud u2 124782 4240 529075680
5* | Snynigjnit niubignn w/pbinntl wwiinywdph d2
ytipoguwgnpdnul uwnp Jupwilwliwl nwbwyng 0,3624 2960 1073
hdhg.=20ud, gkdbuwnh 1pwn. -18l4g wybjwgnuiny
6" | Uwqulnwbwiht gbpuin h=20ud 2 0,00248 1081 3
7* | Cwppbigunn 2tipn niwp, Jwupwhwwnhly w/pknnthg P winl 61.38858 44077 9705824
wnhw hdhg.=3ud
3.Lunwdbkup 562641525
IV | Ninhtbip L dnunpbip
1* | 1I{8Y) Ywnah puwhnnp dpwlnul L pwpdmd tpu. 0.6543
2-tn. w/h Jpw, nbnwihnfunud (gulnyn 7 Yd pE] 25 2kl IR
2* | N{8Y) Ywpgh puwhnnp dawlnut Sknpny, pwpanud Epu. Jd3
0.65d3 g.un. w/h dpw, nbinuinfunid igulnyin 7 4u 18 4738 22908
1 tpwn C5 h=12ud d2
ANl ! 2923,96 1190 3479512
2 Uwbpwhwinhly w/pbunnt ,R"inhwy h=5ud d2 2923,96 5170 15116873
3| Wwqunwbuwghl 26pin funnnduliutp wwy h=10ud d3 5,87 5730 33635
4 Ubunwnwluw funnndwlyh wbnunpnud d=32504; q6.d
168.0=39.5q; 5=501 90 30450 2740500
d d=273d4; 3=5d4
g0 [ iU AR TRANd=2731d; & a8.4 79 39244 3100276
5 | Huwnhpubiph dhwény) pbinnt B20 d3 4,9 104770 513373
6 funnnjultiph gpwdbynwwgnid Bplatipin twp u2 152.4 1830 278892
phunnwing
7 Ubwn. unnnywlh qfuwdwub gpudblynuwgnid tpltpn U2 2524 1250 31550
nwp phunnwing
8* | <huinwnwpd (hgp dbnpny d3 145 1457 N127
9* | hubwdwquih stipuin C5 h=12ud d2 10 190 11900
10* | Uwupwhwwnhy w/p h=5ud g2 10 5173 51730
4.Cunwdbup 25932872
IV | WU 507+96 w9 howwnbinh giluwnhp
1| Snnughl wluunwtiplibip u2 0,28 2851 798
2 | Wwquynwbwyht gpwn h=10ud d3 0,044 5720 252
3 | Huwnhph dhwdnyg phnnt = 0,48 104765 50287
4 Lpuwdblnwwgnd 2 gbpwn wp phinnuing u2
- pbitnnt 1,19 1254 1492




<Gunwnwpd |hgp

u2

0,1 1457 146
4* Lunwdbup 52975
v Ynnbwlubp
3
1 Bwdwpnipnwiht - gpnwh pwpdnid d 1468.4 650 954460
2 Swdwpnipnwht - gpniunh nbnwithnfunud wwhnwinhg wnnl
dhohtp  104d-hg Ynnuwlubph hpwlwbwgdwl hwdwp 2859,63 880 2516474
3 bnnuwlubiph hwppebgnud /48278U2/ U futnwgnud d3
wldnginnuny 1 hbwinpny 4 wugnuing h=24ud stipinh
hwunnipjwip, 9ph nwpwdnuing 14483,4 660 9559044
5.Cunwdtup 13029978
VI | Uuwypbp
1 Uwqulnwuyht hhdp h=10ud d3 0 5040 0
2 PEwnnub uwihlubph nbnwnpnud u2 0 8088 0
3 Puqunt bapupwnbph nbnunpnud 15x30ud  swihup qd.d 0 14450 0
pbiunnbit hhdph dpw
3* | Pawnnub bqpupwpbph nbnwnpnd 15x30ud swihup qd.d 0 8340 0
phwnnub hpdph dpw
"' ub u d B-25 u3
X ;{2;?_’%%23‘;/" panR Rkl on: & 19,48 76884 1497700
&.d
4 Cwywpnyh pbwnnub Gapuwowp 10x20ud g 0 6940 0
'* & b u Jd B20
> %T;gsgl Reatblaanutinh hnibubign: q8u 398 1354 538892
N ub U Jd B20
6 Uhwdény| piinnub Gopupwph  ppulwwgnu o 125 2708 338500
20x20ud
7* | Uhwény| pbiwnntb Gqpuywph hpwlwuwgnd  B20
0.45x0.7x0.25x0 2 d3 24,3 67716 1645499
8* | Wwquynwbduwyht hhdg h=12ud u2 461,3 1659 765297
9% | Wlwquht w/p h=3ud g2 461,3 3847 1774621
6.Cunwdkup 6560509
VI* | Uwjeh dbunnwnwlwu pwgphp “U404+69-
L4U405+80
1 Gnjnupgniu mbignn dbnwnwwt gwiljwwunh
wwwintnwluwynud Ynntiyny, Ybpwnwnpa qdd 18 3719 438842
ubthwlwbwinhpngp
m u d,Eplyotpwn ubpynud
2 S e anb e N sl gngl brlptiun bEnynut | R S ) ot 53321 111705
Jniquitbnyny:
funnniwly 60x30, d=3dd gd.d 212,75 3013 641016
funnnwl 60x40, d=3Jdud qo.d 114,7 3623 415558
funnnywl 40x30, d=3dd gé.d 182,077 2460 447909
funnnuly 70x40 , d=444 gd.d 3,7 5263 19473
6*.Cunwdbup 2074504
VIl | dbipht hBuwwwunbp
U. | 4d45+700 unp Jbpht hbbwwunn wehg
1 11184 gpniuwnh dpwynid tpuljwdwinnpny/0.65%/, pwpénid u3
w/hipuweuihbnh Ypuw ) 402 )
2 wnbnuwihnfunud igulnyn 7.04d ninu 0 700 0




3 Lnyup nbnnud Ynwnwynudny, hbnwnwpd thgph hwdwn u3
0 490 0
4 @nunpwyh Ybpeuwdawlnid dbnpnd:/1118Y d3 0 3420 0
5 UJwquynwBuyht obpin Jwpbph wwl h=10ud d3 0 6300 0
6 Lhbwwwwnbiph hhdpbph hpwlwbwgnd dhwany; d3 0 64000 0
pbinuhg B20
7 CEbwwwwh  hpwibbph hpwlwuwgnd  B20 pbunntihg u3 0 65870 0
8 Ydnpdwghnt Yupbph ppwlwbwgnu 2 sbpn d2
nniptipnhnny phuinwh dwényny (d=2,0ud) 0 <LiklY 0
9 Qnpninh hbwn thdnn dwhbplinypubph 9pwdtynwwgnud u2
0 1250 0
bphobipuin twp phuninuing
10 | Swdwpniprh hpwljwtwgnd qd.d 0 8610 0
1 Swdwpnipnuyht @100 0 wnihkehibuwhu qd.d
hunnnywlybn 0 2580 0
12 | <hwwnuwpd |hgp bpuywdwinnpny/0.654d3/,9pnudny L d3
huunwguiwdp 108,6 1120 121632
7-U.Cunwdbup 121632
R. | 4d53+300 unp ybppu hbbwwjwn wehg
1 118y gpniuwnp dawlnd Epulwiywinnpny/0.65%/, pwpanud u3
w/hupuwpewthtph Yynw, nbnwihnfund iguynywn 7.04d 0 700 0
2 wnbnwihnfunw guinywnn 7.0yd nnb 0 700 0
3 Lnyup inbnmd Ynunwlnudng, hiuwnwpsd (hgph hwdwnp u3 0 490 0
4 Pnunpwlh Ybpguwdpwlmd dtinpny: d3 0 3420 0
5 UJwquiynwbwiht obpin qupbiph wwly h=10ud u3 0 6300 0
6 LEbwwwuinbph hhdpbph hpwljwuwgnud dhwanyg u3 0 64000 0
pbwnupg B20
7 Lhbwwwwh  hpwtitph ppwlwbwgnd  B20 plitinlpg u3 0 65870 0
8 Adnpdwghnt Ywpbph hpwlywlwgnud 2 9kpun U2 0 9830 0
nnipbipnpnny phunnuh Jwéniyny (d=2,0ud)
9 Qpninh hbwn ahynn dwlplinypubph gpwdblynuwgnd u2 0 1250 0
ipltipun wiwp phuinudny
10 | Swdwpmpnh phpwlhwbwgnud qd.d 0 8610 0
1 Swdwpnipnuyht - ¢100 dd wnjhkrhibuwhu qd.d 0 2580 0
funnnjwljubp
12 | <bwwnuwpd |hgp Epulwyuwinnpnd/0.65d3/,9pnudng u3 0 120 0
juunwgdwdp
Yd 51+420 unp ubppht hFbwwwn hwwpndh pinlubphg
wohg*
1 18y gpniunp dpwynid Epuyjwwinnpnd/0.65%, pumndanid 53 0 700 0
w/hupbwpwihbph pw, wbnwihnfund jgwynywn 7.04dm
2* | whnuihnfundd \gwlnywn 7.04d wint 0 700 0
3* | Lnyup nbnmd Ynnwlnwing, hwnwnwnpd thgph hwdwp g3 0 490 0
4* | ®nunpwlh Jbpguwidzwlinud dbnpny: J3 0 3422 0
5+ | 2np ghdbuwnwlwab fuwntnpn rwly h=10ud d3 0 35575 0
LGbwwjwinh hhdph U hpwtp hpwywtwgnd  hwdwpnyh
6% | phiwnub pinlubip 1x1x1,2 B20 /<buwwwinp funnnsubiph huwin 0 150980 0
(pwgnud ghidbbinwywgb swnwiuny /
« | Hdnpdwghnt  Yuwpbph hpwlwbwgnd 2 gbipn
g nnipbipnhnny  phunnudh dwédniyny (d=2,0ud)/ 2 b 2830 102832
8* | Spnuinh hbin gthynn dwlbplnypubph opwdbynwiwgnud 02 0 1250 0




tnyokpwn vwp phuinnwing

9* | Swdwpnipnh hpwlwbwgnud qd.d 0 8610 0
10* Swdwpnipnuyht 8100 Jd wnihkphibUwhu q8.4 15,2 2580 39216
tunnnyuwlubp
1 uinwnwnd thgp bpuljwywinnpny/0.65u3/,9pnuing b i3 0 1220 0
junwgdwdp
7-P.Cunwdtup 141448
VIl* | Ubnwnwlwy unnndwl d=102000  3hwwn /MY4400+20/
<nnuyjhb wfuwwnwuptin 118y Ywngh puwhnnbipnud hntuh
) nnndwl hwdwp/inbnuihnfunud pnynngbipny 5047,
1 pwpdnud Epulwywinnpny /1,003/ w/huptwpwihbph Ypw d3 22 950 20900
2* | wbnuihnfund igwlnyn 7.04d wninb 41,8 700 29260
Pnunpwlh thnpnud 1118y gpniintipnud
3* | Fpulwywinnpny/1.0d3/, nbnnud Ynunwlnwing hbuwnwna d3 8 480 3840
thaph hwdwp/
Fubwjhu hhdp h=20ud
4 P g0y i3 43 13750 59125
5* | Udwqulnuwbuyht hhdp h=10ud a3 3,3 5720 18876
. | Ubnwnulwt d=102044 funnnjwyh nbnwnpnud
6 1g5.0=249q; 3=100/ gd.d 27,4 261000 7151400
HHfuwud hhdph dhwsa Gt B20
= uaieubih Rhiihashucglnn 03 11,51 77950 897205
Qfuwd uh dhwa bwnt B20
gz 4t bR SR WAL URED 03 10,61 105840 1122962
Sl b h&u U dh dhwd twnu B20
e R e P e S 03 6,14 77950 478613
u Jb d bplab dny-
fg* 4| i St ers UG Enlizbninnuig phunnudid 12 75,992 1830 139065
10.8q8.40/
<k & 18 Uwhnnb
e tnwnwnd (hgp 1118y Ywipgh puwhnntipny 3 8 106 848
8*.Cunwdbup 9922094
Vil | Ubnwnuwlwt unnndwly d=10204d /MY4446+02/
1 <nnuwjht wfuwwnwlputip 118y Ywpgh puwhnntpnud hntup d3
nindwb hwdwp/nbnwihntunud pnynngbipny 504/,
pwpdnu tpulwywinnpny /1,003/ w/huptwpwihtiph Jpw n 950 10450
2 wnbnwthnfunud |gwlnyunn 7.0yd wnnb 20,9 700 14630
3 Pnunpwlh thnpnud  1118Y gpatiintibpnud u3
trulwdwinnpnd/1.0d3/, nbnnud Ynunwlnuing hbuiwnwna 4 480 1920
thgeh hwdwp
4 | ubwjhu hhdp h=20ud d3
sihg hhiea20y 2,3 13750 31625
5 | W Guwjhu hhdp h=10ud d3
et LT Rl 22 5720 12584
6 Utnwnuwlwb d=1020d4 funnnywlh wbnunpnud qd.d
1g5.0=249Yq; 5=100/ 1,6 261000 3027600
7 | Huwd hhdph Jhwa Bwnu B20 d3
e Cae i ani TR 4,8 77950 374160
8 | Huwdw uh dhwd Guint B20 a3
s R T, 5,2 105840 550368
9 Ywph b hbuwlwjht wnwdh dhwéany) phunnt B20 u3 32 77950 249440




10 |t db d bplgb dny- u2
mnélggﬂjl‘h gnudblnuugnud bl niwp phunudng 34,59024 1830 63300
n <k & a8 uwhnnb u3
wnwnuind |hgp 11184 Ywpgh puwhnntipny 4 106 Yoy
8.Cunwdbup 4336501
IX | &/p funnndwlubph U hBuwwuwinbph Jbpwtinpngnid b
Ybpwlwnnignid
4U37+511.5 ¢1.5d b/p U dbnwnulwb funnnywy, dnunpp
dwtuhg
1 funnnyuwyh dnunph , tiph L Jheh dwppnid gpniuinhg d3
&tinpnd, Ynytnwynpnud 0 1970 0
2 pwpénu dnpny wyinnhuptiwpwth b nbnudinfund wnnu 90
[gwynywn 74d hbnwynpnuejwi Jpw 1133y 0 L0 0
3 5/pEinnub b denwnwlwt junnndwlubph Ygnpndwl d3
hwinywdnd dhwany) plnnup hpwhwbwgnud Gudut 1 56830 56830
wnwly’ ubpwplynwing, B20, F100:
4 zbéqumnmr}]nqql\u;ggéwnbnh (nwignw gbd.wdwquiyhl d3 0,64 50820 32525
5 dnunphg 7-pn, 11-pn. L 15-pn G/pliinntb pinljubipp unpngb u2
ghd.wywaquiht wnwfuny M200, H=0.034" dbwnwnwlywl
guigh ypw, (100x100)dd @4 Bp- I, P=0,0281wn: 14,2 5090 72278
6 Unuwnpnud b Gipnud qifuwdwubph hpwlywbwgdwt hwdwn d3
thnunpwlubiph thnpnud 0.6543 gtiptithny pulywiwwnnpny, 0 670 0
apniunp wwhbuwnwynpnd IV(10k6)'
7 glfuwdwuh hpwywbwgdwl hwdwp d3 3750 0
bwhiwwwinpwunwluwt 2kpwn fubny: 0 !
8 Ununpnud & Gipnud dhwany pbnnub qluwdwutiph d3 5850 0
hpwlwuwgnud B20, F100, swih 3.6x3.0x0.44: Y 10585
8* | htbwluwyht wunwdh Jhwany| ptinnu B20 d3 1 77950 77950
9 Lhnwnwpd |hgp tpulwdwinnpnd/0.65d3/,9pnuwiny L u3 0 0
funwgdwdp : 122
“Wi37+765 ©1.0d b/p funnndwly*
1 funnnywlh dnunph , Giph U dhoh dwppnid qpnttiinhg u3 197 0
dinpny, Ynywnwynpnud 1334/ 0 0
2 pwnénul dtinpny wywnnhupbwpwih b ininwithnfunud tnnu 090 0
gwlnywn 74d hbnurfnpnuewl Ypw 1133y 2 1
Ld39+100.0 2.0x2.0d nuinnuiilynit b/p funnnduwl 0
1 runnndwlh dnunph b Giph dwppnud gpntiinhg 0.6543 a3
2bpthny Epulywwinnpny, pwpdnud huptiwpwih, 0 560 0
wnbinwthnfunud lgulinyun 74d hbn. dpw:/
2 wnbnuihnfunud \gulnywn 7.0y b 0 700 0
3 funnnjwyh dheoh dwpnnw gpntuinhg dbnpnd, u3
Ynywwynpnwd 11334 0 1970 0
4 pwpdnud dnpny wywnnhtptwpewih b inbnwithnfunwd wninb
[gwlnyn 74d hbinwynpnuewb Ypw 1133y -0,025 1090 27
4 Ununpnud U bjpnud dhwaény) pbunntb qiluwdwubiph u3 0 65874 0
hpwlhwuwgnud B20, F100,
5 hEbwluyht wunwdh dhwany( pininu B20 d3 1 77950 77950
5 tunnniwlh dnunph b Giph pbwnul plbtiph L u2 35 4920 172200

glfuwnhputiph yipwlnpngnud gbd.wywquihb gwnwpuny




M200, Hihg.=0.044

6 ;::me[‘zpur}‘nqL{wqh Guipbipp ipwignud gbd.wdwiquiht d3 0/ 50820 5082
7 funnnywlh Ubpuh wwnbiph ujwn gbd.wywquiht d2
owinufuny M200, H=0.03: = L 257280
8 funnndwyh wnwunwnh ujwn gbd.wywquiht swnwluny u2
M200, tninpypbuinwgnuing, H=0.03d:/ 22 a0 144540
9 funnnywlh dbg winnbh hpwlhwtwgnud dhwany d3
phiwnuny, B20, F200, h=10ud 1,6 54320 86912
4d39+410 @1.0d b/p funnnywly*
1* | tunnnduwyh dnunph , Giph U dheh dwppnud gpniinhg d3
dtinpny, Ynywnwynpnud 1334/ 0 20 0
2* | pwpdnu dtinpny wywnnhtpwpwth U nknwihnfunud wnnb
guwlnyin 74d hinwgnpnuejwt Ypw 1133y 0 1090 Y
4U40+340.0 @1.5d b/p funnnywl, dnunpp dwluhg
1 tunnnqwyh dnunph , Giph W dhoh dwppnwd gpmnhg d3 ;
&bnpny 11334/ L ezt :
2 pwpdnud dinpny wywnnhupuwpwi b wbqwihnfunud wnnb
[guwlnywn 7ud hbnwdnpniejwt pw 1133y/ 0 1090 0
3 5/p funnnduwlh Yupbph jpugnd gbd.wywquiht u3
swnutuny/ 0 50820 0
4 Ununph gifuwdwuh Unpngnud gbd.wdwquiht swnuwfuny u2 0 4020 0
M200, h=3ud::/
5 Biph gluwdwuh Unpngnud gbd.wdwquyht swnwiuny g2
M200, H=0.044" dbunwnwlwl gwugh Ypw (100x100)dd 0 5550 0
{4 Bp- |, P=0,0495u:/
4U40+150 @1.0d b/p funnnywly, dnunpp dwiuhg
1 funnndwlyh dnungh b Gjph Jwppnud gpntiinhg 0.6543 d3
2tpthny Epulwdwiinnpnd, pwpdnd hupbwpwih, 0 560 0
wnbnwihnfunu igwlnywn 74d hen. Jpu:/
2 wnbnwihnfunud |gwynywn 7.04d b 0 700 0
3 funnnywlh dhoh dwppnud gpnititnhg dkinpny, u3
Unywwynpnud 11334 0 1970 0
4 pwpénud dbnpny wynnhupbwpwih b winwihnunu wnnl
tgwlnywn 74d hnwdnpnuyeywt Ypw 11334/ 0 1090 0
5 v/ b d gbid. u u3
; 4 qu:;}r}]nqqxggé.wp PO R 0,64 50820 32525
6 Giph gnjnipjniu niubignn pivinbb gluwdwup Ywadwinnu d3
wulidwagnpdhpnd, ptilnputiph pwndnud 0.65d3 pbipkithny 2,2 26780 58916
Epuywywinnpny wywnnhupuwpuwih
7 b d 7.0yd U
wnbnwihnfunid lgulnywn 7.04 tn 0 700 0
8 Ununpnud b iipnud giluwdwubinh hpwlwbwgdwt hwdwp d3
thnunpwlubiph thnpnud 0.6543 gtinbithny Epulwwinnpndy, 0 670 0
gpniuinh wwhbuwnwynpnud 1V(10k)/
9 giuwdwubph hpwlwbwgdwl hwdwp d3
bwhiwwwinpuunwlwb gt uéng Y 13750 0
10 | U d b Gpnud dhwé Gunub dwub d3
nunpnt (enud dhwiany) pbnntb qiluwdwubph 0 105850 0

hpwhwuwgnuwi B20, F100, swih 4.0x3.0x0.44d:




10* | hbu u dp dpwa twnls B20 a3
Faa et Ny Eplain 1 77950 77950
1 <bwnwnwind (hgp Epulwuinnpnd/0.65d3/,9pnuing L u3
funwgdwdp 0 1220 0
4d40+350.0 ©1.0d b/p funnnywly, dnunpp &wfuhg
1 funnnyuwh dnunph b Biph Jwppnud gpniuinhg 0.6503 u3 560 08
2tphny Epuljwywinnpny, pwpdnid huptwpuwth, 3.5 6 3080
2 tnbinuihnfunwd |gulnywn 7.04d0 nnu 9,625 700 6738
3 Funnnyuwlh dhoh dwppnud qpnitiinhg dknpny, d3
lnyunwynpnud, pupdnul wynnhtpiwpuith b 1,5 1970 2955
wnbnuihnfunud gulnywn 74 hnwdnpnigywt Jpw 11334
4 pwpdnud 8npny wywnhupwpwh U wnbnwihnfunud wnnb
[gwynywn 74d hbnwynpniejwl Ypuw 2,625 po —
5 Ununph gphnpnwth pwih gwligh wwwidnuunwdnid, wnnl
Ybpwnwné ubithwlwuwwnhpngp: 0.05 53470 2o
6 Ununph pwpuwijht 2wpywépny opplnnitihsh Yuaqdwwnmd u3
dbnpny, pwpdnuf wywnnhuplwpwth 1.5 AL PPN
7 wbnwihntund igulnywn 7.0y wnnb 3,6 7000 25200
8 E/p funnndwyh Yupbph puwignud gbd.wywquyh u3
0,0t 50820 508
2wnuwiuny '
9 Giph qnynipynil nilignn phnntib qiluwdwuh Ywqdwinnud u3
wulwwgnpdhpn, pynputiph pupdnud 0.65U3 gtiptithny 1,8 26780 48204
trulwdwinnpny wynnhupuwpwih
10 | wbnwihnfunud guynywn 7.044 wnnu 4,32 700 3024
1 Ununpnud dhwany) phinntt 9pplinnithsh hpwlwwgnud, gl
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gpniiinh wwhbutnwynpnud 11(334)
1 qluwdwubph hpwlwbwgdwl hwdwp d3 0 13750 0
Lwhiwwwinpwunwlwl obpwn ubnyg
12| gqfuwdwup hpwywlwgnud B20, F100 d3 0 105850 0
12* | hbuwlwht wunwdh Jdhwdny) pnnt B20 u3 0,5 77950 38975
13 | <bwnwnuwnd |hgp bpuljwdwinnpny/0.65d3/,9pnuiny W U3
0 990 0
jutnwgdwdp
14 | Gph hbuwwwinh Ybpwiunpngnud gbd.wdwquipl u2
wnuwiung h=5ul’ bwhiwwbu denwnwlwl guugh 70 6160 431200
wnbnwnpnuiny, (100x100)dJd @4 Bp- |, P=0,139n
15 | Ggnud hbu Ghgnud dhwd binuny' 1,2x0.44, u3
enu wujwwnh wabignud dhwaény) phninuny' 1,2x 9.6 65870 632352

L=20.0d




Y4U46+540 @1.0d b/p tunnnywy, Jnunpp wehg

1 funnnywlh dnunph b bph Jwppnud qpniiinhg 0.6543 d3
2upthny Epulwwinpny, pupdnu wwnhlipwpuwih b 0 560 0
wnbnuihnfunud \gulnywn 744 htn. Ypw
2 wnbnuihnfunud |gwynyn 7.04d tnnl
nepeso3xa B oTBan  7.0km 0 700 0
3 funnnywyh dhgh dwppnui gpniinhg dkinpny, d3 0 1970 0
Ynywnwynpnud, pwpdnud wynnhuptwpu b 1133y
4 pwpdnul dbinpny wwnnhupuwpwih b wnbnwthnfund wnnl 1090 0
gwynywn 74d hbnwynpnwejwt Ypw 1133y 0
5 E/p funnndwlh Ywpbiph puignud gbd.wywquyht u3
0,1 5082 5082
2unwfuny i 2
6 Ununph pwjpwydwd ptininb gluwdwuh Yugdwnnd d3
wbulidwgnpdhpnd, pwpdnd wynnhuptwpwh 0.6543 0 26780 0
2tpbhny Epulwywinnpny
7 wnbnwthnfunud gulnyw 7.04d wninu 0 700 0
8 Ununpnud gluwdwuh hpwywtiwgdwt hwdwp hwdwp d3
thnunpwlubiph thapnud 0.6543 ptiptithny Epulwywinnpnd, 0 390 0
gpniiinh wwhbuwnwdnpned 11(334)
9 glfuwdwubph hpwlwlwgdwy hwdwp d3 0 13750 0
Lwhwwwwpwuwnwlwy 2bipun funyg
10 | Ununpnid dhwdny| pinnub qiuwdwup hpwwlwgnd d3 105850 0
B20, F100, swth 4.0x3.2x0.4J 0 05
10* i U d 6 Gwnnu B20
R R T 03 0,5 77950 38975
OHONWUTHbINA
1 <bwnwnuwind (hgp Epulwywinnpny/0.65d3/,9pnuing U u3
0 990 0
jutnwgdwdp
12| biph gluwdwuh unpngnud ghd.wywquhl wnwiuny d2
M200, h=5ud 15 5820 87300
4U46+680 ©1.04 b/p funqnywl, dnunpp wehg
1 funnnywlh dnunph dwppnud gpniuinhg 0.6503 stiptithny d3 0 560 0
Frulwduwinpny, pwpdnid wwnnhuplwpwih
2 wnbnwihnfunud \gwlnywn 7.04d wnnu 0 700 0
3 G b d gbd. U u3
/p funnadwlh Yupbiph puignud gbd.wdwquyh 0.1 50820 5082
2wnuwfuny
4 Ununph b biph pwipwidws punnub qfuwdwutiph d3
Ywqdwuwnnd wulidwgnpdhpnd, pwpanud
wywnhtptwpwih 0.65U3 tipkihny tpujwywinnpny b 0 26780 0
wbnwihnfund guwlnyn 7.0
5 wbnwihnfunud gulnywn 7.0y wnnl 0 700 0
6 Ununpnud U iipnud qiluwdwubph hpwlwbwgdwt hwdwp d3
hwdwp  thnunpwlubiph thnpnut 0.6503 gtipkithny 0 390 0
tpuywdwinnpny, qpniinh wwhbuwnwynpnud 11(33y)
7 gliuwdwubph hpwlwbwgdw hwdwp d3
Lwiwywnpwunwlywl gbpun fuéiny B peEll 0
8 pbinub qlrwdwubph hpwlwlwgnul B20, F100, K] 0 105850 0
8* hEuwlwht wwnwdh dhwany) pnnt B20 d3 1 77950 77950
9 <bunwnwnd thgp tpuljwdwinnpny/0.65d03/,9pnuing b d3
hunwgwdp 0 990 0
4U46+930 ©1.0d b/p funqnduily, dnunpp wehg
1 funnnyuwyp dnunph dwppnul gpniuinhg 0.6503 obpkithng u3 0 560 0

Epulwywwnpny, pwpdnud wywnnhuptwewih




2 wnbnwihnfunud |guynywn 7.0yd wnnu 0 700 0
3 G/p tunnnywlh Yupbph pugnd gbd.wdwquyht d3
suinuiuny 0,1 50820 5082
4 Ununph L biph pwipwjwd punbb gfuwdwubiph d3
Yugdwwnd wulidwanpdhpny, pwpénud 0 26780 0
wywinnhtpbwpwih 0.65d3 giptihng tpulwywunnpny
5 nbnwihnfunud \gwlnywn 7.0yd wninl 0 700 0
6 Untnpnud b Gipnd qiluwdwutiph hpwlwbiwgdwy hwdwp u3
hwdwp thnunpwlubph thnpnud 0.6583 gtipkthny 0 390 0
Epuywdwinnpny, gpniiinh wwhbuwnwynpnud 11(33y)
7 glfuwdwubph hpwlwbwgdwt hwdwnp d3 0 13750 0
bwhrwwwwnpwunwlwt 2bpn jubny
8 phinnub gluwdwubph phpwywbiwgnud B20, F100, u3 0 105850 0
8* hEuwhwht wwnwdh dhwany pbinnt B20 J3 1 77950 77950
9 Chunwnuwpd thgp Epuljwywuninpny/0.6543/,9pnuiny 43
0 990 0
funwgdwdp
Lid47+050 ©1.25d b/p funnndwl, dnunpp wehg
1 Ununph b biph pwjpwyjwéd phinntb gfuwdwubph u3
Yuquwwind wulidwanpdhpnd, pwpénud 0 26780 0
wywnnhtpbwpwih 0.65d3 stpkthny bpulwdwinnpny
2 wnbnwhnfunud |gulnywn 7.0yd tnnl 0 700 0
3 Ununpnu b bipnid quwdwutph hpwwbwgdwy hwdwp u3
hwdwnp thnunpwlbph dinpnud 0.6543 gbiptithny 0 390 0
Fpulwdwwnnpny, gpniinh wwhbuwnwynpnud 11(334)
4 glfiuwdwubph fpwlwbwgdwu hwdwnp d3 0 13750 0
Lwhiwwwwnpwunwlywl gbpn fubny
5 phiunnub qluwdwubph hpwlwtwgnd B20, F100 d3 0 105850 0
5* htbwlywiht wwnwdh Jhwany| pnnu B20 u3 1 77950 77950
6 Lbwnwnwpd thgp Fpuljwywinnpny/0.65d3/,9pnuiny b u3
0 990 0
funwgdwdp
Ld47+510 ©1.0d &/p funnndwly, dnunpp dwijuhg
1 funnnywlh dnunph dwppnud gpniinhg 0.6543 okiptithny d3 0 560 0
Fpuljwdwinpnd, pwpand wdnnhtupliwpwih
2 nbnwihnfunud jgwlnywn 7.04d wnnl 0 700 0
3 5 b d gbd. u u3
/p funnnduh Yuipbph puignud gbd.wdwquh 0.1 50820 5082
2uinuituny
4 Ununph L biph puwjpwjywd pbunnub qluwdwubph d3
Yuwqdwwnnud wulidwanpdhpnd, pwpsnud 0 26780 0
wywnnhtipuwpwth 0.65d3 stpbiny tpuljwywinnpny b
5 wbknwihnfunud |gwynywn 7.044d nnl 0 700 0
6 Ununpnud b Gipnud qiluundwubiph hpwlwbwgdwt hwdwn d3
thnunpwyh thnpnud 0.6503 gbptthnd Epulwywinnpny, 0 670 0
gpniuinh wwhbuinwynpnud IV(106)
7 qlfuwdwubph hpwlwlwgdwl hwdwp d3 0 13750 0
Uwhiwwwwnpwunwlwu skpwn fung
8 dhwidny| piwnnub gqfuwdwutiph ppwywtiwgnud B20 u3 0 105850 0
8* htuwywyht wwnwdh dhwény) pivint B20 d3 1 77950 77950
9 Chnwinwpd (hgp tpulwywinnpnd/0.65d3/,9pnwdny L d3
0 1220 0
fuinwgdwdp
10 | Gpnwl hntuh dbg pwpwiht |hgph hpwlwliwgnuwt d<0.34 u3 0 6030 0

4U47+640.0 $1.250 b/p funnnquwly, Jnunpp wehg




1 funnnquwyh dnunph dwppnud gpniiinhg 0.6503 pkipkihiny d3
Epulurjuwinpny, pwpdnud wywinhupliwpwth 0 260 0
2 wnbnwthnfunud (guynyn 7.04d wnnu 0 700 0
3 funnnduwlyh dheh dwppnud gpntiinhg dknpnd, d3
Ynyunwynpnud, pwpénud wywnnhupbiwpwih 133y 0 1940 0
4 pwpdnu dinpny wwnhupuwpwih b nbnwihntunud wnnl
[gwlnywn 7U4d hbnwdnpnieywt Ypw 133y 0 Ty g
5 5/p funnnuwyh Yupbph pwignud gbid.wywqught d3
5
qwnwhuny 0,1 0820 5082
6 Ununph pujpuywsé pbunnub gfuwdwubph uqdwinnd u3
wllidwgnpdhpnd, pwpdnud wynnhupbwpwih 0.6543 0 26780 0
2bpbithny Epuluunnpny
7 wnbnwdnfunud lgulynywn 7.04d wnnl 0 700 0
8 Ununpnud gluwdwuh hpwlwbwgdwb hwdwp thnunpwlh u3
thnpnud 0.65d3 gbipkhny Epulywywwnnpny, gpniiinh 0 670 0
wwhbunwdnpnid 1V(10k)
9 gluwdwuh hpwlwbwgdwl hwdwp d3 13750 0
UwhiwwwwnpwunwYwb okpwn fubny . 75
10 | Unuwnpnud dhwdnyg) pnnbb giuwdwuh hpulwliwgnud u3
B20, F100, suwith 4.6x3.2x0.44 89 LR SEPIE)
10" | hBbwluyhtt winwdh dhwany pannt B20 d3 0,5 77950 38975
1 Chwnwnwpd (hgp Fpuljwdwinnpny/0.65d3/,9pnuwiny L u3
0 1220 0
funwgdwdp
12| Bigh htUwwwinh hhdph U hpwbh funangubiph (pugnid d3
dhwany| pwnnund, B20, F100: e Y L4S60
13 | Bph hbbwwwunh Yhpwunpngnud gbd.wywquhu u2
2wnuwiung h=5ul’ bwhiwwbu denwnwlwt gutgh 70 6010 420700
wnbnwnpnuiny, (100x100)dd @4 Bp- |, P=0.139wn
14 | Bnu hbbwwwinh Jpw wwpwwbnh hpwlwbwgnd gd.d
Shwdny| peunnbing' 0.8x0.44, L=20.00:/6 43 . 2260 Bz ley
4U47+960.0 ©1.04 b/p funnnquwl, dnunpp wehg
1 Ununph b biph pugpuywd ptunntb qfuwdwutiph u3
Ywadwwnnud wubdwgnpdhpny, pwpanud
wywnnhuptiwpwih 0.6503 2bptithny kpulwdwnnpny L 0 26780 0
wnbnwhnfunud igwlnywn 7.0
2 nbnuwihnfunud |gulynywn 7.04d winu 0 700 0
3 Ununpnud U bipnud qifuwdwubph hpwlwbiwgdwt hwdwp u3
hwdwp thnunpwlubph thnpnud 0.6543 sbipkithny 0 900 0
Epujwdwwinnpny, gpntinh wwhbuwnwynprud 11(334)
4 glluwdwutiph hpwhwtwgdwy hwdwn d3
bwhiwwuwinpwuwnwlwu gbpw fung B 13750 y
5 phwnub qluwdwubph phpwlywuwgnul B20, F100, u3 0 105850 0
S hbwlwjht wwnwdh Jhwany pinnt B20 d3 1 77950 77950
6 <bwrnwnwnd (hgp Epulwdwinnpny/0.65d3/,9pnudny L d3
huunwgUudp 0 990 0
4U49+460 @1.0d b/p funnnduly, dnunpp dwhuhg
1 tunnnywlh dnunph dwppnud gpniiinhg 0.6503 stiptithny d3
Epuljwywinpny, pwpdnud wywnnhipwpwih 0 560 0
2 wnbnwhnfund (gulynywn 7.04d wnnb 0 700 0
3 Ununph pwjpuwsé phinnub qfuwdwuh Ywgdwnnw d3
wuldwanpdhpny, pwpdnud wynnhuptwpwih 0.6503 0 26780 0
2tpbthny Epuljwywwinpny
4 wnbnuwihnfunud \gwlnywn 7.04d ninb 0 700 0




5 Ununpnud b Bipnid gifuwdwubiph hpwhwbiwgdwt hwdwp u3
thnunpwih thapnud 0.6543 ptipbithny Epulwdwinnpny, 0 670 0
gpniuinh wwhbunwynpnud 1V(10k)
6 gluwdwubiph phpwywuwgdwu hwdwp u3
bwluwwywinpwutnwlwy  gbpun fuéing: 0 13750 0
7 Ununpnud dhwanyj piwnnub gfuwdwup hpwlwbwgnud d3
B20, F100, swth 3.2x3.0x0.44 0 etste 0
7* | Ununpnud dhwény| piwnnbb gifuwdwuh hpwlwbwgnud d3
B20, F100, swith 3.2x3.0x0.4d g oLl :
8* hBbwluwjht wnwdh Jhwany phinntu B20 d3 0,5 77950 38975
8 Cbwnwnwné hgp tpulwywinnpny/0.65d3/,9pnuwiny L a3 99 0
funwgdwdp Y 22l
4d49+370.0 Uhwany| ptivinub bbippht hEbwuwwn wehg,
L.=40.04, hdhg.=3.04
1 Cbuwwwinh tpbup Jwppnud gpniiinhg dkinpny, pupadnu d3
wynnhtiglwpwiph 11334 35 e i
2 pwnénud &inpny wnnhuplwprwih bk nbnuihnfumd wnnb
[gwlnywn 74d hbnwdnpnuejwt ypw 1133y 6,125 1030 0676
3 ChUwuwwwh Gplugipny upwdninne thnpnud dknpny, u3
gpniuinp Ynywnwynpnid 10 5090 20300
4 30% pwpdnud wywnnhtpbwpewth pwpdnud dkinpny tnnb
wywnnhlptwpwth U wlnwihnfunt |gwlnyn 74 5,85 1090 6377
hbnwynpniejwt Jpu 1133y
5 | <bu uti d dhwa twnuny, B20, d3
Flo(l;:m{wmh funnngutiph Jnwgnu dhwdény; pbiununy, 15 63710 95565
6 Chbwwwuinh hpwunut hnphgnbwlwl hnpwinwligptiph hwin
hnpuwinnud quihlnudw Shongny L=0.2d, d=0.03d peed <UL Syl
7 CEuwwwinh hpwunwt wnnwwunb fuwphupuubiph @16 Alll nnl
wwunpwuwnnd b inbnwnpnud L=0.324: 01213 822060 22410
8 Swdwpnipnuipt - ¢100 b wnihbkphbbwhu qs.d
hunnnyuwliubn 16,8 2580 43344
9 CEuwwjwinh hpwh yepwunpngnud dhwany d3
wdpwbwynpywd phwnnuny B20 , F200,hdhg.=15ud, 18 87060 1567080
wdpwup wwpniiwlnigyniup 10 Alll=886.8g:
Alll @10d/mm wninl 0,8868 734940 651745
8 <bUwwwinh Jpw dhwany; plnnub hpwlwlwgnul B20 d3
F200' hwiwhwnpbignuwing, 2wih’ 0.2x0.55, L=40, e 24 319228
4u50+040.0 @1.0d b/p funnnyuly, dnwnpp wehg
1 Ununph U bjph pwjpwjywd phunnbb gfuwdwubph d3
Gwaqdwuinnud wulidwgnpdhpny, pwpanid 0 26780 0
wywnnhtpwpwg 0.65u03 tipkithny tpuywywinnpny
2 wnbnwihnfunud lgwlnywn 7.044 wnnu 0 700 0
3 Ununpnud L iipnud giluwdwubiph hpwlwbwgdwt hwdwp d3
hwdwp  thnunpwlubiph thnpnwd 0.65d3 gkipkithny 0 390 0
Epuywlwinnpny, gpnitnh wwhbuwnwdnpnu
4 gllvwdwubph hpwlwuwgdwl hwdwp d3 3 0
Uwuwwwinpuwunwlwl 2bpun fuing 0 sy
5 pbwnnub qluwdwubph hpwlywuwgnud B20, F100, U3 0 105850 0
O hEbwlwihty wnwdh Shwény| phinnt B20 d3 0,5 77950 38975
6 <bunwnwnd (hgp tpulwywinnpny/0.65d3/,9pnuing u3 0 990 0

futnwgdwdp

Lu50+450 @1.0d b/p funnnyuly, dnunpp wehg




1 funnnduwyh dnunph b Biph Jwppnud gpniinhg 0.6543 d3
2pbithny Epulywwinpny, pwpdnud wywnhtpwpwih b 0 560 0
wnbnwithnfund \gwlnywn 74d hbn. Jpw
2 wnbnwihnfunud gulnywn 7.04d wninb 0 700 0
3 funnnywlh dheh dwppnid gpniiinhg dkinpny, d3
Ynywrwynpnud, pupdnwd wyinnhuptwpwih U 0 1970 0
wnbnwihnfunud |gwlnywn 74d hbnwynpnipjwt Jpw 11334
4 pwpdnud dinpny wyinnhupuwpwd b tnbnwihnunwd nnl
gwynywn 74d hbnwdnpnueiwy Ypw : erlY .
5 Ununph b Giph pwjpwjywd pwnntub qruwdwutiph d3
Ywquwwnnd wubidwgnpdhpny, puwpanud 0 26780 0
wywnhupiwpwih 0.65d3 gtinbthny tpuywywinnpny
6 wnbnwihnfunud lguiynywn 7.0yd wnnu 0 700 0
7 Ununpnid U bipnud qifuwdwubiph hpwlwbwgdwl hwdwp u3
thnunpwyh thnpnud 0.6543 bipkthny bpulwywinnpnd, 0 670 0
gpniiinh wwhbuwnwynpnud 1V(10k)
8 gifuwdwubiph hpwlwuwgdwl hwdwp d3 3750 0
bwhiwwwinpwunwlwt gbpun fuing 0 1342
9 Ununpnd L Bpnud dhwény) pennub gifuwdwubph d3
hpwlwliwgnud B20, F100, 0 Pl 0
9* hbuwlwiht wnwdh dhwany| pEnnt B20 u3 0,5 77950 38975
10 | <bwwnwnd |hgp Epulwydwinnpny/0.65d3/,9pnuiny L u3 5 0
funwgdwdp L 10
4u50+630 @1.0d b/p tunnnywly,* @1.0m
1* | funnnwyh dnunph b Biph dwppnud gpniiinhg 0.6503 d3 0 560 0
2tiptithny Epuljwdwinpny, pwpdnd wwnnhtipuwpwt
2* | wbnwihnfund igulynywn 7.04d nnlt 0 700 0
3* | Ununpnu b Gipnud dhwdny) pinntb gfuwnhph u3
hpwlwuwgnd B20 0 105850 g
4* hGuwbuyht wunwdh dhwany| pbnnu B20 u3 1 77950 77950
4d50+680.0 Uhwany( pbinnub Jbpht hEuwwwn wehg,
L=15.0d, hdhg.=1.54
1 CEuwwwnh Bplwiupny fupwdninne thnpnud dknpny, d3
annitnh Ynyuwynpnud 5,25 5090 26723
2 30% pwpdnui dinpny wynnhtiptiwpwih U inbnwihnfunwd tnnle
[gwlnywn 7u4d hbnwynpniejwl Ypw EAp Lo SR
3 | <bu ub d dhwd bwntuny, B20, u3
F100u:1u.|u1mh funnngutiph (nwgnu dhwany| ptitnntny, 05 63710 31855
4 LhUwwwinh hpwnud hnphgnuwywl hnpwwinwtgpbiph hwtn
hnpwinnud quuphlynudwl dhgngny L=0.24, d=0.03d 60 [ 78000
5 CEuwwwinh hpwunud wnnwwwnt tuwphufutliph @16 Alll wnnl
wwwpwuwnnd b inbnwnpnud L=0.324: 0,03 822060 24582
6 Chbwwwnh hpwth Ypwunpngnud dhwany) d3
wdpwlwynpywsd phnnuny B20 , F200,hdhg.=15ud, 45 87060 391770
wdpwup wwpniwyneeyntup @10 Alli=221.7Yq:
Alll @104 u/wm any 0,2217 734950 162938
4d50+710.0 Uhwaény; pbiinntb ytpht hbuwwwwn wehg,
1 CBuwwwinh Bpbuh dwppnul gpniuinhg dknpny, pupdnud d3
wtnnhlpUwpwih 35 1970 6895
2 anuwt &b upl L b d u
pwpdnud dbnpny wywnnhplwpwth U wbnwihnfun wnn 6.125 1090 6676

tgwynywn 74d hbnwydnpnupjwl Ypw




<BUwwwinh Epluwytpny fupwdninne thnpnu dbinpny,

a3

gnniinh bnyunwynpnud 8 2090 40720
4 pwndnud dGnpny wywnnhupwpwth L nbnwihinfunud wnnb

[gwynywn 74d hbnwynpnuejut Ypw 4,68 1090 5101
5 | <k ub d dhwd bwnund, B20, u3

Fm(l)x:mwmh tunnnguiph pwgnud dhwany; pbnnting 12 63710 76452
6 Lbuwwwinh hpwunwt hnphgnuwljwt hnpwwnwugpbiph hwwn

hnpwunnud quyhynudwt dhengny L=0.24, d=0.034: /] 1300 100100
7 Lbuwwwnh hpwund ninnuhwjwg hnpwwnwiugptiph hwtn

hnpuwinnid quighlnbiduwl dhengny L=0.24, d=0.034: 64 1030 65920
8 CEUwwuwinh hpwbnwd wnnuuink fuwphututibph @16 Alli wninl

wwwpwuwnnd b inbinwnpnud L=0.324: el 822060 38366
9 <BUwwwinh hpwth Yepwnpngnud dhwany; u3

wdpwuwynpdwsd phinnuny B20 F200,hdhg.=15u, 8,16 87060 710410

wdpwuh wwpmbwyngegniup @10 Alll=402.024q:

Alll @10d0/mm winl 0,4022 734940 295593
10 | <bbwwwwnh wbigdwl hwdwn hGUuwwwwnh Ypw dhwdny; u3

pGnup hpwlwlwgnud, swih® 0.4x0.5x324: 6.4 72210 109344

4U50+724.0 Uhwdny| pinnuk bbipph hEUwwwn

dwluhg, L=11.04, hihe.=2.24
1 <kl ub, d dhwd bwnuny, B20, d3

cht;;mwmh funnnguiph nwgnu dhwany) pbunting, 15 63710 95565
2 <buwwwinh EpYwitipny fupwdninne dinpnwd dbinpny, u3

gpniunh Ynyunwynpnud 3 S 19240
3 30% pwpdénud dbinpny wywnnhuplwpwih L wntinwihnfunud wninb 1 755 1090 1913

(gwlnywn 7yd htinwdnpniejwt Ypw 1133y 49
4 <buwwwuwnh hpwbinud hnphgnuwljwl hnpwnwiigpbiph hwwn

hnpwwinud quyihlinudwt dhgngny L=0.24, d=0.034 48 1300 62400
5 SbLwwwinh hpwlnwd ninqwhwjwg hnpwinwugptiph hwn

hnpwwnnud quyhynudwl Shongny L=0.24, d=0.03d: 2 1030 45320
6 CGuwuwinh hpwbinud wnnujwint fuwphuluttiph @16 Alll wninu

wwnpwuwnnid b nbnwnpndd L=0.324: 0,0465 822060 38226
7 CBuwwwinh hpwuh Yepwlnpngnud dhwdny| d3

wdpwbwynpywd phnnuny B20 , F200,hdhg.=15ud, 4,46 87060 388288

wdpwup wwpnwynigyniup @10 Alll=219.48\q:

Alll @10Ud/mm wnin 0,21948 734940 161305
8 Swdwpninnuiht - ¢100 dd wnihkphibuwhu qé.d

hunnnuuwlutin 2 2580 5160
9 Chbwwuinh Ypw dhwany| pbnnub hpwlwiwgnud B20 , d3

F200° hwiwhwppelignuiny, 1,82 72710 132332

Quwth' 0.3x0.55, L=11.04,
10 | <Buwwuwinh Ypw wwpwubnh hpwlwuwgnud dhwany| gd.d

plwnnuny, swih 3.4x0.6x0.44 (Jhwany pbinntb

wwpwiybwh pinubiph dhel hinwdnpnugniip punniuby 10,2 28410 289782

0.44d)-3 hwuwn:

4U50+773.0 Uhwény| pbuinub Jbppht hbuwuwwwn wehg,

L=60.04, hdhg.=2.54
1 <bbwwwinh ptuh Jwppnud gpnitinhg &bnpnd, pwpdnud u3

wywnnhupwpwth 1334 2.5 1970 4925
2 pwpdnud dtinpny wynnhuptiwpwih L inbnwihnfuntd wnnu

[gwlnywn 7Y4d hbinwdnpipjwl Ypw 1133y 4,375 1090 A
3 <ku b u d J &b ! u3

wwwinh Gplutipny fupwdninnt thnpnt npny 15 5090 76350

gpniunh Ynyunwynpnud




30% pwpénud dbnpny wdwnnhtpiwpwdh b inbquithnfund
[gwynywn 7Yd hbnwynpnipjw dpuw N33y

innl

8,775

1090

9565

CEuwwwinh funangubiph (nwgnwd dhwény; pnnuny, B20,
F100:

u3

63710

76452

LEbwwwwh hpwund hnphgnuwlwl hapwwnwlgptiph
hnpwinnud quyhynudwl Jhengny L=0.24, d=0.03J

hwn

300

1300

390000

Lhtwwwnh hpwtind wnnuwwwnb fuwphufuiph @16 Alll
wuwiinpwuwnnid b inbnwnpnud L=0.324d:

wnnl

0,1516

739850

112161

Swdwpnipnuihtt 100 4 wnihkphibuwhu
funnnywljubip

qd.d

26,4

2320

61248

CBuwwuwinh hpwuh Jepwiunpngnud dhwany
wdpwuwynpyws phwnnuny B20 , F200,hihg.=15ud,
wdpwh wwpnwwlnieinip @10 Alli=1108.5Yaq:

u3

22,5

78350

1762875

Alll @10d0/mm

wnnb

1,1085

734940

814681

Cbbwwwinh Jpw dhwény pbnnub hpwlwbwgnud B20
F200" hwdwhwpprbgnuing, 2uih' 0.1x0.55, L=604,

u3

3.3

72710

239943

4d50+818.0 Uhwdény| pivinub ubippht hbbwwwin dwuhg,
L=19.04, hdphg.=1.04d

<Bbwwwinh funnnsutiph (pwgnud dhwany phnnung, B20,
F100:

u3

1,2

63710

76452

Chbwwwinh Bphuwjupny fupwdninne thnpnut dkinpny,
gpniiinh Ynywnwynpnud

d3

4,75

5090

24178

30% pwpénu dknpny wywinhuptwpwth L inkinuihntunud
[gwynywn 7Yd hbnwynpniejwl Jpw 1133y

wnnu

2,77875

1090

3029

Lhbwwwinh hpwund hnphgnuwlwb hnpwwnwlgpbiph
hnpwnnud quyhynudwt dhongny L=0.24, d=0.034:

hwwn

38

1300

49400

Chbwwwinh hpwunwd wnnwuwwnt fuwphututiph @16 Afll
wwwnpwuwnnid b inbrqwnpnud L=0.324:

innt

0,0192

822060

15784

<Gbwwwwnh ppwbh yepwunpngnud dhwany
wipwuwynpyws phunnuny B20 , F200,hihg.=15ud,
wdpwuh wwpniwlniggniup @10 Alll=140.414q:

u3

2,85

87060

248121

Alll @100d/mm

unnle

0,14041

734940

103193

<Buwwwnh Upw dhwdny; plininbt hpwlwbwgnid B20 ,
F200" hwdwhwprbgnuing,
Quih' 0.1x0.55, L=194

d3

1,04

72710

75618

4d50+826.7 Uhwany) pbnnbb ubppht htbwwwin wehg,
L=50.04, hihg.=3.8d

Lebwwwnp funnngubnh (pugnul dhwany| pbninung, B20,
F100:

d3

63710

114678

CEuwuunh Jpwunpngnud gbd.wdwquiht gwunuwiuny
huhg.=6ul’ bwhuiwwbu JEnwnwlwl guugh
inbinwnpnudny, (100x100)dJ @4 Bp- 1, P=0.376un:

u2

190

6480

1231200

Chbwwwnh hpwtnud ninnwhwjwg hnpwwnwtgpbiph
hnpwinnud quijthyntdw Jhongny L=0.24, d=0.034:

hwuwn

198

1030

203940

Lhbwwwinh hpwunud wnnwjwnb fuwphufubbph @16 Alll
wwwnpwuwnnu b inbnwnpnad L=0.324:

nnl

0,1

822060

82206

Swdwpnipnuyht @100 dd wnihkphibbwhu
funnnyuwljubp

qd.d

21,6

2580

55728

CEbwwwuinh Ypw wyuwpwwbnh hpwlwbwgnd dhwény)
phwnnuny, swih 4.0x0.6x0.44 (dhwény| phiunnub
wwpwubitnh pinlubiph dholt hbnwdnpniegniup punniut;
0.64)11 hwwn

gd.d

44

28270

1243880

4u50+877.5 Uhwany| ptinnub gwllwuwwin dwhuhg,
L=60.0d, hdhg.=0.84




CBbwwwinh JEpwunpngnid dhwdny pbnnutb gwwyhyny’
hidhe.=10.0ud’ bwhiwwbiu dEnwnwywl gwlgh
wnbnwnpnwing, (50x50)Jd @4 Bp- I, P=0.19wn:

u3

4,8

87060

417888

guwug 50x50dd

u2

48

3230

155040

4d50+896.8 Uhwdny| phinnul bbippht hEuwwwwn wehg,
L=58.04, hihg.=2.84

LBwwwinh funnngubiph (pwgnu Jhwaény) pbuinuny, B20,
F100:

u3

55

63710

350405

Swdwpnipnwihti 100 dd wnjhkphiBuwhu
funnnyuwutp

qd.d

21

2580

54180

LEuwwwnh uygphg L=46.0d hwundwsh bpwlnpngned
ghd.wjwquyht gwnuwfuny hdhg.=6ud’ bwluwwbu
dbwnwnwlwl gulgh nbnwnpnuing, (100x100)dd @4 Bp- |,
P=0.255un:

u2

128,8

6480

834624

LEbwwwuinh Ybipghg L=12.0d hwndwdnd hEbwuwwnh

Gpyuwpny fupwdnunt thnpnud dknpny, gpninh
Ynywwygnpnid

u3

5090

15270

30% pwpanud dbinpny wywnnhugtwpwih b nbnwihnfunud
jguynywn 74d hbnwynpnyejw Ypw 1133y

unnl

1,755

1090

1913

Lbbwwwunh Ybpehg L=12.0d hwindwdnd hbbwuwwnp
hpwlnud hnphgnuwywy hnpwwwugptiph hnpwwnid
qujhynudwl Jhongny L=0.2d, d=0.034:

hwuwn

60

1300

78000

L=12.0d hwuinjwdnud hEuwwwnh hpwund wnnuuwink
fuwphututbph $16 Alll wunpwuwnnud b inbnwnpnud
L=0.32d:

wnnu

0,03

822060

24662

LEuwwwwnh Ytpohg L=12.0d, h=2.0d hwwnjwsdnid
hbbwwwwnh hpwth Ybpwunpngnd dhwdngy
wdpwbwynpyws pwnnuny 820 , F200, hdhg.=20ud,
wdpwih wwpntwynyeniup @10 Alll=221.04g

u3

87060

522360

Alll @10du/mm

wnnl

0,221

734940

162422

CBuwwwinh Ybpghg L=12.0d htuwwwwnh ppwtinud
ninuwhwjwg hnpwwnwtgpbinh hnpwwnnd quyhynudwl
dhongny L=0.24, d=0.034:

hwwn

46

1030

47380

10

Euwwwinh Ybpghg L=12.04 hbbwwwwp hpwunud
wnnwwunb fuwphupuubph 16 Alll wwwnpwuwnnud
nbnwnpnd L=0.324:

nnb

0,023

822060

18907

Lkuwwywwnh Ytipghg L=12.0d htbwwwwnh Jpw
wwpwubwh hpwlwuwgnd dhwdny| pbnnung,
swith 3.6x0.6x0.44 (dhwany| phuninul wwpwwbunh
pinyubtiph dhole hnwdnpnyejniup punnait| 0.64):-3

gd.d

10,8

28340

306072

4d50+940.0 Uhwdny| pbunnub bbppht hbbuwwwn wehg,
L=38.04, hdhg.=2.5d

LEUwwwwnh funnnsubiph jpwgnwt dhwény| pbininuny, B20,
F100:

u3

2,5

63710

159275

LELwwwinh Epluwjupny fupwdninnt dinpnud dkinpny,
gnpniuwnh Ynyinwynpnid

d3

1,5

5090

7635

30% pwpanud dbnpny wywnnhtipuwpwih b inbnuihnfunwd
lgwynyn 74d henwdnpnieywl Ypw 11334

nnu

0,8775

1090

956

<bbwwuwinh hpwiunud hnphgnuwlywt hnpwuanwtgpbiph
hnpwuinnud quyhynudwl dhongny L=0.2d, d=0.03:

hwin

190

1030

195700

CEuwwwinh hpuwtnud wnnwwink fuwphufullaph @16 Alll
wwwnpwuinnd b inbnwnpnud L=0.324:

wnl

0,045

822060

36993




Swdwpnipnuiht - ¢100 U wnihkphbuwhl
tunnnyulyubip

qd.d

13

2058

26754

CbUwwuwwnh hpwuh JEpwlnpngnd dhwang)
wdpwbwynpywé phnnung B20 , F200, h=15ud, wdpwuh
wwpniuwyniegniup @10 Alll=842.5q

u3

17,1

87060

1488726

Alll @10dW/mm

wnnu

0,8425

734940

619187

Cbuwwwinh Jupgnud L=23.0d hwwindwiunid hbuwwwinh
hpwuh Ypw ninnwhwjwg hnpwwnwlgpbiph hnpwinnw
quyhyntudwu dhongny L=0.24, d=0.034:

hwn

46

1030

47380

Cuwwwinh hpwunud wnnuwint fuwphututiph @16 Alll
wwwnpwuwnd ke inbwnpnud L=0.324:

unnlu

0,023

822060

18907

Cbuwwwwnh Ypw wwpwwbnh hpwlwbwgnud dhwdny
pbwnuny, swih 4.0x0.6x0.44 (dhwany) pbinub
wwpwuwbiinh pinhubiph dhele hinwynpntpyniup punniub
0.64):-5 hwuwn

qdd

19,2

30630

588096

4d51+000 Uhwany) pbunntit Jbpht hbbwwwin dwuhg,
L=76.0d, hdhg.=2.84

<Guwwwiinh Jepwunpngnud gbd.wdwquiht gwnwiuny
hdhg.=5ud’ Lwtiwwbiu dbtwnwlwl gwugh
wnbnwnpnuind, (100x100)dd @4 Bp- |, P=0.421w:

d2

2i12,8

6020

1281056

Swdwpnipnuiht - ¢100 ' wnihkehiBuwihu
funnnyuljutip

q6.d

2580

38700

4d51+063.0 @1.54 b/p funnnywl, dnunpp &wfuhg

o

0

tunnnywlh dnunph L Biph dwppnud gpnitinhg 0.6543
2tptithny Epulwiwinpnd, pwpdnd wyinnhtpwpwih

u3

o

560

wnbinwihnfunud \gulnywn 74d hbn. Ypw

innl

700

tunnnywlh Jdhoh dwppnul gpnitinhg &tinpny,
Unyuinwynpnud 11334

u3

1970

0
0
0

pwpdnud wywnhuptiwpwth U ibnwihnfunid (gulnyn 744
htnwynpniejwl Jpw 1133y

nnl

1090

Ununpnud b tiipnud glluwdwubph hpwlwbwgdwl hwdwp
thnunpwlh thnpnud 0.65d3 tiptithny Epuljwdwinnpny,
gpniuinh wwhbutnwynpnud 1V(10k)

u3

670

glfuwdwubiph hpwlywlwgdwy hwdwp
Uwhiwwwnpwuinwlwl 2bpun fuéng

d3

13750

Ununpnud L bipnid dhwdny) pnnub gluwdwubph
ppwlwwgnud B20, F100, swih 3.8x3.4x0.44

d3

105850

Cinwnwnd hgp tpulwdunnnpnd/0.65d3/,9pnuiny L
juinwgdwdp

d3

1220

4U51+074.0 Uhwény| pbuintib ybpht hbbwuwjwin dwhuhg,
L=12.0d, hdhg.=2.04

Cbuwwwiinh Bpluyupny fupwdninne thapnud dkinpnd,
gpniuinb Ynywnwynpnud

d3

5090

15270

Cbuwwwnh bpluyupny fupwdninnt thnpnwd dbnpny,
qnpniinh Ynywnwignpnud, 30% pupdnud wywnnhlipliwpwth
b whnuwihnfunud [gulnywn 74d htn, Ypw:

uinl

1,755

1090

1913

CbUwwwwnh funnngubiph (pwgnud, baptiph nuipnnud dhwany;
phwnund, B20, F100:

d3

2,5

63710

159275

CbUwwwnh hpwtnd hnphgnbiwlwb hnpwwnwugpbiph
hnpwwnud quithynudwt dhengny L=0.2d, d=0.034:

hwwn

48

1300

62400

Chbwwwinh hpwund wnnwwink fuwphufutibph @16 Alll
wwwnpwuwninud b inbnwnpnud L=0.324:

wnu

0,025

822060

20552




Swdwpnipnuiht ¢100 4J wnihtphiitwhu

qd.d

Funnnuuwliup 4 2580 10320
7 <bbwwwinh hpwth bpwinpngnud dhwéng u3
wdpwbwynpywd phnnuny B20 , F200,hdhg.=15ud,
wdpwh wwpniiwyneynup 10 All=221.7Yq 4,5 87060 391770
Alll 1040/ mm wnnu 0,2217 734940 162936
8 Cbbwwwiinh Ypw dhwanyj pbunnutb hpwlwlwgnid B20 u3
F200' hwiwhwnpbignwing, 2uip 0.15%0.54, L=124, 0.9 Z2i0 65439
4U51+107.0 Uhwany| pbwnnbb bpht hbbwwwin dwluhg,
L=39.0d, hihg.=1.0d
1 Cbuwwwinh Yepwunpngnud gbd.wywquyht gwnwiuny d2
hdhg.=5ud” bwfuwwbu UEnwnwywl gutigh 39 6020 234780
wnbnwnpnuind, (100x100)0J @4 Bp- |, P=0.0772wn
2 Cbbwwwwnh Jpw dhwdény| phnnul hpwlwuwgnwd B20 , u3
F200' hunwhwippbignudny, 2w’ 0.2x0.54, L=394, 39 [zl 283569
4d 51+142.0 Unp ybipht hEbwuwwn dwhuhg L=20.04,
h=2.0d
1 Unp htbwwwwinh Yunnigdwl hwdwn gnjnueinit niubignn u3
pinup (hEbwwwinh) Yugqdwunnwd wbbdwanpshpny 0 26780 0
2 wbnwithnfunud gulnywn 7.04d winl 0 700 0
3 V10t gpniinh dwlnud bpuljwdwnnpny/0.65%/, pupanud u3
w/htpuwewthbnh du s 820 i
4 wnbnwihnfunud (gulnywn 7.04d wnnlt 0 700 0
5 | Lnyup wibinnud Ynunwlnwing, hbtnwnwné |hgph hwduwn u3 0 490 0
6 Pnunpwlih bpguwdywlnid dkngny u3 0 6040 0
7 Ujwquynwbuyhl gbpin h=10ud d3 0 6300 0
8 Cbuwwwintiph hhdpbinh hpwlwbwgnd dhwany| u3
plunnpg B20 0 64000 0
9 | <hu uub, U d B20 pbwinu d3
wujwinh - ppwbtiph hpwlwlwgn pbuntpg 0 65870 0
10| Hapnpdwghnt Yupbph ppwlwbwgnd 2 sbpn u2 0 9830 0
nnipbpnhnny  phuinwih dwdniyny (d=2,0ud)
1 Spniutnh htn gthynn dwhbplnypubtiph opwdbynuwgnud u2
bpligbnun iwp phunudng 91,2 1250 114000
12| Swdwpnipnh hpwlwbwgnud qd.d 20 8610 172200
13 | Swd U @100 Jd GUwyht &.d
wdwpninnuwiht - ¢ wnihtehiuwh q 0 2580 0
funnndwljbn
14| <twnwnuwind |hgp bpulwywinnpnd/0.65d3/,9nnudny L d3
huunwguuwidp 108,6 1220 132492
4d51+216.7 Uhwany| pbininub ybpht hbbwwwin dwiuhg,
1 Swdwpnipnuht - ¢100 ' wnipkphibuwht qd&.d
funnnyuwlybin 8 2580 20640
2 | <bu ub d dhwd Gwnuny, B20, a3
Fmou;qumh funnngtliph [pwgnud dhwany phnnung, 25 63710 159275
3 Lbuwwwinh Jbpwunpngnud gbd.wlwquiht swnwtung u2
hdhg.=6ud” bwhiwwbu dEnwnuwlwl gutigh 97,5 6480 631800
wntinwnpnudny, (100x100)dd @4 Bp- |, P=0.193un:
4 | <bu dhwa Guinub u d B20, u3
siancnR U bt g 1,95 72710 141785

F200" hwdwhwpplignuing, 2wih' 0.1x0.54, L=394,

4u51+377.5 Uhwany) pbinnbb guliwwjun dwluhg,
L=67.0d, hdhe.=1.74/




Muwwnh Ybpwlnpngnud gbd.wywquiht ywnwfung
huhg.=5ud’ bwhiwwby Jhnwnwlwl gwugh
wnbinwnpnuinyg, (100x100)dd @4 Bp- |, P=0.238un:

u2

13,9

6020

685678

4d51+430.0 Uhwény) puinnub gwilwuwwin dwluhg,
L=26.9d, hdhg.=1.54

Muwnh Ybpwunpngnud gbd.wjuquiht gunwfuny
hihg.=5ud’ bwtuwwbu dhnwnwlwl gwgh
wnbinwnpnuing, (100x100)dJd @4 Bp- |, P=0.08un:

u2

40,35

6020

242907

4U51+460.0 Pwpuwyhl wpdwspny gwblwwwin dwluhg,
L=26.2d, hdhg.=2.50

Muwinh Ybpwnpngnud gbd.wdwquiht gwnwiuny
hdhg.=5ud’ Uwhiwwbu dEnwnwlwl guwugh
wnbnwnpnuinyg, (100x100)Jd @4 Bp- |, P=0.13w:

u2

65,5

6020

394310

4l 51+567.0 Unp ybipht hbuwwwn dwhuhg L=30.04,
h=4.0d

Unp htbwwwwinh unngdwl hwdwp gnynuegnit nilibgnn
hwywpndh phinnth wwbpbtph Ywqdwnnad 5n pbntiw
pwpdnnniejwdp huiplwqlwg uwpwynp wdpwpdhsny:
Yhpwnwpd ubthwywbwwhpnep:

d3

0,00333333

19540

65

Pbunub wwubiuiph nhdwghg whnuwwwnb bpluwypkph
(N10) wywdntnwdnud S pintw pwpdnnnue)wdp
huplwquwg uwpwnp wdpwnahsny: Ybpwnwns
ubthwlywuwwnhpngp:

wnnl

34880

V106 gpniinh dowlnud bpulywywinnpny/0.65%, pwnanud
w/huptwpwthbinh Ypw

d3

820

wnbnuihnfunid |gwlnyin 7.04d

ninl

700

Lnyup wnbinnud Ynunwynudny, hiinwnwnd thgph hwdwp

d3

490

Pnunpuwlh YEpguwdawlnuf dtnpny
Dopabotka BpyuHio

u3

6040

Uywqulnwbuwhl gbpn Jupbiph nwl h=10ud
MecyaHo-rpasuiiHbIif NogroToBUTENbHBINH Cnoii h=10cm

d3

14,5

6300

91350

<buwwwnbiph hhdpbiph hpwlwbwgnud dhwany
piinnhg B20

d3

64000

<Glwwwwnh  hpwlitiph hpwlwbwgnud  B20 phinntihg

d3

65870

"Hidnpdwghnt Ywpbph hpwlywbwgnud 2 obpn
nniptipnpnny phunuih dwdniyny (d=2,0ud)

u2

15,5

9830

152365

Spntuinh htiin gthynn dwlbplinypeubph gpwdbynwwgnud
Enlgbipun wiwp phuninuing

u2

258,5

1250

323125

Swdwpnipnh  hpwlwbwgnud

qd.d

30

8860

265800

Swdwpnipnuiht 8100 Ud wnihtehbuwht
tunnndwlubin

ad.d

22,8

2580

58824

Cbuinwnwnd thgp tpulwywinnpnd/0.6503/,9pnudny L
futnwgdwdp

u3

590,5

1220

720410

4U51+785 §1.50 b/p funnndwly, dnunpp dwluhg

tunnndwyh dnunph U Biph dwppnud gpniinhg 0.6543
2bptithny Epulwywwnpny, pwpanud wywnnhbpliwpwih/

u3

560

wnbnwihnfunid [guiljnywn 7.0yd

nnl

700

tunnndwyh dhoh dwppnud gpnttinhg dkinpny,
Ynytnwidnpnud 11334/

d3

1970

pwpdnud dknpny wywnnhipwpwih U wnbnuihnfunw
[9wlnyw 7yd htnwynpnyejwt dpw 11334

nnu

1090




5 Ununpnud b tipnud gifuwdwubph ppuywbiwguiwt hwdwp u3
hwdwp  thnunpwlutiph thnpnwt 0.6543 stipbithny 0 390 0
Epulwwwinnpny, gpniiinh wwhbunwynpnud
6 gliuwdwubph hpwlywbwgdwl hwdwp u3
Uwhiwwwinpwunwlwl 2bpun funy: 0 13750 Y
7 pnnub gluwdwubph hpwlywlwgnw B20, F100 u3 0 105850 0
VAl hEbwluyht wnwdh dhwanyg piint B20 d3 1 77950 77950
8 <bwnwnwnd hgp Epulwywinnpny/0.6543/,9pnuing d3
huunwgiwdp 0 990 0
4U52+180 @0.7d b/p funnnywl, dnunpp dwluhg
1 tunnnyuwlh dnunph L tph dwppnud gpniuinhg 0.6543 d3
2bpbihny Epuljwunnpny, pwpénud wywnhlplwpwth Y s ,
2 inbinwihnfund |guilinyin 7Yd htn. Ypw wnnb 0 700 0
3 Ununph b biph pwjpwjjws phwnnbb quwdwutph u3
Ywgdwwnnud wubidwanpdhpnd, pwpdnud 0 26780 0
wyinnhtptiwpwih 0.65d3 2ipbithny tpulwduwinnpny
4 wbnwihnfund lgwlnywn 7yd hbn, Ypw wninb 0 700 0
5 Ununpnud b tiipnud qiluwdwubiph hpwlwbiwgdwl hwidwn u3
hwdwp thnunpwlutiph thnpnud 0.6543 gbptihny 0 390 0
Epuywywinnpny, gpniiinh wwhbunwynpnid
6 glluwdwubiph ppwlwbwgdwt hwdwp u3
Uwhiwwwinpwunwlwl 2bpun fubny g ezl Y
7 pbwnnbb qluwdwubph hpwlwbwgna B20, F100, d3 0 105850 0
7* htLwlywjht wnwdh dhwany| phint B20 a3 1 77950 77950
8 <nwnwnd (hgp tpuljwywinnpnd/0.65u3/,9pnwiny b d3
huunwgdwdp 0 990 0
4ud53+730.0 2.0x2.0d ninquitlynit b/p funnnyuily,
dnunpp dwfuhg
1 tunnnywyh dnunpnud inbinwnpyws hwdwpndh pinjubph d3
Yuwpbiph pwignud gbid.wywquiht swnwuny M200: 01 U 2082
2 Blph dwfu wwh gnjnipyniu nlubignn pwjpwwd phunntt u3
ruh Ywqdwuinnu! wulidwqnpdhpny, pkynpubiph pupdnud 0 26780 0
wywnnhtpbwpewth 0.6543 gbptithny tpulwywinnpny
3 wbnwihnfund \gwlnywn 7yd hbn. Ypw wnnl 0 700 0
4 Blpnw unp plbiph hpwlwbwgdwl hwdwp thnunpwlutiph d3
thnpnud 0.65d3 bipbithny Epulwywwnnpny, 30% gpniuinh
pwpdnud wyinnhbptiwpwih 1,35 820 107
5 b d 74d ht u
nbnwihnfunud gwlnyun 74 n. ypw wnin 0 700 0
6 | Lnylup wbnnud Ynunwlnuwing, htunwnwnd thgph hwdwp/ d3 0 490 0
7 Giph pUbtph hhdpbiph hpwywbwgdwl hwdwp d3
bwhiwwwnpwunwlwl stpw fuéng: / 0,92 JE) WA
8 o] ubiph hhdptb u d dhwd Gwnnting, d3
Bé%h rUbph hhdptinh hpwhwtwgnul dhwany| phwnntng 6.3 64000 403200
9 v] ub uub U d dhwd Gwnnuny, d3
Bé%h r;mnh hpuitinh hpwlwbwgnut dhwany) ptnnting, 6.38 65870 420951
10| Gpnu qifuwnhph hpwlwbwgnud dhwény, pbwnnuny B20, d3
F100,swth 2.8x0.6x0.44: 0.672 65870 44265
n Ununpnud qnjniggniti ntiignn pltinh W qqfuwnhph u3
funangubiph |pwignud dhwany| plivinuiny B20, F100: 0.7 63710 SRt
12 | <bwnwnupa u 0.65u3/,9pnuiny L U3
nwnd |hgp tpulwyuwinnpny/ gnnidny 3.15 1016 3200

funwgdwdp




13 | Ununph gnjnipgnit niubignn piwnntl glbph W gfuwnhph u2
Ybpwunpngnud gbd.wywquiht gwnwiuny M200, h=6ud
Uwhiwwbu denwnuwlwt gwugh wbnwnpniding, (50x50)dd 25 8230 205750
®4 Bp- |, P=0,099un:
14 | Lwhwwbugnid £ unnndwlh dbg ppwlywitiugily dhwanyg d3
phwnnut jwwnnly B20, F200, h=10ud’ funnnywlh hwuinwll 7,5 54320 407400
wdpwgbnt Uwwunwyny:
15 | lunnndubh L=23.0d dhwdny) pbinnub hwunuwsnad u3
funnngutiph (pwgnid dhwdny| pbwinuny B20, F100: 0.5 63710 Al
16 | Uhwadny) pbinnub dwdlh uwh Ubppht dwybplnyph u2
ybpwunpngnud gbd.wjwquihl gwnuwtuny M200, h=0.054,
wnplypbnwgnuing’ bwhiwwbu dEtnwnwlwy gwugh 57,5 6800 391000
inbwnnpntdny, (50x50)Jd @4 Bp- |, P=0,228un:
(50x50)dd @4 Bp- I, P=0,228n: 02 57,5 3490 200675
17 | Uhwany) pwnnub hEuwpwuubph Jpwinpngmd
ghd.wyqwquiht 2wnwiundM200, h=0.05¢" bwiuwwbu
dbunwnwlwu guugh wnkwnnpnuwnd, (100x100)dd @4 Bp- 1, U2 15 6020 692300
P=0,228un:
18 | bpnud hniuh dbe pwpuyht |hgph hpwlwuwgnud d<0.34: d3 3 6030 18090
19* | Gpnu phiunnub qluwdwuh hpwlwuwgnd B20, F100, d3 0 65875 0
20* | hbbwlywiht wunwdh dhwany| pnnt B20 d3 0,5 77950 38975
Ld53+780.0 G1.50 b/p funnnlwly, dnunpp dwfuhg
1 funnnywlh dnunph b Giph dwppnud gpniunhg 0.6543 a3 0
2tptithny Epuljwdwannpny, pwpdnud huptwpwy/ 0 560
2 wnbnuihntunud (gulnywnn 74d hbn, Ypw winu 0 700 0
3 funnnywlh dhoh dwppnd gpniiinhg dbinpnd, d3
Ynywwynpnud, 11334/ : T B
4 pwpanwd dknpny wwnnhuptwpwih b nbnwihnfunud nnl 0 0
[gwlnywn 74d hEnwynpnuyejw pw 1133y/ 0 109
5 Ununpnud qluwdwuh ppwlwtiwgdwt hwdwp dnunpwlh d3
thnpnud 0.65d3 2tipkhing bpuywdwinnpny, gpniiinh 0 670 o}
wwhbuwnwynpnud 1V(108)/
6 qifuwdwuh hpwhwlwgdwl hwdwp d3
bwhiwwwwnpwunwlwl gbpn uényg: : KErE) 5
7 pbwnnub qiuwdwubph hpwlwwgn B20, F100, d3 0 105850 0
7* | hbuwhwiht winwdh dhwény| pbnnt B20 u3 1 77950 77950
8 <hwnwnuwné (hgp tpuljwywinnpny/0.6503/,9pnuiny L d3
huunwguwdp / 0 1220 0
Li54+280 @1.5d b/p fjunnnywly, dnunpp dwfuhg
1 tunnnywyh dnunph b Biph dwppnud gpniunhg 0.6543 u3
2Gnptthny Epuwlwwnnpny, pwpdnid hupuwpwdy/ 0 e v
2 wnbnwihnfund [gwlnywn 74 hbn Jpw nnb 0 700 0
3 Ununph L bjph pwpwjht gwpdwdpny qluwdwubiph d3
Yuqdunnud wubidwgnpdhpny, pwpdnd wdinnhlpbiwpwth
0.6543 2tipbhny Epulwdwinnpny L inEnwihnfuncd 0 17680 0
[guynywn 544 hbn, Ypw:
4 Ununpnud gluwdwuh hpwlywbiwgdwt hwdwp thrunpwih u3
thnpnud 0.6503 giptihny Epulwdwwnnpny, gpniinh 0 670 0
wwhbuwnwynpnud 1IV(106)/
5 qiuwdwuh hpwlywiwgdwl hwdwp d3
bwhiwwwwpwunwlwt 2tpwn uény: / 0 13750 Y
6 pbunnub qluwdwubiph hpwlywuwgnwd B20, F100, u3 0 105850 0
6* | htbwluwyhtr wwnwdh Jhwadny| pinnu B20 u3 1 77950 77950




7 <bnwnwipd hgp Fpulwywinnpny/0.65d3/,9pnuwiny b d3
1220 0
fuinwgdwdp
4U54+755 1.5 b/p tunnnywy, dnunpp dwluhg
1 funnnywyh dnwnph b Biph dwppnud gpniinhg 0.6503 u3 6 0
2tpthny bpulwywinnpnd, pwnpdnwd huptiwpwth, 260
2 wnbnuwihnfund igulynyin 7yd htn Jpw wnnl 700 0
3 Ununph U bph pwjpwjdwé pbwnnut qfuwdwubph u3
Ywqdwwnnud wulidwgnpdhpnd, pwpdnwd wynnhuptwpwih
0.6543 2tipkihny kpulwywinnpny L nnbinwihnfunud 26780 0
(gwlynywn 74d hbn. Ypuw:
4 Ununpnud gjluwdwuh hpwlwbwgdwt hwdwn thnunpwljh d3
thnpnwd 0.65U3 Jbipkithny bpulwywwnnpny, gpnilitnh 670 0
wwhbBuwnwynpnud 1V(106)'
5 glfuwdwuh hpwlwbwgdwl hwdwp u3 13750 0
Uwhiwwwwnpwunwlwl sbpun fubny:
6 pbwnub qiuwdwubph hpwlwuwgnad B20, F100, u3 105850 0
6* | hbbwhuwiht wnwdh dhwany| ptnnu B20 d3 77950 77950
7 <Gwnwnwnd (hgp tpulwlwinnpny/0.65d3/,9pnuing L d3
1220 0
funwgdwdp /
4UJ54+995.0 @1.04 b/p funnnyuwly, dnunpp dwluhg
1 funnnjwyh dnunph b biph dwppnud gpniuinhg 0.6543 d3 560 0
2bpbithny Epulwyunnpny, pwpénud huptiwpwih/
2 wnbnuihnfund igwlnywn 74d hen. Jpus:/ tnnb 700 0
3 Ununph U bjph pwjpwjywd pbunnub qiuwdwubph d3
Ywqdwinnud wulidwagnpdhpnd, punpdnud wynnhlplwpwi
0.65u3 2bpkihny kpuljwdwinnpny L inbnwithnfuntd 26780 0
[gwlnywn 7Yd hbn. puw:
4 Uninpnud giluwdwuh hpwlwbwgdwt hwdwp thnunpwlh d3
thnpnul 0.6543 biptithny bpulwdwinnpny, gpnitnh 670 0
wwhbuwwnpaud 1IV(106)/
5 gliuwdwuh hpwlwuwgdwl hwdwnp d3 13750 0
bwhwwwwnpwunwlwu 2bpin uénd: /
6 pbwnub qlluwdwubph ppwlwliwgnd B20, F100, d3 105850 0
7 Cunwnwpd hgp kpulywdwinnpnd/0.65d3/,9pnuiny U u3
funwgdwdp /
1220 0
9.Cunwdbu
d o 38964242
X | 4d 41+472.2 b/p Ywdnipg
1 Bpplblnyeinip Ywpguwynpnn Swiwwwphwiht bywliubp/ hwtn 30920 0
hbwnwagw Ywgdwwnnuing U yhipwnwpd 50%/
2 Utitnwnwlwl pwaphpltiph Ywqdwinnd wywnngbuny: tnnl 28020 0
Ybpwnuwpd ubithwlwuwwnhpnep:
3 (anhspwjht Yuwnmgywédph tqph b/p Ywgiwnnw u3 31890 0
wubidwanpdhpny
4 Pwpanw w/h dbnpny b inbinwihnfunud |gwlnyun 74d: wnnl 1090 0
5 Epelblwiht Jwuh ubwlwgh Ywqdwwnnw gptntpnd, u3
Ynywwdnpnuwing: Pwpdnud huptwpwih 0.6543 gkipkithh 720 0
wnwnpnnnipjwdp Fpuljwywwnnpny/
6 Stinwdhnfundd lgwynywn 74/ wnnl 700 0




Ununpnud U bipnud hnduh dwppdwt b niqndwl

wfuwnwlptibip 0,65d3 Lpuljwywwnpny: U3 0 820 0
8 Stnwihnfunid \gulnywn 74/ wnnl 0 700 0
9 | felbph hphdpt ub; d dpwad Bununy: J3
nh hhdptinh funanguibinh ipwignud dhwanyi pbnung 0 61580 0
10 | raubiph unpngnud (50x50Ud guigny P=515lq) M200 u2
ghublnwh swnuluny; 72,5 7760 562600
1 Chuwpwutbph hhdpbph Gplwjupny fupwdninhubkph
thapdwl hnnuyht wpfuwwnwupubp dknpny’ pug
gpniuwinnud gpwhbinwgnudny - 9ph hnupp dhusl 3043 dwd/ u3 0 9260 0
12| <npwinwigptiph hnpwnnud (hnphgnuwlwl) d=4044 huwin 1610 0
(L1=15ud), hbrnwgw Yhpwunpngdwt buwiinwlny/ 0 :
13 | <Guwpwulbph hpwlubpnu wanwwnt fuwphufutbph 16 wnnl 807700 0
Alll wwnpwuwnnwd bt inbqwnpnwy/ 0
14 | hpwbbph Ybpwunpngnid dhwany, wdpwbwdnpdws u3 0 92610 0
phwnnund, w.uy. Alll=57,94q/43
w.uy. Alll=57,94q/d3 winu 0 699030 0
15 | <Buwpwuubph gpniinh hbwn gthynn dwlbplingeutph d2
puywdpwiht opwdbyniuwgnuy/ 151 — 74
16 | hupwdninhubiph htinjhgp dbnpny: Spniinh inbnwnpnud d3
26puntipny U futnwgnud wblidwinndhwting/ 5.2 s 10888
17 | Lwppbgunn 2tipwnh ghdbuunwiht gwnwhe wuwhphsutiph u3 0 50610 0
pinbbph tnwly H=2ud/
1 < ulyniu u d dhwd Gwnu u3
8 nupuwjht Bnwulniunt hpwlwlwgnud dhwdny; pinntihg 0 55540 0
nwu B20/
19 | fFn. Yunnigdwdpltiph unubdwjht gpwdblyniuwgnid U2
0 7050 0
tplztipwn hanguidny/
uhy 2t & tunu B25 W6, H=4ul u2
wwizwnwhs 26nunh dhwany) plinn ud/ 0 3700 0
Swug wipwlwjht 100x100 dd) @4 Bp-! u2 0 1780 0
20 | Cwppbigunn stipnh gbdbunwht swnwiu wujwhphsubph d3
pinbnh wwily H=2uy/ 0.0 50610 -101
21 | Qwywpnyh b/p dwjpbiph pinlubph wwunpwunnd b hwtn
inbnwnpnud. 2wih. 71x140x299ud, pwop - 1,75in: U.y. 0 324510 0
Al1=94,144q/d3, Alll=130,0yqg/J3:
22 b 5.
ntdnpdwghnt Ywpbph hpwlywbwgnw/ pecopmatmontbie gd.u 0 42140 0
wabl
23 | Uwbpwhwwhly w/p h=4ud U2 0 4190 0
24 | Uwupwhwunhly w/p h=3ud u2 102,4 3210 328704
25 | Mnnuuwuwnb pwqphptbiph hpwlwbwgnud-24qd.4, wnnl
ubiplynuiny/ 0 46440 0
L63x63x6uUd/mm P=90.4lg/kr gd.ud 0 4660 0
L50x50x5dd/mm qd.d
P=177.6 La/ur g 3090 y
L70x70x6dud/mm gd.d
P=152(q/kr : Rl )
@12 L=110.881/m wint 0 701430 0
-5x50ud/mm P=4.8lg/kr qé.u 0 1760 0
26 Uwjebiph dwupwhwwnhl w/pbnnt h=4ud d2 18 4290 77220
27 | hupwdninhubiph dinpdwt hanuiht wyluwnwlpltn u3
atinpny Ygnpndwl wudwhnhsutinh nbnwnpdwt 0 1930 0

hwdwp/i133y/




28 | Ujwquynwbuwht bwhiwwwnpwunnd jgnpndwl d3
whiuhphsbinh pinlbnh vy h=10ud 0 K Y
29 | <wdwpnyh b/pbwnnub wudwhphsubph pinyubph hwuwn
wntinunpnul. 2wih. 15(50)x75x150ud, P=0,53w, urLw. = 0 68150 0
83,15q/d3
30 | Uujwhphsubiph nuinnuhwjwg géwlgnid U2 19,6 810 15876
10.Cunwdbkup 1013990
X' | Bwuwwwphh Ywhwynpnod
O6ycTpoiicTBo goporu
Upgbwihwlngubip
1 Lnp db u & ub; b d 5.0
Renaingbodwuingph inbmuinan. o 5706 22300 127243800
(d=4duy/
2 Cl nhwh wwunhly wqnwlpwuwhu uniibkph hwin
ko 752 5440 4090880
Bwlwwwphwiht unp bpwubbiph wnbnwnpnuwy/ 0 0
Ubinwnwlw funnnjuwy 57x3,04d qo. 988,3 5460 5396118
phiwnnu B15 d3 31 47560 1474360
Lwiuwaggnigwgunn hwn 237 18960 4493520
Unwybnipjwu hwwn 76 18960 1440960
Upgbnn hwuwn 16 18960 303360
Lwwntly phjwnpwuph hwun 18 18960 341280
StnbYwuwnydnipuwu hwtin 20 15510 310200
Eppubyth dwuh Upwadnud | (nuwbnpwnwnéhs
qunhlubiph oqunwgnpddwp 0.354g-142
Cwdwunwnwé 1.1; 1.2 /0.14 jwyu. yd
Cnnowwaa 1.1; /c wnpunoit 0.1m/ 0 Ry 0
Cunhwinnu 1:3 (1.5) /0.1d [wyu. yd
MNpepbisucranl:3(1.5) /c wupnroii 0.1m/ : pOUES Y
Cunhwwnnt 3:1 (1.6)/0.1d (wyb./ yd
MNpepbisuctan 3:1 (1.6) /c wnpuroii 0.1m/ 0 106800 :
Cunhwwnn 1:1 (1.7)/0.14d (wyju. yd
MNpepoisucran 1:1 (1.7) /c wupuroit 0.1m/ ’ R Y
dAtinpny Upwgdnud 1.14.1;1.17 d2
[PyuHan pasmetka 1.14.1;1.20 0 2090 0
* Gpplbybh dwuh Upwadnul , phipdnwwunny u2
/304 hwuwnupjwdp/ 4925,715 9695 47754807
11.Cunwdbup 192849285
Xl | Lpwgnighs wluwinwpbip
&/p hwwpnyh uwptin
CbopHbie #/6 noTku
1 u Gwjht okipin h=10ud d3
Ywaqulinwtwiht 2kptn u 0 6557 0
2 5/p hwdwpndh Jupbph wbnwnpnu L=3.0d; 34x30ud hwwn
swithup-414g3.4/ 61 54070 3298270
3 Jwphb db d bplgb d U2
TR WonuiElaanth Mg phithnuddl| 230,58 1236 284997
4 Ptwnnub bopwpwnpbiph tnbnunpnw 15x30ud qd.d
/wudunwlignipjwl puqnhpitip/ 4 Ky 0
*Phwnnub Jupbip 50x60 ud
HK8Y) Ywpgh pwhnnnud thnunpwlh thnpnud 0.6543 Lpu.
1| Pwpdnud w/h ynw, inbnwihnfunud |gwlnyn 7 Yd u3 428,16 2032 870021




{1{8) Ywpgh puwhnnh dawlnu Epu. 0.6543 .0, Ynnph

2 Ynunwyndng d3 90 485 43650
11(8d) Ywpah puwhnnh dawlnd dkingny, Ynnph

3 Ynunwynuing d3 19,04 2852 54302
< &/p 50x60ud b b d

ap- [ Rndbit/ 20:000 0 uRtinh inkniunin. hwn 347 107517 37308399

5 UWwquynwbuyht gbpn h=10ud d3 97,72 6299 615538

6 puidbynuwgnud (2 gbpwn twp phnnwing) J2 1426,16 1254 1788405

7 G/p vwibph wbnwnpnu huwn 1041 1741 1812381

8 | <twwnuwnd jhop u3 109,04 1457 158871
Ut U ub ] d d=0,273(5)4,

9 tinadeUaph ntndinan. ©) q:ﬁ'n" 28 39244 1098832
hu ub db d bplok d

1044 RNAMRABONN S BN oRT SAURUNA ng Bhinnulng | e, 1L S 1835 40269

11 | Uhwgdwu dhwény( ptnnt (funnndwlh b Jwph) J3 0,108 104765 1315
*MYy4 510+54-nud d-273,4d 515+22-nd d-325
donwnuwlwl funnnduwy Jwpbiph oph pwg ernudwl
hwdwnp
11(84) Ywpah puwhnnnid thnunpwlh thnpnud 0.6543 tpu.

1| pwpdndd w/h Ypw, inbnwihnfunud \gwlynywn 7 4d J3 2,36 2032 4796
fu ub d d bplob

2| anedutiinh snuBlnunugnud. Bl pwg ) 12,0419 1835 22097
phuning

3 | Ujwquinwswht sbpin h=10ud u3 0,448 5720 2563
Ut u ] d d=273dd; 8=5dd

4 sgatetinpiubb Nt q8.0 3 39244 117732
Uk u ] d d=325d4; 8=50d

5 el bieTnnn. q8.d 10 30445 304450

6 | <tuwnwna hgp u3 1,197125 1457 1744
*Ubnwnulwu guug Jwpbiph Jpw 0 0
Ut U gult J U wnb d-129

1 hw:u‘r‘w“w gtonnuun il nEnuinn. hwtn 129 11404 1471116
Ubinwnwlwl odbiip N8 1M - &l

2 AR, qdd 258 4021 1037418
Ubwwnwlwu gybltp N6.5 M - 8L

3 LE0i36UM 13 hton go.d 603 5028 3031801
*Pbuwnnub wpbp 5-2-20
HI(8Y) puwhnnnud thnunpuwlh thnpnud tpu. 0.6543,

1| 40.65u3 kpu. pwpdnui w/h Unw, wbinwihnfunud |gunyn 7 d3 52,3 2032 106274
yd
U 6w hbu gbpwn h=10ud

3 [t abnib=0u a3 26,15 6299 164719
Ptwnnub b db Jd 0]

T e T WL T P 502 496,9 1254 623113

4 | Unp pnnub Juipbiph nbnwnpnid 6-2-20 huwin 523 13761 7197003
*Qpubin Ynnuwlh Jpw/2 hwwn/ 0 0
8Jll Ywngh puwhnnh dawlnud b pwpdpnud dkinpnd,

L i e e U3 4 4973 19892
NT U N2 pbunnub hbbwlub Jd dhwd Gunu

2 st i Anionud Jouanii pmanting] | 5 oo 0,6 69582 41749
N1 U N2 ptiinntb hbuwlubiph gpwdbiyniuwgnid biplygtipn

3 phinnuing d2 5 1254 6270
2nub u 2 h

4 [FRGERSI N2 43 0,94 107553 101100

Fuwht bwhiwwwnpwunwlwy otpn h=10ud-1.943




5 B-3-22 pinyh wbnwnpnud huin 8 4654 37232

6 B-5 pinbyh wbnwnpnud hwwn 8 13789 110312

7 | Cwpprwlh dhwdny| pbnnt B-20 ,h=20ud d3 1,6 58305 93288

8 Ujwquinwbwiht bwhiwwwinpwu. gtpn 10ud d3 0,92 5720 5262
Luywdpwyht db d

g | Pudwubpuihl gnudblniwgnud /ihuwpungnduly 02 38,3 1835 70281

10 | Ubnwnwlwl Ghuwpunnnduwly d=530/204 qd.d 24 64581 1549944

1 runnnduwlyht Bnwlgynn wipwu © 16A500c qé.J 0,8 1409 1127

12 | <Gunwnund (hgp d3 1,4 1457 2040
*Qphnpubiph wnnignd 6 hwn 0 0
®nunpwlh thnpnud dknpny - 111(84), Ynnph Ynunwlynding

1 u3 15,6 2852 44491
u Gwjhu obipin h=10ud

3 ¥ Rtinsant 26 nu h=10u a3 0,85 6299 5354
Qnhnph dhwé twnu B20, F 200

3 | “nhnnh dhwdny plinn a3 5,3 81689 432952
Lnhnph puywdpwht gnwidblnwgnud 2 gbipn tnwp

4 | phuinung 2 28,98 1254 36341
<b a &b

5 tnunuind (hgp 8imgny a3 2,25 1457 3278

6 Ubtnwnuwlwl guugh wwwnpwuwnnud b nbnwnpnud o 6 14795 88770

Ahnnwulyn wulniiwl 63 x 5 1g80 =4,81
7o el p il 63 TG o q8d 19,02 3806 72386
Nhnnwulyntt wulyniwly 50 x 5 1g64d=3,77

g IBIRIUUBREINAY 505, 1 o qdd 19,02 3218 61206

9 Udpwlubp @14 A 500C nnu 0,12517096 517088 64724
Luwtuopnp Ynunwlywsd puwhnnh punpdnud 0.6543 Lpu.,

10 inbnuihnfund 74d gwlnyn d3 13,35 1887 25193
* Chlwwwwnh pwpdpwgnud , MY508+90-MY509+14
dwfu
Cbuwwwinh pwndpwgnul B20 nwuh dhwdny) phnnuny

1 2000x80x30ud J3 5 65873 329365
*Chbwwwwnh pwpdpwgnud h-80ud, MY4508+66-

2 | My508+86 wy 0
Snjnipjni niubignn hbbwwwwnbiph dpw wpubuwghu

3 | dnnbip nbinwnpbne hwdwn ninnwhuwjws wugptiph hwwn 10 1439 14390
qujthynunud- d40dd, L1=30 ud:
Snyniejni niubignn hEbwwwnbph Jpw wdpwbwht

4 fuwphufutbph nbnwnpnd &10A500c , L1=80 ud: d 8 532 4256
Fwnpuhnuwgtidbuwnuwght gwnwiu - 0.005 d3:
Cbuwwwwnh pwpdpwgnid B20 nuwuh dhwdny) phnnting

5 2000x80x30u d3 4,8 65873 316190
<GUwwwinh pwpdpwgnud h-40ud, MY508+00-
M4508+49 wy, L-564
Snyniejnit niubignn hbuwwwunbph dpw fuwpufuwgh

1| annbip /pwyip 16/ wbnunpbine hwdwp nipnwhwyws hwwn 55 1439 79145

wlgplbiph qujhlynunui- d40dd, L1=30 ud:




Snjniegnit niubignn hBbwwwwnbph Ypw wdpwbwght

fuwphuputbiph whnwnpnu &10A500c¢ , L1=80 ud: d 44 532 23408
twnpupnwgbdbunwht gwnwfu - 0.012 43:
Chbwwwinh pupapwgnud B20 nwup dhwény| phivnuny
5600x40x40ud J3 8,96 65874 590227
*Uwnnphu hEuwwwun MY4404+69-M4405+80
{84} ywngh puwhnnnd thnunpwyh thnpnud 0.6543 Lpu.
pwpand w/h dpw, nbnwithnfunyd lgwlnyun 7 Y u3 2 2032 § 08
®nunpwlh thnpnud  1118Y gpniiinubpnud
Epulywywinnpnd/0.6543/, inknnud Ynunwlynudng g3 1 485 5335
hbnwnwnd (hgph hwdwp/
<hdph dhwa Gwn B20
[enSuconl pavn 03 36,075 64001 2308836
Ppwuh Jhwd bwnti B20
nThueouRb, 03 31,08 65873 2047333
Lulwdpwihts gpwdbynuwgnid d2 199,8 1255 250749
Swdwpnipn qdbu m 9976 1107336
18hwn wwuwhy funnnqwl P1104d 1=0.354 gd.d 6,3 2583 16273
<k &
nwand (hgp 03 1 119 12309
*Chuwwjwwn MY479+50 dwiuhg
{8d) Ywpah puwhnnnud thnunpwlh thnpnud 0.6543 Lpu.
pwpdnwd w/h dpw, nbnwihnfund jgulnywn 7 Y u3 : Ak kY
®nunpwyh thnpmd 1184 gpniiintbipnud
Epuywywinnpny/0.65d3/, tnnnud Ynnwlynuiny g3 3 485 1455
hbwnwnwpd (hgph hwdwp/
u Guiht 2bpwn h=10ud
el P 03 0,8 6298 5038
< dhwa u B20
ARk 03 6 64001 384006
LBuwwwinh hhdph W ppwtih hpwlywwgnu  hwywpndp
pbunub pinlutip 1x1x1,2 B20 /<Buwuwwunnh funnngubiph d3 14,4 112557 1620821
(nwgnw ghdtunwywab ywnwfuny /
Gpniiinh hbinn gthynn dwybplnypubph gpwdbynwwgned
bplpbpun wwp phunudng d2 12 1254 15048
<k & &b
pLIunS (N8 anont 03 3 1457 4371
MY 50+470 &dwfu, M4 50+82 wy, M450+860 dwlu,
MY50+900 dwtu, MY50+970 we hbuwwwwnh
pwndpwgnud
<ku & d B20 dhwa Gunu
iR nEnuonu B0 dhuishuipbanting a3 93,5 65873 6159126
/hpwt/
*Snjnipeyntu niubignn d-237 dd.junnnwyp
Jbpwuwnbnwnpnd MY4406+50
Snjnieyni niubignn denwnwlwy d-273dd funnqndwilyh
wwwdntwnwdnud L-7.04d, qd.d 7 1312 9184
u nwbuyhl 2tpwn h=10ud
DM e O 03 0,256 5720 1464
Gnjnupynit niibignn denwinwiwt d-273d4 tunnnywlh
opwiblntuwgnus u2 5,486208 1835 10067
Gnynueynit niibignn dbnwnwywu d-273d4 funnnywlyh




Sfuwnhph hpwlywbwgnd B-20

5 u3 0,874 104765 91565
Uwinnpht hbbwwwwn 4U401+80-4U402+30
11{84) Ywpgh ptwhnnnu thnunpwyh thnpnwd 0.65U3 tpu.
I pwpénud w/h Ypw, nbnuhnfund [gulnywn 7 Y4d u3 18,5 2032 VLD
®nunpwlh thnpnud 118 gpnuuntipnud
2 Epulwwinnnny/0.65d3/, wbinnid Ynunwlynuing g3 14 485 6790
hivnwnwnd thgph hwdwp/
u Gwjhu otipin h=10ud
I e B 03 35 6298 22043
<hdph dhwé Gwnu B20
T e L 03 15 64001 960015
h b 20
R W R T e 03 17,5 65673 1152778
6 | Rujwdpwiht opwdtyniuwgnud U2 82,5 1254 103455
7 Swdwpnipnh hpwijwiwgnud qd.d 50 9977 498850
8 S0hwin wwuwnhlyl funnndwl £10044; L=0.354 gd.J 17,5 2583 45203
9 | <bwnwnwnd (hgp u3 14 1119 15666
Cunwdbup 82665152
Swudwytp b Ubpht lunuwbwy qnuintiph
opwiwnwlwpwpdwl hwdwlwpgh pwpbuynud
2nwahs-1 /W1/
<nnuijht wouwwnwupubp
1 Fupwdninni b thaunpwlh dowynud V Yuipgh d3 0 1399 0
gpniinbibipnud, Ynnwihgpnyg
2 fupwdninnt b thnunpuyh dpwymd IV Yupgh u3 0 985 0
gnniuwnbbpnud, Ynnwihgpny
3 Fupwdnuint b thnunpwilyh (pudawlnud dtinpny, hwwnwlh d3 0 6593 0
hwpebgdwdp
4 Ujwah bwhiwwwwnpwunwywl gbpuinp hpwlwbwgnud u3
0 7260 0
h=10ud hwuwnnipjwdp
5 Ujwgh wwunwwuhs 2bpunh hpwlwbiwgnid d3 0 7261 0
6 tupwdninne L thnunpwlh Bunhgp, Ynnwihgph dwlws u3 0 462 0
gnniuintiphg’ tinthwunuwng
7 Uybjwgwd qpatiintbiph hwppbignid wnbnnu d3 0 453 0
Skfutninghwljwu wyluwnwupubip
G b (Ci) ¢150 ub d b
i njnieniu niubignn et (Ci) @150 unnnuwlubph Yupne wnbin 0 4699 0
2 Mn|pkehiut (HDPE) bnwlgynn junqndwlubph qd.d
dnbuinwdnud fupwdninhuipnud DN160, PN=1,0 UMuw, 0 8572 0
thnpdwpynud
3 Mnjhkehibul (HDPE) bnwlgynn junnndwlubph qé.J
dnbunwdnud fupwdninhubipnud DN9O, PN=1,0 0 3245 0
UMNuw,thnpdwplynid
4 Mn|hEphibut (HDPE) bnwlgynn tunqndwlutph qd.d
dnuwnwdnud fupwdninhubipnud DN63, PN=1,0 UMuw, 0 1776 0
thnpdwipynud
5 Mn|hkphtut (HDPE) bnwlgynn funnnjwlutiph qd.d 0 764 0
dnUunwdnud upwdninhubipnud DN32, thnpdwplynud
6 Mnlhtehiut (HDPE) bnwlhgynn funnnywlitph qd.d 0 667 0
dnuwnwdnud tupwdninhubipnud DN25, thnpdwplyned
7 Ubwwynp thwlwubph dntunwdnud DN150, PN=1,0UMw hwtn 0 138714 0




8 Ubwwynp thwlwuubph dnbtnwdnwd DN50, PN=1,0UMw hwn
43430
9 Mnnuunt Ygwoniprbiph dntinwdnd DN150, hww
PN=1,0UMw 15716
10 | Mnnuuwint Ygwynipebiph dnuuwdnid DN50, PN=1,0UMw hwwn 4475
| Mnjhtphitt (HDPE) DN160 - dbinwn DN150 (St) Ygnpnhsh hwn
dnbiunwdnud (HC) 25090
12| Mnjpkphibt (HDPE) DN63 - dnwn DN5O (St) Ygnpnhsh hwn
dnutnwdnud (HC) 6509
13 | Mnjptehibut (HDPE) tunnnqwlutph duwynp dwubp hwwn
DN160xDN9O0 BUEEn)
14 | Mnihtphitut (HDPE) funnndwlubph dlwynp dwubn hwn
DN9OXDN63 8802
15 | Mnjhkphitut (HDPE) tunnnywlubiph dlwynp dwubp hwwn 2380
DN63xDN25
16 | Mnjhkphitiul (HDPE) unnnwlitph dhwgnud huwin 6468
fuwdnipuwiht wugnuing DN160xDN32
17 | Mnjhkphitut (HDPE) junnndwltbph dhwgnid hwwn 6296
juwdnipwjht wugnwing DN160xDN25
18 | Mnjhtphibub (HDPE) unnnywlubiph dhwgnud hwtn 287
huwdnipuhl wignuwng DNIOXDN32 "
19 | Mnjhkphibul (HDPE) unnnywlubiph Jhwgnd huin 4137
fuwdnipuwihti wugniding DN9OxDN25
20 | MnjhkphiGut (HDPE) funnnqwlubph dhwgnid hwn 2652
huwdnipwht wignuing DNE3xDN25 :
21 Mn|hEphbul wwpnipwlwyht Ygnpnhsubiph dntitnwdnud hwtn
DN32 S
22 | Mnjhtphibul wwpnipwlhwiht Ygnpnhsubiph dnbwnwdnud hwwn
DN25 1985
23 | Onwhwt DN20 hwun 11135
24 | Mnihkphibut (HDPE) DN160 tunnndwlubiph , (Yuwgntd, yd
153670
wiunwhwuntd
25 | Mnjhkphibut (HDPE) DN9O funnndwlubiph thapdwplynud, yd 109831
uwgnud, wiutnwhwunud
26 | Mnihtehbut (HDPE) DN63 funnnywlutiph , (Jwgnud, yd 0
whiwnwhwunud 32809
27 | Mnihkehibub (HDPE) DN32 funnndwlyubiph thapdwplynid, yd 2809
HYwgnud, wiunwhwunud 9
28 | Mnjhtphibub (HDPE) DN25 funnndwlubiph , jqwgnud, yd 9
whunwhwund 2809
2nwaghd-2/W2/
<nrwjht wluwnwplbip
1 Fupwdninnu b thnunpwlp dowlyned V Yuwpgh d3 199
gpninubipnud, Ynnwihgpny I
2 Fupwdninnu b thnunpuwyih dpwlynad IV upgh d3 8
gpniuinbiipnud, Ynnwihgpny i)
3 fupwdninne b thnunpuwlh pwdawynud dbnpnd, hwuwlh u3
hwpebgdwdp 6593
4 Ujwgh bwhiwwwinpuunwlw sbpnh hpwlwuwgnu d3
h=10ud hwuwnnejudp 7261
5 Udwah wwyinwuwhs otpinh hpwluwitiwgnud d3 7261




6 Fupwdninni b thnunpwlyh Binghgp, Ynnwihgph dowlyws d3 5
anniintiiphg’ nndhwunudng 46
7 Uybjwgws gpniuinubnh hwppbgnud inbnnwd d3 453
Stfuuninghwlwl wotuwwnwlputp
1 Mn|htehbut (HDPE) bnwlygunn unqnwlubph qd.d
dntnwdnud fupwdninhtbipnud DN9O, PN=1,0 3245
UMuw,thnpdwpynud
2 Mnhtehitl (HDPE) DN9O - dtunwn DN89 (St) Ygnpnhsh hwn
dnbnwdnd (HC) 9972
3 Mnihtehiut (HDPE) DNSO funnndwlubph thnpdwpynid, yd
109831
Juwgnud, wiunwhwunud
Qnwghd-3/W3/
<nnuijht wptuwwnwpubp
1 rupwdnine b thnunpwlh dpwlynd V upgh u3 1329
gpniuwnbipnid, Ynnwihgeny
2 Fupwdninnt L thnunpuwlh dowynid IV Yupgh d3 985
gpniuunubipnud, Ynnuwihgpny
3 Fupwdninnt b thnunpwlyh (pwdawlnud dbnpny, huwnwyh d3
6593
hwpprbgdwdp
4 Ujwah bwiuwwwinpwunwlwb sbpnh ppwlwbivgnud u3 2961
h=10ud hwuwnuyejwdp
5 Uywgh wwynuwwlhs 2Epunp hpwlwiwgnid d3 7261
6 fupwdninnt b thnunpwlh Buihgp, Ynnwihgph dowlyws d3 462
gpnibintiiphg’ tinthwunuing
7 Uybjwgwd gpniiintubiph hwpebignud wnbinnud u3 453
Skfuuninghwlwl woluwwnwupttp
1 Snjnupnit nlubignn wnnujwiinb (St) @50 funnnywlubph wnbin 1644
Yuipnud
2 Mnihtehitul (HDPE) Gnwlygynn funnndwlubiph qd.d
dntitnwdnud fupwdnuinhutipnud DN63, PN=1,0 UMw, 1776
thnp&wplynud
3 Mnjhtphitiut (HDPE) bnwlgdnn funnndwlubph qd.d 666
dntunwdnud fupwdninhtbipnud DN25, hnpdwplynud
4 Mnihtehisut DN63 (HDPE) funnndwlutiph dlwynp hwtn 2185
dwubip
5 Mn|hkph|tu (HDPE) DN63 - dbuwn DN50 (St) Ygnprhsh husn 6509
dntwnwdnd {HC)
6 Mnhkehibut (HDPE) tunnndwlubph dhwgnud hwwn
fuwdnipughl wugnuing DNE63xDN25 2652
7 MnlhtehiEt DN25(HDPE)- dbwnwn DN20(St) Ygnpnhsh hwwn 710
dnbnwdnud denwnuwlwl wpnwpht wwpnipwyny 5TA
8 Ubunwnwlwt qunwht hwhwt pyynndwlh bbppht huwin 08
wwnnipwlyny DN20 6083
9 DN63(St) funnndwlh Gnwlgnud DN50(St) funnnduwlht inbin 1644
10 | Mnjhtehsul (HDPE) DN63 tunnnduwlubph , Jwgnud, yd
whunwhwund 92809
n Mn|hkphibul (HDPE) DN25 junnnywlubph , (Jwgnud, yd 92809

wutnwhwuntd

Uy wotuwwnwpubip

<nnwiht watuwwnwgbp




Fupwdmnnu b thnunpuwyh dowynwd V Ywpah U3
gpnibntibipnud, Ynnuwihgend g 1329 0
Fupwdninnt b thnunpwlih dowlnud IV Ywpgh u3
gpniinubpnud, Ynnuwihgpnd 0 985 0
Fupwdninn b thnunpwlh (nuidywynud dbnpnd, hwinwlh u3
hwnpbgUwdp 0 6593 0
fupwdninne L thnunpwyh Buihgp, Ynnwihgph dawlyws d3 62 0
gpntinubiphg” tinthwunuwdng Y 4
Sthuuninghwlwt woluwinwbpubp
Mt (St) kybnwlygynn unnndwlubph dntinwdnud qé.u 0 42147 0
fupwdninhttipnud DN273x5 npwbiu wwinjwl
Mnnuuwunt (St} y/bnwlgynn unnndwlubiph dntiinwdnud qd.d
fupwininhubpnud DN159x4,5 npwbu wwinjwl 0 17194 0
Mnnuuwnb (St} Ly/bnwlgdnn funnndwlubph dntitnwdnud qd.d
fupwdninhubipnud DN102x2,5 npwbu wwuywt 0 6147 0
Mnnujwunb (St) EyYEnwlgynn funnndwltbph dnbinwdnid qd.d
fupwdninhtbipnud DN89x2,2 npuwtiu wjunnywl 0 5235 0
Mnnuunt (St} Ly/bnwlgdnn unnndwlubiph dnbnwdnd qd.d
fupwdnuinhutipnud DN57x2,2 npubu wwunjuw 0 3551 0
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N «SUEL-CUUUTAP-2021/3T» quiwl wuwydwbwgnh

«

QUPULULhL 1
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fohy 4 <wdwdwjwgpny
Cunuwid phy 2

<-46, /U-2/-Swpl-Unjwuh-/U-2/(Ujniuhp) hwipwybnwlwy ywuwynyejwu

wywnnbwtwwwphh d37+500-4155+000 hwunywésh hhduwunpnqiwl wyuwwnwptitip

Uwuywywnnih Ynndhg Yunwpygtihp Uzfuunnwtipiiph unnwpdwl dwibunp
No wtuwwnwtiptbiph wnwhaht whkuwlubkph
wigwnuftbp Uyhqpp Ugwpunp
Unyb hwdwswiuwgph nidh dbg | Unyl hwiwdwjwgph nidh dhg
0 Lupnpuinnp thnpdwnlnuiibin dunbibinig hbiin dunubinig htinn 65 op
Unyu hwdwdwiiwgph nidh dbg | Unyl hwiwdwjuwgph nidh Jdhg
! Cnnuyht wofuwnwbiphbp dunubiing hbunn dunubiinig htiiin 50 op
Unyt hwdwéwjuwgnh nidh dbg | Unyt hwdwawjliwgnph nwh dbg
2 A (i dwntbng htiunn dunubnig htivin 60 op
Unyu hwdwdwiuwgnh ndh db | Unyl hwiwdwjuwagnph ndh dag
3 Mwhntap L daunphin dinbibipnig hbunn duinubnig htivn 65 op
Unyu hwdwawiuwgph ndh dbg | Unyu hwdwdwjuwgph nidh dbg
4 Sy dintibiinig hbuinn dunubntg htiinn 65 op
5 ppnn funqnulutiph dwppnuf L Unyt hwdwéwjuwgph nidh dbg | Unyu hwdwdwuwanh nwdh dbg
YEpwlwuqbinud dinubinig hbnn dunbitiinig htiwnn 50 op
6 Unyt hwdwéwiwaph nidh dbg | Unyl hwdwawjlwgph ndh dbg
Vwyptin L 6/p huiupndh dupkn dwntibjmg hbunn dinbbiinig htin 65 op
Unybt hwdwsugiwgph nidh dbe | Unyu hwidwdwjuwgnh nidh Jdbg
! Cubutyuintip dunubijnig hbiuin dunlbijnig htiwnn 45 op
Unyt hwidwdwjuwgph nidh dbg | Unyl hwiwdwjwgph ndh dbg
8 6/p [udngh Ybpwlutiginug duinubiinig hbiinn duntibinig htinn 50 op
Unyl hwdwdwjuwgph nidh dbg | Unyt hwdwawjwaph ndh dbg
9 Ubunwbignipjut kbdblnttn dintbnig htiwn duinubnig htiwin 65 op
Unytt hwdwawjtiwgph nidh Unyti hwdwdwjtiwgph nudh dkg
BSOS T AT dbkg duntitijnig htiwnn dinlib)nig hliinn 65 op
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